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2022 gmbmVrb E‘nrEggr narjmVrb ŷJmob KQ>H$mdarb àíZg§J«h

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

(2) ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob
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(2)  ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ̂ m¡{VH$ ̂ yJmob (3)
2) OJmMm gm‘m{OH$ ̂ yJmob (1)
3) OJmMm Am{W©H$ ̂ yJmob (1)
4) ^maVmMm ̂ m¡{VH$ ̂ yJmob (2)
5) ^maVmMm gm‘m{OH$ ̂ yJmob (1)
6) ^maVmMm Am{W©H$ ̂ yJmob (2)
7) ‘hmamḯ>mMm ̂ m¡{VH$ ̂ yJmob (2)
8) ‘hmamḯ>mMm gm‘m{OH$ ̂ yJmob (1)
9) ‘hmamḯ>mMm Am{W©H$ ̂ yJmob (2)

1) gỳ ©‘mbm Am{U n¥Ïdr, Ajm§e Am{U aoIm§e - à‘mU Am{U ñWm{ZH$ doi
2) ŷH§$n Am{U Ádmbm‘wIr, IS>H$, OmJ{VH$ {d^mJ - ̂ m¡Jmo{bH$ d¡{eï²> ò, nd©V, ZÚm Am{U àH$ën
3) hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
4) OmJ{VH$ bmoH$g§»`m, ̂ mfm, d§e, ̂ m¡Jmo{bH$ amOH$maU, OmJ{VH$ ñWmZo Am{U gr‘m
5) OmJ{VH$ I{ZOo Am{U D$Om© g§gmYZo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, dZrH$aU Am{U n`m©daU, H¥$fr

6) ^maVr` CnI§S>mVrb CËH«$m§Vr Am{U ̂ yê$nemó
7) ^maVmVrb à‘wI ̂ m¡{VH$ àXoe - {h‘mb`, nd©V, nR>ma, dmid§Q> joÌ, {H$Zmar ̂ mJ, ~oQ>o. ZÚm Am{U àH$ën,  hdm‘mZ

d nO©Ý¶‘mZ
8) ^maVmVrb bmoH$g§»`m, ̂ mfm, O‘mVr Am{U d§e. amOH$s` ̂ yJmob - ñWmZo Am{U gr‘m, ̂ m¡Jmo{bH$ amOH$maU
9) ^maV : H¥$fr, dZñnVr, I{ZOo Am{U D$Om© g§gmYZo
10) ^maV : CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma

11) _hmamï´>mMm àmH¥${VH$ ŷJmoc - IS>H$, ^m¡Jmo{bH$ CËH«$m§Vr d d¡{eï²> ò. _hmamï´>mMo _w»` aMZmË_H$ {d^mJ, nd©V Am{U
S>m|Ja - gømÐr Am{U Ë`mÀ`m am§Jm, Q>oH$S>çm, {eIao, KmQ>, nR>ma, H$moH$U {H$ZmanÅ>r, ~oQ>o. ‘hmamï´>mVrb ZÚm - YaUo
Am{U qgMZ àH$ën

12) ‘hmamï´>mVrb Z¡g{J©H$ g§nÎmr - dZo Am{U dZñnVr, n`m©daU. _hmamï´>mMo hdm‘mZ Am{U nO©Ý`mVrc {d^mJdma ~Xc
13) _mZdr ̂ yJmoc - cmoH$g§»`m, g‘wXm¶, O‘mVr Am{U d§e. bmoH$g§»`m ñWbm§Va - ñWbm§VamMm òmoV d J§Vì¶ñWmZmdarb

n[aUm_ . gm_m{OH$ ̂ yJmoc - J«m_rU dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d Ë`m§Mo àíZ, g§V JmS>Jo~m~m J«m_ ñdÀN>Vm A{^`mZ.
amOH$s` {d^mJ, àemgH$s` {d^mJ - ̂ mfm, ñWmZo Am{U gr‘m

14) ‘hmamï´> : H¥$fr, dZñnVr. ‘hmamï´>mVrb O{‘ZrMo àH$ma d à‘wI nrHo$
15) ‘hmamï´> : CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma. ‘hmamï´>mVrb I{ZOo Am{U D$Om© g§gmYZo

1) OJmMm ^m¡{VH$ ŷJmob (3/5)

16) gỳ ©‘mbm Am{U n¥Ïdr
Ajm§e Am{U aoIm§e - à‘mU Am{U ñWm{ZH$ doi

17) ŷH§$n Am{U Ádmbm‘wIr, IS>H$
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OmJ{VH$ {d^mJ - ^m¡Jmo{bH$ d¡{eï²> ò, nd©V, ZÚm Am{U àH$ën
18) hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh

2) OJmMm gm‘m{OH$ ŷJmob (1)

19) OmJ{VH$ bmoH$g§»`m, ^mfm, d§e, ^m¡Jmo{bH$ amOH$maU, OmJ{VH$ ñWmZo Am{U gr‘m

3) OJmMm Am{W©H$ ŷJmob (1)

20) OmJ{VH$ I{ZOo Am{U D$Om© g§gmYZo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, dZrH$aU Am{U n`m©daU, H¥$fr

4) ^maVmMm ^m¡{VH$ ŷJmob (2)

21) ^maVr` CnI§S>mVrb CËH«$m§Vr Am{U ŷê$nemó
22) à‘wI ^m¡{VH$ àXoe - {h‘mb`, nd©V, nR>ma, dmid§Q> joÌ, {H$Zmar ^mJ, ~oQ>o

^maVmVrb ZÚm Am{U àH$ën
^maVmVrb hdm‘mZ d nO©Ý¶‘mZ

5) ^maVmMm gm‘m{OH$ ŷJmob (1)

23) bmoH$g§»`m, ^mfm, O‘mVr Am{U d§e
amOH$s` ŷJmob - ñWmZo Am{U gr‘m, ^m¡Jmo{bH$ amOH$maU

6) ^maVmMm Am{W©H$ ŷJmob (2)

24) ^maV : H¥$fr, dZñnVr, I{ZOo Am{U D$Om© g§gmYZo
25) ^maV : CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma

7) ‘hmamḯ>mMm ^m¡{VH$ ŷJmob (2)

26) ‘hmamï´>mVrb nd©V Am{U S>m|Ja - gømÐr Am{U Ë`mÀ`m am§Jm, Q>oH$S>çm, {eIao, KmQ>
_hmamï´>mMm àmH¥${VH$ ŷJmoc - IS>H$, ^m¡Jmo{bH$ CËH«$m§Vr d d¡{eï²> ò
_hmamï´>mMo _w»` aMZmË_H$ {d^mJ - gømÐr, nR>ma, H$moH$U {H$ZmanÅ>r, ~oQ>o
‘hmamï´>mVrb ZÚm - YaUo Am{U qgMZ àH$ën

27) ‘hmamï´>mVrb Z¡g{J©H$ g§nÎmr - dZo Am{U dZñnVr, n`m©daU
_hmamï´>mMo hdm‘mZ Am{U nO©Ý`mVrc {d^mJdma ~Xc

8) ‘hmamḯ>mMm gm‘m{OH$ ŷJmob (1)

28) _mZdr ŷJmoc - cmoH$g§»`m, g‘wXm¶, O‘mVr Am{U d§e
bmoH$g§»`m ñWbm§Va - ñWbm§VamMm òmoV d J§Vì¶ñWmZmdarb n[aUm_
gm_m{OH$ ŷJmoc - J«m_rU dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d Ë`m§Mo àíZ, g§V JmS>Jo~m~m J«m_ ñdÀN>Vm A{^`mZ
amOH$s` {d^mJ, àemgH$s` {d^mJ - ^mfm, ñWmZo Am{U gr‘m

9) ‘hmamḯ>mMm Am{W©H$ ŷJmob (2)

29) ‘hmamï´> : H¥$fr, dZñnVr
‘hmamï´>mVrb O{‘ZrMo àH$ma d à‘wI nrHo$

30) ‘hmamï´> : CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma
‘hmamï´>mVrb I{ZOo Am{U D$Om© g§gmYZo
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ŷJmobmda àíZ AgUmè¶m ‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm

ŷJmob àíZg§J«h
1) amÁ¶godm nyd©narjm -1, OmZodmar 2022
2) JQ> -~  g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
3) {d^mJr¶ EEgAmo narjm, ‘mM© 2022
4) JQ> -H$  g§¶wº$ nyd©narjm, E{àb 2022
5) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
6) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm,  E{àb 2022
7) amÁ¶godm gm_mÝ¶ AÜ¶¶Z nona -1,  ‘o 2022
8) amÁ¶godm gm_mÝ¶ AÜ¶¶Z nona -2,  ‘o 2022
9) amÁ¶godm gm_mÝ¶ AÜ¶¶Z nona -3,  ‘o 2022
10) amÁ¶godm gm_mÝ¶ AÜ¶¶Z nona -4,  ‘o 2022
11) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
12) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
13) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
14) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
15) {b{nH$ Q>§H$boIH  ‘w»¶ narjm, Am°JñQ> 2022
16) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
17) amÁ¶godm nyd© narjm, Am°JñQ> 2022
18) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
19) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
20) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
21) CÚmoJ {ZarjH$ ‘w»¶ narjm,  gßQ>|~a 2022
22) nmobrg Cn{ZarjH$  (‘w»¶) narjm, gßQ>|~a 2022
23) dZgodm ‘w»¶ narjm nona (2), Am°³Q>mo~a 2022
24) JQ> -~  g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
25) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
26) ghm¶H$ H$j A{YH$mar  ‘w»¶ narjm, Am°³Q>mo~a 2022
27) JQ>-H$  godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
28) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
29) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
30) {d^mJr¶ EEgAmo narjm, {S>g|~a 2022
31) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, 2022
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‘hmamḯ> bmoH$godm Am¶moJmÀ¶m narjm
1) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
2) amÁ¶godm nyd©narjm nona -1, OmZodmar 2022
3) JQ> -~  g§¶wº$ nyd©narjm, ’o$~«wdmar 2022
4) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
5) {d^mJr¶ EEgAmo narjm nona -1, ‘mM© 2022
6) Oo‘E’$gr d {XdmUr Ý¶m¶mYre H${Zð> ñVa nyd© narjm , ‘mM©  2022
7) JQ> -H$  g§¶wº$ nyd©narjm, E{àb 2022
8) ImË¶m§VJ©V nmocrg Cn{ZarjH$ nyd©narjm, E{àb 2022
9) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd© narjm,  E{àb 2022
10) amÁ¶godm gm_mÝ` AÜ``Z nona -1,  ‘o 2022
11) amÁ¶godm gm_mÝ` AÜ``Z nona -2,  ‘o 2022
12) amÁ¶godm gm_mÝ` AÜ``Z nona -3,  ‘o 2022
13) amÁ¶godm gm_mÝ` AÜ``Z nona -4,  ‘o 2022
14) JQ>-~, ‘w»¶ narjm nona -1, Owb¡ 2022
15) Oo‘E’$gr ‘w»¶ narjm nona-1, Owb¡  2022
16) Oo‘E’$gr ‘w»¶ narjm nona-2, Owb¡  2022
17) nmobrg Cn{ZarjH$ ‘w»¶ narjm, Owb¡ 2022
18) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Owb¡ 2022
19) ImË¶m§VJ©V nmocrg Cn{ZarjH$  ‘w»¶ narjm, Owb¡ 2022
20) ghm¶H$ H$j A{YH$mar ‘w»¶ narjm, Owb¡ 2022
21) JQ>-H$, ‘w»¶ narjm nona -1, Am°JñQ> 2022
22) ghm¶H$ gaH$mar A{^¶moº$m narjm  nona -1, gßQ>|~a 2022
23) ghm¶H$ gaH$mar A{^¶moº$m narjm  nona -2, gßQ>|~a 2022
24) {b{nH$ Q>§H$boIH  ‘w»¶ narjm, Am°JñQ> 2022
25) Xþæ¶‘ {ZarjH$ ‘w»¶ narjm,Am°JñQ> 2022
26) amÁ¶godm nyd©narjm nona -1, Am°JñQ> 2022
27) amÁ¶godm nyd©narjm nona -2, Am°JñQ> 2022
28) H$a ghm¶H$ ‘w»¶ narjm, Am°JñQ> 2022
29) Vm§{ÌH$ ghm¶H$ ‘w»¶ narjm, gßQ>|~a 2022
30) JQ>-~ ‘w»¶ narjm nona-1 , gßQ>|~a 2022
31) CÚmoJ {ZarjH$ ‘w»¶ narjm,  gßQ>|~a 2022
32) nmobrg Cn{ZarjH$  (‘w»¶) narjm, gßQ>|~a 2022
33) H¥$fr godm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
34) H¥$fr godm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
35) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm  nona -1, Am°³Q>mo~a 2022
36) ¶m§{ÌH$s A{^¶m§{ÌH$s ‘w»¶ narjm  nona -2, Am°³Q>mo~a 2022
37) dZgodm ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
38) dZgodm ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
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39) JQ> -~  g§¶wº$ nyd©narjm, Am°³Q>mo~a 2022
40) amÁ¶ H$a {ZarjH$ ‘w»¶ narjm, Am°³Q>mo~a 2022
41) ghm¶H$ H$j A{YH$mar  ‘w»¶ narjm , Am°³Q>mo~a 2022
42) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
43) {dÚwV A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
44) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -1, Am°³Q>mo~a 2022
45) ñWmnË¶ A{^¶m§{ÌH$s ‘w»¶ narjm nona -2, Am°³Q>mo~a 2022
46) JQ>-H$  godm g§¶wº$ nyd©narjm, Zmoìho§~a 2022
47) A{gñQ>§Q>  Q>mD$Z ßb°Za  narjm, Zmoìh|~a 2022
48) AZwdmXH$ (‘amR>r) MmiUr narjm, [S>g|~a, 2022
49) d[að> g§emoYZ A{YH$mar narjm, {S>g|~a, 2022
50) àemgH$s¶ A{YH$mar narjm, {S>g|~a 2022
51) {d^mJr¶ EEgAmo narjm nona -1, {S>g|~a 2022
52) {d^mJr¶ EEgAmo narjm nona -2, {S>g|~a 2022
53) ‘hmamï´> amÁ¶ Vm§{ÌH$ nyd©narjm, 2022
54) ñQ>oZmo ‘amR>r narjm, 2022
55) ñQ>oZmo B§J«Or narjm, 2022
56) newd¡ÚH$s¶ A{YH$mar narjm, 2022
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‘hmamîQ́> bmoH$godm Am¶moJ narjm 2023
1) ^maVmMm B{Vhmg Am{U ̂ maVr` amï´>r` Midi (15)
2) ‘hmamï´>, ̂ maV Am{U OmJ{VH$ ̂ yJmob (15)
3) ^maVr` amÁ¶ì¶dñWm Am{U emgZ (15)
4) Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
6) gm‘mÝ` {dkmZ (15)
7) Mmby  KS>m‘moS>r -  amï´>r` Am{U Am§Vaamï´>r` ‘hÎd (15)
8) Vm{H©$H$  Am{U {dl²bofUmË‘H$ j‘Vm (10)
9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$, g§dmX H$m¡eë` d Am§Vaì¶º$s H$m¡eë`  (5)
12) AmH$bZ, ‘amR>r Am{U B§J«Or ̂ mfm AmH$bZ H$m¡eë ò (50)
13) ‘m{hVr A{YH$ma A{Y{Z¶‘ (5)
14) ‘hmamîQ´> bmoH$godm h¸$  (5)
15) ‘m{hVr d g§àofU V§ÌkmZ  (10)

(1)  ^maVmMm B{Vhmg Am{U ^maVr` amḯ>r` Midi (15)
1) àmMrZ ^maVmMm B{Vhmg (4)
2) ‘Ü¶¶wJrZ  ^maVmMm B{Vhmg (3)
3) AmYw{ZH$ ^maVmMm B{Vhmg (4)
4) ^maVr` amï´>r` Midi (4)

(2)  ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob (15)
1) OJmMm ̂ m¡{VH$ ̂ yJmob (3)
2) OJmMm gm‘m{OH$ ̂ yJmob (1)
3) OJmMm Am{W©H$ ̂ yJmob (1)
4) ^maVmMm ̂ m¡{VH$ ̂ yJmob (2)
5) ^maVmMm gm‘m{OH$ ̂ yJmob (1)
6) ^maVmMm Am{W©H$ ̂ yJmob (2)
7) ‘hmamḯ>mMm ̂ m¡{VH$ ̂ yJmob (2)
8) ‘hmamḯ>mMm gm‘m{OH$ ̂ yJmob (1)
9) ‘hmamḯ>mMm Am{W©H$ ̂ yJmob (2)

(3)  ‘hmamḯ> Am{U ^maV - ^maVr` amOH$maU Am{U emgZ (15)
1) g§{dYmZ - ^maVmÀ¶m amÁ¶KQ>ZoMm àmW{‘H$ Aä¶mg (3)
2) amOH$s` ì`dñWm (3)
3) n§Mm`Vr amO Am{U ehar emgZ (3)
4) gmd©O{ZH$ YmoaU (3)



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ̂ yJmob / 8

For Private Circulation Only

5) ‘mZdr h¸$ g‘ñ`m (3)
* ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005
* ‘hmamîQ´> bmoH$godm h¸$, 2015

(4)  Am{W©H$ Am{U gm‘m{OH$ {dH$mg (15)
1) eml²dV {dH$mg (2)
2) J[a~r (2)
3) g‘mdoe (2)
4) bmoH$g§»`memó (2)
5) gm‘m{OH$ joÌmVrb CnH«$‘ (2)
6) ^maVr` AW©ì`dñWm - gmd©O{ZH$ {dÎm (1)
7) {dXoer ì`mnma (1)
8) ~±qH$J, ‘hmJmB© (1)
9) CÚmoJ (1)
10) eoVr (1)

(5) n[apñW{VH$s, O¡d-{d{dYVm Am{U hdm‘mZ ~Xb (10)
1) n[apñW{VH$s (2)
2) O¡d{d{dYVm (2)
3) hdm‘mZ ~Xb (2)

(6)  gm‘mÝ` {dkmZ (15)
1) ^m¡{VH$emó (3)
2) agm¶Zemó  (3)
3) àm{Uemó  (2)
4) dZñn{Vemó  (2)
5) H¥$fr / eoVrg§b¾ {dkmZ (2)
6) Amamo½¶emó  (5)
7) {dkmZ Am{U V§ÌkmZ (2)
* ‘m{hVr d g§àofU V§ÌkmZ

(7)  Mmby KS>m‘moS>r, amḯ>r` Am{U Am§Vaamḯ>r` ‘hÎd (15)
1) amOH$s¶ KQ>Zm  (2)
2) Am{W©H$ d {dÎmr¶ KQ>Zm (2)
3) d¡km{ZH$ KQ>Zm (2)
4) gm‘m{OH$ d e¡j{UH$ KQ>Zm (2)
5) ^m¡Jmo{bH$, gm§ñH¥${VH$ d gm{hpË¶H$ KQ>Zm (3)
6) Zo‘UwH$m d nwañH$ma$ KQ>Zm (2)
7) gm‘mÝ¶kmZ d H«$sS>m{df¶H$ KQ>Zm (2)
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(8) Vm{H©$H$ VH©$ Am{U {dûcofUmË‘H$ j‘Vm (10)
1) {Xboë¶m dmŠ`aMZodéZ {ZU©̀ , {ZîH$f© H$mT>Uo
2) {dYmZo Am{U ẁ{º$dmX, {dYmZo Am{U J¥{hVHo$, {dYmZo Am{U {ZîH$f©
3) n[apñWVr Am{U à{VgmX, n[aÀN>oXm§déZ {ZîH$f© H$mT>Uo
4) {dYmZ Am{U H¥$VrMm ‘mJ©, à{VnmXZ Am{U H$maU, {dYmZmÀ`m gË`VoMr nS>VmiUr
5) ~¡R>H$, H«$‘ d ‘m§S>Ur ì`dñWm, ‘mZm§H$Z MmMUr, VwbZm
6) ZmVog§~§Y
7) ‘erZ BZnwQ> Am{U {MÝho, J{UVr` VH©$
8) ñWmZ {ZpíMVr MmMUr, {Xem{ZX}e
9) {dl²bofU, {ZU©̀  KoUo, g‘ñ`m gmoS>dUo
10) Hy$Q> ‘m{hVrdarb àíZ

(9) gm‘mÝ` ‘mZ{gH$ j‘Vm (7)
1) H«$‘ Am{U ‘m{bH$m 1
2) H«$‘ Am{U ‘m{bH$m 2
3) gm§Ho${VH$ ^mfm/ H$moqS>J-{S>H$moqS>J
4) gmå¶, VwbZm, dJuH$aU
5) J{UVr` / A§H$J{UVr` {H«$`m
6) AmH¥$Ë`m§da àl²Z 1
7) AmH¥$Ë`m§da àl²Z 2

(10) ‘yb ŷV g§»`mË‘H$ j‘Vm (8)
1) A§H$J{UVr¶  H$m¡eë¶ - Xem§e AnyUmªH$,  ~oarO, dOm~mH$s, JwUmH$ma, ^mJmH$ma Am{U gabrH$aU

g§»`màUmbr - bgm{d, ‘gm{d, KmVm§H$, dJ©‘yi Am{U KZ‘yi
2) Q> o̧$dmar, ^mJrXmar Am{U Jw§VdUyH$, JwUmoÎma Am{U à‘mU, gmIir {Z`‘
3) doi Am{U A§Va, aoëdoJmS>çm, ~moQ> Am{U Obàdmh
4) {dH«$s Am{U IaoXr, gdbV, Z’$m Am{U VmoQ>m, gai ì`mO Am{U MH«$dmT> ì`mO
5) doi Am{U H$m‘, nmB©n>, KS>çmi, H°$b|S>a, d¶mdarb  àíZ
6) g§̂ mì`Vm, H«$‘M¶, gamgar
7) ŷ{‘Vr - joÌ’$i, KZ’$i> Am{U n[a{‘Vr
8) AmboI, Vºo$, S>oQ>m g{’${gEÝgr

(11) {ZU©¶j‘Vm Am{U g‘ñ`m gmoS>dUyH$,  g§dmX H$m¡eë`- Am§Vaì¶º$s H$m¡eë` (5)
1) n[apñWVr hmVmiUo
2) àemgH$s` j‘Vm
3) gm‘m{OH$ Ym{‘©H$ g‘ñ`m
4) «̂ï>mMma, gMmoQ>r, Z¡{VH$Vm
5) ì`dñWmnH$s` H$m¡eë ò
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(12) CVmao,  ‘amR>r Am{U B§J«Or ^mfm AmH$bZ H$m¡eë`(40)
1) Eo{Vhm{gH$ KQ>Zm
2) gmYZg§nÎmr d n¶m©daUr¶ ~m~r
3) amOH$s¶ joÌ
4) Am{W©H$ d gm‘m{OH$ {dH$mg
5) {dkmZ d V§ÌkmZ joÌ
6) H$bm, g{hË¶ d gm§ñH¥${VH$ joÌ
7) ‘amR>r ^mfm AmH$bZ H$m¡eë`
8) B§J«Or ^mfm AmH$bZ H$m¡eë`

(13) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(14) ‘hmamîQ́> bmoH$godm h¸$, 2015 (5)
1) H$m¶ÚmMr CËH«$m§Vr, gwYmaUm d BVa ~m~r
2) H$m¶ÚmVrb ‘hÎdmMr H$b‘o
3) H$m¶Úmer g§~§{YV ¶§ÌUm d A{YH$mar
4) H$m¶ÚmZwgmaMr H$madmB© d {ejoMr VaVyX
5) H$m¶ÚmVrb ÌwQ>r d XþéñË¶m, Anrb

(15) ‘m{hVr d g§àofU V§ÌkmZ (10)
1) g§JUH$ V§ÌkmZ - AmYw{ZH$ g‘mOmVrc g§JUH$mMr ŷ{‘H$m, doJdoJù¶m joÌmVrc OrdZmV g§JUH$mMm dmna
2) H$å¶w{ZHo$eZ V§ÌkmZ - S>mQ>m H$å¶w{ZHo$eZ, ZoQ>d{Hª$J Am{U do~ Q>o³Zm°cm°Or
3) gm¶~a JwÝho d Ë¶mg à{V~§Y
4) emgZmMo Am¶Q>r H$m¶©H«$‘ - {‘S>r¶m c°~ E{e¶m, {dÚm dm{hZr, kmZ dm{hZr, gm‘y{hH$ ‘m{hVr H|$Ð BË¶mXr
5) ‘m{hVr V§ÌkmZ CÚmoJ - ‘m{hVr V§ÌkmZ CÚmoJmVrc ‘yc ŷV àíZ d Ë¶mMo ^{dVì¶, ZdrZ CÚmoJ åhUyZ ‘m{hVr

V§ÌkmZmMm {Za{Zamù¶m godm gw{dYm§Mr ‘m{hVr {‘iÊ¶mgmR>r hmoUmam Cn¶moJ, ̂ maVmVrc ‘m{hVr V§ÌkmZ CÚmoJmMr dmT>
d Ë¶mMm XOm©.
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‘hmamḯ> ZmJar godm amOn{ÌV nyd© narjm 2023

 ‘hmamḯ> AamOn{ÌV godm (JQ> ~ d JQ> H$) nyd© narjm 2023

‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)2023
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‘hmamḯ> AamOn{ÌV godm ‘w»¶ narjm (JQ> ~)/(JQ> H$)  2023

nona H«$‘m§H$ - 1 : ‘amR>r d B§J«Or

1) ‘amR>r ^mfm (50)

(1) gd©gm_mÝ` eãXg§J«h /15
(2) dmŠ`aMZm/13
(3) ì`mH$aU/12
(4)  åhUr d  dmH²$àMma (AW© d Cn`moJ)/5
(5) CVmè`mdarc àíZmoÎmao/5

(2) B§J«Or ^mfm /50
(6) CommonVocabualry / 10

(7) SentenceStructure / 20

(8) Grammar /10

(9) Use of Idioms and Phrases / 5

(10) Comprehension / 5

nona H«$‘m§H$ - 2 : gm‘mÝ¶ AÜ¶¶Z d ~wpÜX‘mnZ MmMUr
1) _hmamï´>mMm ̂ yJmoc  /10
2) n¶m©daU /5
3) ^maVr¶ amÁ¶KQ>Zm/10
4) ‘m{hVr A{YH$ma A{Y{Z¶‘, 2005  /5
5) ‘hmamîQ´> bmoH$godm h¸$, 2015 /5
6) g‘J«bú¶r AW©emó /5
7) ^maVr¶ AW©ì¶dñWm/10
8) gm‘mÝ¶ {dkmZ  d V§ÌkmZ /10
9)$ ‘m{hVr d g§àofU V§ÌkmZ /5
10) Mmcy KS>m‘moS>r - OmJ{VH$ VgoM  ‘hmamï´>mgh ̂ maVmVrc /15
11) gm‘mÝ¶ ~w{Õ‘mnZ d AmH$bZ /10
12) A§H$J{UV Am{U gm§p»¶H$s /10
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{XdmUr Ý¶m¶mYre H${Zð> ñVa d Ý¶m¶X§S>m{YH$mar àW‘ dJ© narjm -2023

Civil judge (Junior Div) & Judicial Magistrate (1st Class)

Preliminary Examination

* Standard : Suitable to the post

* Maximum Marks : 100

* Medium : English

* Duration : Two Hours

* Nature of the paper : Objective type ( multiple choice question)

nyd©narjoMm Aä¶mgH«$‘
1) H$moS> Am°’$ {H«${‘Zc àmo{gOa
2) {gpìhc àmo{gOa H$moS>
3) EpìhS>Ýg A°³Q>
4) Q´>mÝg’$a Am°’$ àm°nQ>u A°³Q>
5) ñno{g{’$H$ [a{c’$ A°³Q>
6) ‘hmamï´> a|Q> H§$Q´>moc A°³Q>
7) {c{‘Q>oeZ A°³Q>
8) H$m°pÝñQ>Q>çweZ Am°’$ B§{S>¶m
9) B§{S>¶Z {nZc H$moS>
10) cm° Am°’$ H$m°ÝQ´>°³Q>, goc Am°’$ JwS²>g A°³Q> A°ÝS> nmQ>©Za{en A°³Q>

* Syllabus for Competitive Examination to the post of recruitment for  Civil judge ( junior

Division ) & Judicial Magistrate ( First Class) ( Preliminary) Examination under judi-

cial Service of the Government of Maharashtra .

1) Code of Criminal Procedure

2) Civil Procedure Code

3) Evidence Act

4) Transfer of property Act

5) Specific Relief Act

6) Maharashtra Rent Control Act

7) Limitation Act

8) Constitution of India

9) Indian penal Code

10) Law of Contracts, Sale of Goods Act & Partnership
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(1) gỳ ©‘mbm Am{U n¥Ïdr, Ajm§e- aoIm§e - à‘mU Am{U ñWm{ZH$ doi

1) gỳ ©‘mbm Am{U n¥Ïdr
2) Ajm§e Am{U aoIm§e
3) à‘mU Am{U ñWm{ZH$ doi

1) gỳ ©‘mbm Am{U n¥Ïdr

1) gy¶©‘mboVrb ...... J«h gy¶m©nmgyZ ...... {H$.‘r. A§Vamda AgyZ gy¶m©̂ modVr EH$ n[a «̂‘U H$aÊ¶mg Ë¶mbm 88 {Xdg
bmJVmV?
1) ewH«$ 8.8 H$moQ>r 2) ~wY, 5.8 H$moQ>r 3) ‘§Ji, 2.8 H$moQ>r 4) e{Z, 5.2 H$moQ>r

1) ...... planet in solar system found ...... k.m. from sun and takes 88 days to complete one rotation

around sun.

1) Venus, 8.8 crore 2) mercury, 5.8 crore  3) Mars, 2.8 crore 4) Saturn, 5.2 crore

2) n¥ÏdrMr gamgar KZVm {H$Vr J«°‘/g|‘r3 Amho ?
1) 5.5 2) 4.5 3) 3.5 4) 2.8

2) What is the average density of the Earth in gm/cm ?

1)  5.5 2)  4.5 3)  3.5 4) 2.8

3) n¥Ïdrdarb I§S>o d ‘hmgmJa {Z{‘©Vr{df¶r ŷI§S>dhZ {gÕm§V H$moUr ‘m§S>bm ?
1) Mmb©g² S>m{d©Z 2) H$mb© [aQ>a 3) Aë’«o$S> doJZa 4) Aë’«o$S> do~a

3) Who put forward the continental drift theory of origin of continents and oceans on the Earth

surface ?

1)  Charles Darwin 2)  Karl Ritter 3)  Alfred Wegener 4) Alfred Weber

4) OmoS>çm Owidm …
ñV§̂ -I    ñV§̂ -II

a) go{’$S> {gÕm§V (i) b°ßbog
b) {dÚwV Mw§~H$s¶ {gÕm§V (ii) S>m°. ~°ZOu
c) VoOmo‘oK {gÕm§V (iii) Amë’$ìhoZ
d) OmoS>Vmam {gÕAm§V (iv) brQ²>bQ>Z
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1>) (ii) (iii) (i) (iv)

2>) (iii) (iv) (ii) (i)

3) (iv) (ii) (iii) (i)

4>) (i) (iv) (ii) (iii)

4) Match the following :

Column I Column I

a) Cepheid Theory (i) Laplace

b) Electromagnetic Theory Gi) Dr. Banerji

c) Nebular Theory (iii) Alfven

d) Binary Theory (iv) Lyttleton
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Answer options :

(a) (b) (c) (d)

1) (ii) (iii) (i) (iv)

2) (iii) (iv) (ii) (i)

3) (iv) (ii) (iii) (i)

4) (i) (iv) (ii) (iii)

5) A§Jmam ŷ‘r Am{U Jm|S>dmZm ŷ‘r ¶m§À¶m Xaå¶mZ H$moUVm g‘wÐ hmoVm ?
1) n°{g{’$H$ g‘wÐ 2) bmb g‘wÐ 3) A°Q>bm§{Q>H$ g‘wÐ 4) Q>o{Wg g‘wÐ

5) Which ocean was located between Angara and Gondawana land ?

1) Pacific ocean 2) Red sea 3) Atlantic ocean 4) Tethys sea

6) Imbrb Z‘yX n¥ÏdrÀ¶m ŷemór¶ H$mbI§S>mVrb H$mimMm gdm©V OwZm Vo gdm©V ZdrZ Agm H«$‘ bmdm.
a) Q´>m¶m{gH$ H$ën b) H$m~©Zr’o$ag H$ën c) H±${~«AZ H$ën
d) ¹$mQ>Z©ar H$ën e) n{‘©AZ H$ën
n¶m©¶r CÎmao …
1) (b), (a), (c), (d), (e) 2) (b), (c), (a), (e), (d)

3) (d), (a), (b), (e), (c) 4) (c), (b), (e), (a), (d)

6) Arrange the following Geological periods of the earth from the oldest to the newest one.

a) Triassic Period b) Carboniferous Period    c) Cambrain Period

d) Quaternary Period e) Permian Period

Answer Options :

1) (b), (a), (c), (d), (e) 2) (b), (c), (a), (e), (d)

3) (d), (a), (b), (e), (c) 4) (c), (b), (e), (a), (d)

2) Ajm§e Am{U aoIm§e

1) ‘w§~B© eha H$moUË¶m Ajd¥ÎmmdaVr Am{U aoImd¥ÎmmdaVr dgcoco Amho?
1) 160 CÎma d 700 nyd© 2) 170 CÎma d 710 nyd©
3) 180 CÎma d 720 nyd© 4) 190 CÎma d 730 nyd©

1) On which latitude and longitude is the city of Mumbai located?

1) 160 North and 700 East 2) 170 North and 710 East

3) 180 North and 720 East 4) 190 North and 730 East

2) Aíd Ajm§emMm OmñV Xm~mMm em§V nÅ>m .............. Ajm§emÀ¶m nQ²>Q>çmV ¶oVmo.
1) 250 Vo 350 CÎma Am{U X{jU 2) 00 Vo 50 CÎma Am{U X{jU
3) 50 Vo 150 CÎma Am{U X{jU 4) 150 Vo 250 CÎma Am{U X{jU

2) Horse latitude high pressure calm belt is found in       latitude.

1)  25° to 35° North and South 2)  0° to 5° North and South

3)  5° to 15° North and South 4)  15° to 25° North and South
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3) ^maVmVrb gdm©V ‘moR>m {Xdg d gdm©V bhmZ {Xdg ¶mVrb ’$aH$ …
A) X{jU ^mJmVrb H$Ý¶mHw$‘mar Odi gw‘mao 45 {‘{ZQ>m§Mm.
~) CÎma ^maVmVrb boh bS>mI Odi 4 Vmgm§Mm Amho.
AemàH$mao doioV ’$aH$ AgÊ¶mMo H$maU H$m¶ Amho ?
1) H$Ý¶mHw$‘mar {dfwdd¥Îmm Odi Va boh {dfwdd¥ÎmmnmgyZ Xÿa pñWa Amho.
2) H$Ý¶mHw$‘marMo ñWmZ CîU H${Q>~§YmV Va bohMo ñWmZ g‘{eVmoîU H${Q>~§YmV Amho.
3) ^maVmÀ¶m X{jUoH$S>rb ^mJmV {XZ‘mZ d amÌr‘mZmÀ¶m H$mbmdYrVrb ’$aH$ H$‘r AgVmo Va CÎmaoH$S>rb ^mJmV

Vmo OmñV hmoV OmVmo.
4) n¥ÏdrÀ¶m AmgmZo n¥ÏdrÀ¶m H$joÀ¶m nmVirer 660 30' Mm H$moZ Ho$bm Agë¶m‘wio {XZ‘mZmMm Am{U amÌr‘mZmMm

H$mbmdYr {dfwdd¥ÎmmH$Sy>Z Y«wdmH$S>o dmT>V OmVmo.
3) The periodical difference between the shortest day and the longest day in India is given below :

a) In south near Kanyakumari it is about 45 minutes.

b) In north near Leh in Ladakh it is about 4 hours.

Why does this time difference take place?

1) Kanyakumari is situated near the equator and Leh is far away from the equator.

2) Location of Kanyakumari is in the tropical hemisphere while Leh is located in the temperate

hemisphere.

3) The periodical difference between the day time and night time is minimum in South India while

it goes on increasing towards North India.

4) The axis of the Earth is inclined to the plane of the ecliptic at an angle of 660 30' giving rise to

increasing length of day and night from the equator to the poles.

3) à‘mU Am{U ñWm{ZH$ doi

1) Imbrb {dYmZm§Mo narjU H$am Am{U ¶mo½¶ n¶m©¶ {ZdS>m …
{dYmZ (A) : n¥ÏdrÀ¶m n[adbZm‘wio àË¶oH$ aoImd¥Îmmda ñWm{ZH$ doi {^Þ-{^Þ AgVo.
{dYmZ (B) : ñWm{ZH$ doioVrb {dg§JVr Xÿa H$aÊ¶mgmR>r à‘mUdoi nÕVrMm dmna Ho$bm OmVmo.
n¶m©¶r CÎmao …
1) {dYmZ (A) Am{U (B) XmoÝhr ~amo~a AmhoV.
2) {dYmZ (A) ~amo~a AgyZ {dYmZ (B) MyH$ Amho.
3) {dYmZ (A) MyH$ AgyZ {dYmZ (B) ~amo~a Amho.
4) {dYmZ (A) Am{U (B) XmoÝhr MyH$ AmhoV.

1) Examine the following statements and select the proper options :

Statement (A): Every longitude has a different local time due to the rotation of the Earth.

Statement (B): Standard time system is utilized to remove the difference in the local time.

Answer Options:

1) Statements (A) and (B) both are correct

2) Statement (A) is correct but statement (B) is wrong

3) Statement (A) is wrong but statement (B) is correct

4) Statements (A) and (B) both are wrong
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2) g§¶wº$ g§ñWmZo ¶m XoemMm nyd©-npíM‘ {dñVma A{YH$ Agë¶m‘wio ¶oWo doioMo H$moUVo Mma nÅ>o AmhoV ?
1) B©ñQ>Z© PmoZ, g|Q´>b PmoZ, {‘S>b PmoZ d doñQ>Z© PmoZ
2) B©ñQ>Z© PmoZ, {‘S>b PmoZ, g|Q´>b PmoZ d n°{g{’$H$ PmoZ
3) B©ñQ>Z© PmoZ, g|Q́>b PmoZ, ‘mD§$Q>Z PmoZ d n°{g{’$H$ PmoZ
4) B©ñQ>Z© PmoZ, {‘S>b PmoZ, ‘mD§$Q>Z PmoZ d n°{g{’$H$ PmoZ

2) Due to east-west expansion of United States, the country is divided into which four time zones?

1) Eastern zone, Central zone, Middle zone and Western zone.

2) Eastern zone, Middle zone, Central zone and Pacific zone

3) Eastern zone, Central zone, Mountain zone and Pacific zone

4) Eastern zone, Middle zone, Middle zone, Mountain zone and Pacific zone

3) {d{dY a§JN>Q>m qH$dm H¥$îU Ydb AmH¥${V~§YmMm Cn¶moJ Ho$boë¶m ZH$mem§Zm H$moUË¶m àH$maMo ZH$meo åhUVmV ?
a) g‘YZr ZH$meo b) joÌYZr ZH$meo c) g‘N>m¶m ZH$meo d) ¶mn¡H$s Zmhr
n¶m©¶r CÎmao …
1) (a) d (b) ~amo~a 2) (b) ~amo~a 3) (b) d (c) ’$º$ 4) (d) ~amo~a

3) The maps prepared by using different color shades or black & white patterns are called as :

a) Isopleth map b) Choropleth map c) Isoshadow map d) None of these

Answer options :

1) (a) and (b) correct 2) (b) correct 3) (b) and (c) correct 4) (d) correct

4) ¶mo½¶ ZH$mememór¶ V§ÌmMr {ZdS> hr H$moUH$moUË¶m KQ>H$m§À¶m AmYmao Ho$br OmVo ?
1) JwUmË‘H$ ‘m{hVr d g§»¶mË‘H$ ‘m{hVr
2) ‘m{hVrMo ñdê$n, {díbofUmMo àH$ma d ZH$memMm CÔoe
3) àmW{‘H$ ‘m{hVr d {ÛVr¶H$ ‘m{hVr
4) {MÝhm§Mm dmna, a§JmMm dmna d Ajam§Mm dmna

4) The selection od suitable cartographic technique depends on which factors ?

1) Qualitative and Quantitative information

2)  Nature of information type of explanation and objective of map

3) Primary information and secondary information

4) Use of sign, colours and Alphabets

5) g‘mZ Sw>~H$sÀ`m q~Xy§Zm OmoS>Umè`m aofm§Zm ........... åhUVmV.
1) E°pŠb{ZH$ aofm 2) Am`gmopŠb{ZH$ aofm 3) g‘moƒ aofm 4) Am`gmoJmo{ZH$ aofm

5) The lines joining points of equal dip are called ...........

1) Aclinic lines 2) Isoclinic lines 3) Contour lines 4) Isogonic lines

6) Am`gmoH«$moZ hr ~o{gZ ZH$memdarb aofm Amho.........
1) nO©Ý`‘mnH$ H|$Ðm§Zm g‘mZ nO©Ý`‘mZ H$mbmdYrgh OmoS>Uo
2) g‘mZ ‘mZH$ doi Agbobo gm‘rb hmoÊ`mMo q~Xy
3) n¥ð>^mJmÀ`m àdmgmgmR>r g‘mZ doi Agbobo H$ZopŠQ>§J nm°B§Q²g nmUbmoQ> AmCQ>boQ>H$S>o OmVmV
4) Vo {Xboë`m doioÀ`m A§VamZo g‘mZ nmdgmÀ`m ImobrMo q~Xy OmoS>Vo
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6) An isochrone is a line on the basin map ..........

1) Joining rain gauge stations with equal rainfall duration

2) Joining points having equai standard time

3) Connecting points having equal time of travel of the surface run off to the catchment outlet

4) That connects points of equal rainfall depth in a given time interval

2) ŷH§$n Am{U Ádmbm‘wIr, IS>H$, OmJ{VH$ {d^mJ - nd©V, ZÚm Am{U àH$ën
1) ŷH§$n Am{U Ádmbm‘wIr, IS>H$
2) ^yéno
3) OmJ{VH$ {d^mJ, nd©V, nR>mao, ZÚm Am{U àH$ën

1) ŷH§$n Am{U Ádmbm‘wIr, IS>H$

1) JwOamV amÁ¶mVrb ŷO ¶oWrb ŷH§$n H$moUË¶m {Xder gH$mir Pmbm ?
1) 26 OmZodmar, 2001 2) 15 Am°JñQ>, 2001 3) 25 Zmoìh|~a, 2001 4) 25 Owb¡, 2001

1) When did the Bhuj earthquake of Gujarat State occur in the morning ?

1) 26th January, 2001 2) 15th August, 2001

3) 25th November, 2001 4) 25th July, 2001

2) {H$„mar ŷH§$nmMm H|$Ðq~Xÿ H$moUVm hmoVm ?
1) ‘m§Oam ZXr 2) KZu ZXr 3) VoaUm ZXr 4) b|S>r ZXr

2) Which was the epicenter of Killari earthquake ?

1) Manjara river 2) Ghamt river 3) Terna river 4) Lendi river

3) Imbrbn¡H$s H$moUVm àXoe ^maVmVrb Cƒ ŷH§$n Vrd«Vm {d^mJ Xe©{dVmo?
1) {ÛnH$ënr¶ {d^mJ 2) H$mpí‘a Vo Amgm‘n¶ªVMm {h‘mb¶rZ {d^mJ
3) ‘Ü¶ {d^mJ 4) J§JoMo ‘¡XmZ

3) Which one of the following regions indicates the example of high intensity zone of earthquake in

India?

1) The Zone of Peninsula 2) Himalayan Belt from Kashmir to Assam

3) Central Zone 4) Ganga Plain

4) n¥ÏdrÀ¶m ŷH$dMmV ~Xb KS>{dÊ¶mgmR>r Imbrbn¡H$s H$moUVr A§VJ©V eº$s H$maUr ŷV R>aVo ?
1) dmam 2) ZXr 3) ŷH§$n 4) {h‘ZXr

4) Which of the following endogenic force causes changes in the Earth's crust ?

1)  Wind 2)  River 3)  Earthquake 4)  Glaciers

5) bmìhmagmMo CÐoH$ d dhZ hmoD$Z X»IZÀ¶m ~§YmMr {Z{‘©Vr H$er Pmbr?
1) 115 Xebj dfm©nydu 2) 122 Xebj dfmªnydu 3) 128 Xebj dfm©nydu 4) 135 Xebj dfm©nydu
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5) When was the Deccan Trap formed due to eruptions and flows by Lava ?

1) 115 million years ago 2) 122 million years ago

3) 128 million years ago 4) 135 million years ago

6) Imbrbn¡H$s H$moUVm ~mø A{¾OÝ¶ IS>H$ Amho ?
1) J«°ZmBQ> 2) ~ogm°ëQ> 3) eob 4) {eñQ>

6) Which of the following is an extrusive igneous rock ?

1)  Granite 2)  Basalt 3)  Shale 4)  Schist

2) ŷéno

1) Imbrbn¡H$s H$moUVo ImOUmMo CXmhaU Amho ?
a) {MëH$m gamoda b) gm§~a gamoda c) nw{bH$V gamoda d) bmoUma gamoda
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (c) XmoÝhr 4) (b) Am{U (d) XmoÝhr

1) Which of the following is the example of Lagoon ?

(a)  Chilka lake (b)  Sambar lake (c)  Pulicat lake (d)  Lonar lake

Answer Options :

l)  Only (a) 2)  Only (b) 3)  Both (a) and (c) 4)  Both (b) and (d)

2) ""IMXar'' ¶m à‘wI ŷê$nm§Mr {Z{‘©Vr ............. hmoVo.
1) Ádmbm‘wIr {dñ’$moQ>m ‘wio 2) diU (KS>r) ‘wio
3) «̂§e ‘wio 4) darbn¡H$s H$moUVo hr Zmhr

2) ‘Rift valley" is a major landform resulting from

1)  Volcanic eruption 2)  Folding

3)  Faulting activity 4)  None of the above

3) OmoS>çm bmdm …
àdmhmMo àH$ma ñnï>rH$aU
a) AZwdVu (i) Ñí¶m§em‘YyZ Xar V¶ma hmoD$Z àdmh dmhUo
b) àËZwdVu (ii) ‘wi CVmamZo {Z¶§{ÌV àdmh
c) namdVu (iii) IS>H$mÀ¶m ZVrÀ¶m {déÕ dmhUo
d) Jw§’$sV àdmh (iv) àdmhmMr AmnmngmV OmoS>bobr ì¶wìhaMZm
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1>) (iv) (ii) (iii) (i)

2>) (ii) (iii) (i) (iv)

3) (iv) (i) (ii) (iii)

4>) (ii) (iii) (iv) (i)
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3) Match the following :

Types of Stream        Explanation

a) Consequent i) Stream develops valley across outcrop

b) Obsequent ii) Flow controlled by original slope

c) Subsequent iii) Flowing opposite to the dip of rock

d) Braided (iv) Maze of interconnected channels

Answer Options ;

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (ii) (iii) (i) (iv)

3) (iv) (i) (ii) (iii)

4) (ii) (iii) (iv) (i)

4) ""AnnU©Z'' ho H$moUË¶m àH$maÀ¶m Anj¶ à{H«$¶oer g§~§{YV Amho ?
1) ^m¡{VH$ Anj¶ 2) amgm¶{ZH$ Anj¶ 3) O¡{dH$ Anj¶ 4) O¡damgm¶{ZH$ Anj¶

4) Which type of weathering process is related to "Exfoliation” ?

1)  Physical weathering 2)  Chemical weathering

3)  Biotic weathering 4)  Bio-chemical weathering

5) Imbrb dù¶m§À¶m àH$mam§À¶m ¶mo½¶ OmoS>çm bmdm …
a) EH$ZV dù¶m (i) XmoÝhr ŵOm g‘m§Va nU EH$m ~mOybm PyH$boë¶m
b) g‘ZV dù¶m (ii) EH$ ŵOm Xþgè¶m ŵOoda CbQ>bobr
c) n[ad{bV dù¶m (iii) EH$ ŵOm ‘§X d Xþgar b§~dV
d) à{Vd{bV dù¶m (iv) XmoÝhr ŵOm g‘m§Va d ŷn¥ð>mghr g‘m§Va
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1>) (iv) (ii) (iii) (i)

2>) (ii) (iii) (i) (iv)

3) (iii) (i) (iv) (ii)

4>) (i) (iv) (ii) (iii)

5) Match the following for types of folds:

a) Monoclinal fold G) Both limbs parallel but inclined to one side

b) Isoclinal fold (ii) One limb turned over the other limb

c) Recumbent fold (iii) One limb inclined and the other perpendicular

d) Overturned fold (iv) Both limbs parallel to each other and the ground

Answer Options:

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (ii) (iii) (i) (iv)

3) (iii) (i) (iv) (ii)

4) (i) (iv) (ii) (iii)
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6) gmJar bmQ>m§À¶m IZZ H$m¶m©‘wio Imbrbn¡H$s H$moUË¶m ŷê$nm§Mr {Z{‘©Vr hmoVo ?
1) gmJar Jwhm 2) ~‘© 3) nwiUr 4) darbn¡H$s gd©

6) Which of the following landfoms is formed due to erosional work of ocean waves?

1) Sea Caves 2) Beans 3) Beaches 4) All of the above

7) g‘wÐ{H$Zmè¶mdarb bmQ>m§À¶m Anj¶ H$m¶m©‘wio Imbrbn¡H$s H$moUVr ŵê$no {Z‘m©U hmoVmV?
1) g‘wÐ H$S>m, AmImV, g‘wÐ{H$Zmè¶mdarb Jwhm, g‘wÐ VQ>r¶ ñV§̂
2) g‘wÐ H$S>m, Va§J {Z{‘©V M~wVam, dmiyMo Xm§S>o, ImOU
3) AmImV, g‘wÐ H$S>m, ImOU, dmiyMo Xm§S>o
4) g‘wÐ VQ>r¶ ñV§̂ , g‘wÐ H$S>m, AmImV, ImOU

7) Which of the following landforms are produced on coastal area by wave erosion?

1) Sea cliff, Bay, Sea caves, Sea stacks

2) Sea cliff, Wave built terrace, Sand bars, Lagoon

3) Bay, Sea cliff, Lagoon, Sand bars

4) Sea tacks, Sea cliff, Bay, Lagoon

3) OmJ{VH$ {d^mJ, nd©V, nR>mao, ZÚm Am{U àH$ën

1) ¶m I§S>mMm joÌ’$imZwgma (Mm¡.{H$.‘r.) OJmV nmMdm H«$‘m§H$m Amho.
1) ¶wamon 2) X{jU A‘o[aH$m 3) A§Q>mp³Q>©H$m 4) Am°ñQ´>o{b¶m

1) According to area (in sq.km.) it's a fifth number of continent in the world :

1) Europe 2) South America 3) Antarctica 4) Australia

2) ............ hm OJmVrc gdm©{YH$ Z¡g{J©H$ AmnÎmràdU àXoe Amho.
1) Am{e¶m-n°{g{’$H$ 2) ghmam dmid§Q>mÀ¶m X{jUoH$S>rc Am{’«$H$m
3) ‘Ü¶ nyd© Am{U CÎma Am{’«$H$m 4) nyd© ¶wamon

2) is the most natural disaster prone area in the world.

1)  Asia-Pacific 2)  Sub-Saharan Africa

3)  Middle East and North Africa 4)  Eastern Europe

3) ¶wZoñH$moZo "OmJ{VH$ dmagm gyMr' ‘Ü¶o ¶m ñWimbm g‘m{dï> Ho$bobo Amho.
1) J«oQ> ~°[aAa [a’$ (àdmi IS>H$m§Mr am§J) 2) J«oQ> [aâQ> ìh°br (IMXar)
3) J«oQ> gm°ëQ> boH$ (Imè¶m nmÊ¶mMo gamoda) 4) J«oQ> ßb°Z (‘¡XmZr àXoe)

3) UNESCO had included this place in 'World Heritage List' :

1) Great Barrier Ree 2) Great Rift Valley

3) Great Salt Lake 4) Great Plain

4) ¶mo½¶ OmoS>çm bmdm.
a) VmH$bm‘mH$Z i) {Mbr d noê$
b) A°Q>mH$m‘m ii) gwXmZ
c) Ý¶y{~¶m iii) ‘§Jmo{c`m
d) Jmo~r iv) MrZ
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (ii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (iv) (i) (ii) (iii)

4) Match the suitable pairs :

a) Taklamakan i) Chili & Peru

b) Atacama ii) Sudan

c) Newbiya iii) Mangolia

d) Gobi iv) China

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (iii) (ii) (i) (iv)

3) (iv) (ii) (iii) (i)

4) (iv) (i) (ii) (iii)

5) OmoS>çm bmdm …
          (I)         (II)

A) g|Q> nm°b [aO i) n°{g{’$H$ ‘hmgmJa
~) ‘[a¶mZm JVm© ii) AQ>bm§{Q>H$ ‘hmgmJa
H$) M°b|Oa amB©O iii) qhX ‘hmgmJa
n¶m©¶r CÎmao …

A ~ H$
1) i ii iii

2) iii i ii

3) ii i iii

4) i iii ii

5) Match the pair :

          (I)         (II)

a. Saint Paul Ridge i. Pacific Ocean

b. Mariana Trenche ii. Atlantic Ocean

c. Challenger Rise iii. Indian Ocean

Answer Options:

a b c

1) i ii iii

2) iii i ii

3) ii i iii

4) i iii ii
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6) Imbrb Z‘yX OmJ{VH$ nR>mam§À¶m Ë¶m§À¶m I§S>m§er OmoS>çm bmdm …
a) H$mob§{~¶m nR>ma i) Am{e¶m
b) ~mo{bpìh¶m nR>ma ii) ¶wamon
c) g|Q́>b ‘°{g’$ nR>ma iii) X{jU A‘o[aH$m
d) ¶wZmZ nR>ma iv) CÎma A‘o[aH$m
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (ii) (iii) (iv) (i)

3) (iv) (iii) (ii) (i)

4) (i) (ii) (iii) (iv)

6) Match the following plateaus with their continents :

a) Columbia plateau i) Asia

b) Bolivia plateau ii) Europe

c) Central Massif plateau iii) South America

d) Yunan plateau iv) North America

Answer Options :

(a) (b) (c) (d)

1) (iv) (ii) (i) (iii)

2) (ii) (iii) (iv) (i)

3) (iv) (iii) (ii) (i)

4) (i) (ii) (iii) (iv)

7) OmoS>çm bmdm …
        nR>mam§Mo àH$ma    nR>mam§Mo CXmhaU
a) nd©Vm§VJ©V nR>ma i) H$mobmoa°S>moMo nR>ma
b) nd©VnXr¶ nR>ma ii) H$mob§{~¶mMo nR>ma
c) Ádmbm‘wIr‘wio V¶ma Pmbobo nR>ma iii) {J«Zb±S>Mo nR>ma
d) {h‘ZXrÀ¶m H$m¶m©‘wio V¶ma Pmbobo nR>ma iv) ~cw{MñVmZMo nR>ma
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (ii) (iii)

4) (iv) (ii) (i) (iii)

7) Match the following :

Types of Plateau Example of Plateau

a) Intermont Plateau i) Colorado Plateau

b) Piedmont Plateau ii) Colombia Plateau

c) Lava Plateau iii) Greenland Plateau

d) Glacier Erosion Plateau iv) Baluchisthan Plateau
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Answer Options  :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (ii) (iii)

4) (iv) (ii) (i) (iii)

3) hdm‘mZ - dmVmdaU, dmao Am{U ‘hmgmJa àdmh
1) dmVmdaU
2) dmao Am{U ‘hmgmJa àdmh
3) hdm‘mZ

1) dmVmdaU

1) EH$ B§M dm¶ŵ ma åhUOo {H$Vr?
1) 3.4 {‘cr~ma 2) 4.3 {‘cr~ma 3) 34 {‘cr~ma 4) 12 {‘cr~ma

1) One inch air pressure means how much ?

1) 3.4 millibar 2) 4.3 millibar 3) 34 millibar 4) 12 millibar

2) 670 Ajd¥Îmmda gm¡aeº$s {‘iÊ¶mMm H$mbmdYr {H$Vr AgVmo ?
1) 13 {Xdg 2) 20 {Xdg 3) 1 ‘{hZm 4) 3 ‘{hZo

2) What is the duration of solar energy received at 67° latitude ?

1)  13 days 2)  20 days 3)  1 month 4)  3 months

3) "Ho$Zobr hodrgmB©S>' ¶m CnWamMm g‘mdoe ........... ‘Ü¶o hmoVmo.
1) Vnm§~a 2) pñWVm§~a 3) Xbm§~a 4) ~møm§~a

3) The 'Kennelly Heaviside’ sublayer consists in ............ layer.

1)  Troposphere 2)  Stratosphere 3)  lonosphere               4)  Exosphere

4) n¥ÏdrÀ¶m Xa Mm¡ag go§{Q>‘rQ>a n¥ð>^mJmda Xa {‘{ZQ>mg 1.94 H°$bar gm¡a D$Om© {‘iVo Ë¶mg H$m¶ åhUVmV?
1) gm¡a pñWanX 2) CîUVm g§VwbZ 3) ŷYdbVm 4) ¶mn¡H$s Zmhr

4) The Earth's surface receiving 1 94 calories solar energy per sq. cm. per minute is called

1)  Solar Constant 2)  Heat Balance 3)  Albedo of the Earth 4)  None of these

5) dmVmdaUmÀ¶m H$moUË¶m Wam‘Ü¶o AmoPmoZ dm¶yMm Wa AmT>iVmo ?
1) Vnm§~a 2) VnñVãYr 3) pñWVm§~a 4) Am¶Zm§~a

5) In which layer of atmosphere does the ozone layer appear ?

1)  Troposphere 2)  Tropopause 3)  Stratosphere 4)  lonosphere
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6) Imbrb {dYmZo nhm …
a) Am°p³gOZÀ¶m VrZ AUy§nmgyZ A°aoJm°Z dm¶y ~Zbobm AgVmo.
b) AmoPmoZMm èhmg n¥Ïdrdarb gOrdm§gmR>r Iyn YmoH$mXm¶H$ Amho.
c) dmid§Q>mMm namdV©Z {ZX}em§H$ 25 Vo 30 Q> o̧$ AgVmo.
n¶m©¶r CÎmao …
1) ’$º$ (b) {dYmZ ~amo~a Amho 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV
3) {dYmZ (b) Am{U (c) ~amo~a AmhoV 4) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV

6) Observe the following statements :

(a)  Argon gas is made up of three atoms of oxygen.

(b)  The degradation of ozone is very dangerous for life on the Earth.

(c)  The albedo of the desert is 25 to 30 percent.

Answer Options :

l)  Only statement (b) is correct 2)  Statements (a) and (b) are correct

3)  Statements (b) and (c) are correct 4)  Statements (a), (b) and (c) are correct

2) dmao Am{U ‘hmgmJa àdmh

1) 16-5-2018 Vo 21-5-2018 Xaå¶mZ H$moUVo MH«$sdmXi Aa~r g‘wÐmda V¶ma Pmbo hmoVo?
1) DAYE 2) SAGAR 3) LUBAN 4) GAJA

1) Which cyclonic storm was formed between 16-5-2018 to 21-5-2018 over Arabian Sea ?

1) DAYE 2) SAGAR 3) LUBAN 4) GAJA

2) ’$¶mZ MH«$sdmXi ‘hmamï´>mÀ¶m g‘wÐ {H$Zmè¶mda ............... Xaå¶mZ AmT>iVo.
1) 11 Zmoìh|~a, 2009 2) 12 {S>g|~a, 2007 3) 01 Zmoìh|~a, 2006 4) darbn¡H$s Zmhr

2) Phyan cyclonic storm hit the coast of Maharashtra during

1) 11 November, 2009 2) 12 December, 2007

3) 01 November, 2006 4) None of the above

3) OmoS>çm Owidm …
MH«$sdmXi        df©

a) {ZgJ© (i) 2021
b) Vm¡³Vo (ii) 2020
c) ’¡$¶mZ (iii) 2009
d) ³¶ma (iv) 2019
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (ii) (iv) (i)

3) (ii) (i) (iii) (iv)

4) (ii) (iii) (iv) (i)
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3) Match the following :

Cyclone    Year

a) Nisarga (i) 2027

b) Tauktae (ii) 2020

c) Phyan (iii) 2009

d) Kyarr (iv) 2019

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iii) (ii) (iv) (i)

3) (ii) (i) (iii) (iv)

4) (ii) (iii) (iv) (i)

4) Imbrb {dYmZo nhm …
a) gmJa MH«$sdmXi ‘o 2019 ‘Ü¶o Aa~r g‘wÐmV V¶ma Pmbo.
b) gmJa MH«$sdmXimZo X{jU H$moH$U {H$Zmè¶mda ‘mb‘ÎmoMo ZwH$gmZ Ho$bo.
n¶m©¶r CÎmao …
1) {dYmZ (a) ~amo~a Amho. 2) {dYmZ (b) ~amo~a Amho.
3) {dYmZo (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZo (a) Am{U (b) ~amo~a ZmhrV.

4) Observe the following statements :

a) Sagar cyclonic storm originated in May 2019 in Arabian Sea.

b) Sagar cyclonic storm disrupted properties on South Konkan coast.

Answer options:

1) Statement (a) is correct 2) Statement (b) is correct

3) Statements (a) and (b) are correct 4) Statements (a) and (b) are incorrect

5) H$moUVo MH«$sdmXi 17-05-2021 Xaå¶mZ ‘hmamï´>mÀ¶m {H$ZmanÅ>rda n[aUm‘ H$éZ Joco ?
1) {ZgJ© 2) Jwcm~ 3) Vm¡ºo$ 4) darcn¡H$s Zmhr

5) Which cyclonic storm affected the coast of Maharashtra during 17-05-2021 ?

1) Nisarg 2) Gulab 3) Tauktae 4) None of the above

6) OmoS>çm Owidm …
àXoe dmè¶mMo Zmd

a) ghmam dmid§Q> i) ’$m°Z
b) J«rg ii) go‘wZ
c) BamU iii) {gamo̧ $mo
d) Amëßg iv) Im‘grZ
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (ii) (iv)

2) (iv) (iii) (ii) (i)

3) (i) (ii) (iv) (iii)

4) (ii) (iv) (i) (iii)
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6) Match the following :

Region Name of the wind

a) Sahara desert i) Foehn

b) Greece ii) Semun

c) Iran iii) Sirocco

d) Alps iv) Khamsin

Answer Options :

(a) (b) (c) (d)

1) (i) (iii) (ii) (iv)

2) (iv) (iii) (ii) (i)

3) (i) (ii) (iv) (iii)

4) (ii) (iv) (i) (iii)

7) ì¶mnmar dmè¶m g§~§Yr Imbrbn¡H$s H$moUVr d¡{eï>o ~amo~a AmhoV ?
a) CÎma JmobmYm©V Vo Am¾o¶ {XeoH$Sy>Z dmhVmV.
b) CÎma JmobmYm©V Vo B©emÝ¶ {XeoH$Sy>Z dmhVmV.
c) Vo AË¶§V {Z`{‘V dmhVmV.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) ~amo~a AmhoV 2) ’$º$ (b) Am{U (c) ~amo~a AmhoV
3) ’$º$ (c) ~amo~a AmhoV 4) darb gd© ~amo~a AmhoV

7) Which of the following characteristics of trade winds is/are correct ?

(a)  In the Northern hemisphere they blow from South-east.

(b)  In the Northern hemisphere they blow from North-east.

(c)  They blow with great regularity.

Answer Options :

l)  Only (a) and (b) are correct 2)  Only (b) and (c) are correct

3)  Only (c) is correct 4)  All of the above are correct

8) B§Q>agoßeZ bm°g ......... Amho.
1) dmXi g§nÊ`mÀ`m {XeoZo A{YH$ 2) dmXimÀ`m gwédmVrbm H$‘r Am{U hiyhiy dmT>Vo
3) g§nyU© dmXimV EH$g‘mZ 4) dmXimÀ`m gwédmVrbm Cƒ Am{U hiyhiy H$‘r hmoVo

8) Interception loss is ..........

1) more towards the end of a storm

2) less at the beginning of a storm and gradually increases

3) uniform throughout the storm

4) high in the beginning of storm and gradually decreases

3) ‘hmgmJa àdmh

1) Eb {ZZmo‘wio H$moUH$moUË¶m XoemV Vrd« XþîH$mi nS>bm hmoVm ?
a) B§S>moZo{e¶m b) noê$ c) ~m§JbmXoe d) ^maV
n¶m©¶r CÎmao …
1) (a), (b) 2) (b), (c) 3) (a), (b), (c) 4) (a), (c), (d)
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1) In which countries did severe drought occur due to El Nino ?

a) Indonesia b) Peru c) Bangladesh e d) India

Answer Options :

1) (a), (b) 2) (b), (c) 3) (a), (b), (c) 4) (a), (c), (d)

2) Imbrb {dYmZo nhm …
a) bm {ZZm‘wio Mm§Jbm nmD$g hmoD$Z noê$Mr {H$ZmanÅ>r {hadrJma ~ZVo.
b) bm {ZZm‘wio noê$À¶m dmid§Q>mV Mm§Jbm nmD$g hmoD$Z H$mnyg, Zmai, Ho$ir ¶m§Mo ^anya CËnmXZ hmoVo.
c) Eb {ZZmo àem§V ‘hmgmJamVrb A{Z¶{‘V C~Xma gmJar àdmh Amho.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) ~amo~a Amho 2) ’$º$ {dYmZ (b) Am{U (c) ~amo~a AmhoV
3) {dYmZ (b) Am{U (c) ~amo~a AmhoV 4) ’$º$ {dYmZ (c) ~amo~a Amho

2) Observe the following statements :

a) The Peruvian coast becomes green due to good rainfall from La Nina. .

b) There is a rich harvest of cotton, coconut, banana in the Peruvian desert due to gocd rainfall

from La Nina.

c) El Nino is an irregular warm ocean current in the Pacific Ocean.

Answer Options :

1) Only statement (a) is correct 2) Statements (a) and (b) are correct

3) Statements (b) and (c) are correct 4) Only statement (c) is correct

3) bm {ZZm ~Ôb H$moUVr ‘m{hVr gË¶ Amho?
a) hm W§S> gmJar àdmh Amho.
b) hm Eb {ZZmoÀ¶m {déÕ Amho.
c) bm {ZZm hr Eb {ZZmoMr YmH$Q>r ~hrU ‘mZbr OmVo.
d) bm {ZZm V¶ma Pmë¶mZ§Va ì¶mnmar dmao Ë¶m§Mm doJ dmT>aVmV.
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (c)

3) ’$º$ (a), (b) Am{U (c) 4) (a), (b), (c) Am{U (d)

3) What information about La Nina is correct?

a) Itis a cold ocean current.

b) It is opposite to El Nino.

c) The La Nina is considered to be the younger sister of E] Nino.

d) After the occurrence of La Nina, trade winds increase their speed.

Answer Options :

1) Only (a) and (b) 2) Only (c)

3) Only (a), (b) and (c) 4) (a), (b), (c) and (d)

4) Eb {ZZmo bm {¼ñVmMo ~mi åhQ>bo OmVo H$maU .........
1) Vmo {¼g‘g Z§Va ¶oVmo 2) Vmo {¼g‘g AJmoXa ¶oVmo
3) Vmo {nH$ H$mnUr Xaå¶mZ ¶oVmo 4) Vmo C~Xma àdmhm ~amo~a ¶oVmo
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4) El Nino is called Christ’s child because .

1) it occurs after Christmas 2) it occurs before Christmas

3) it occurs during crop harvest 4) it occurs along a warm current

5) noê$À¶m {H$Zmè¶mda gmJar OrdZmMm Zme .........‘wio hmoVmo.
1) C~Xma àdmh 2) W§S> àdmh 3) à~i Eb {ZZmo 4) à~i bm {ZZm

5) The marine life is destroyed on the Peruvian coast due to

1) Warm current 2) Cold current 3) Strong El Nino 4) Strong La Nina

3) hdm‘mZ

1) gd©gmYmaUnUo Vmn‘mZmÀ¶m {dn[aVVog Imbrbn¡H$s H$moUVm KQ>H$ Amdí¶H$ AgVmo ?
1) bhmZ {XZ‘mZ 2) ñdÀN> hdm 3) S>m|Jami àXoe 4) darbn¡H$s gd©

1) Which of the following factors is required for the Inversion of Temperature ?

1)  Short day 2)  Clean air 3)  Highlands                4)  All of the above

2) ............. ho gmYmaUnUo bm§~ (XrK©) H$mbmdYrÀ¶m hdm‘mZmMr gamgar hmo¶.
1) hdm‘mZemó 2) hdm‘mZ 3) Obemó 4) H¥$fr hdm‘mZemó

2) .............. is commonly considered to be the weather averaged over a long period of

1)  Meteorology 2) Climate 3)  Hydrology 4)  Agrometeorology

3) Am°JñQ> 2020 ‘Ü ò EH$m {d{eï> {R>H$mUr ‘m{gH$ nmD$g gm‘mÝ`nojm 50 {‘‘r OmñV Zm|Xdbm Jobm. òWo gm‘mÝ`
eãXmMm AW©.........
1) ‘mJrb dfu `mM ‘{hÝ`mV Pmbobm nmD$g
2) ‘mJrb ‘{hÝ`mÀ`m AmH$S>odmarda AmYm[aV nmD$g gmYmaUnUo Ano{jV hmoVm
3) ‘mJrb 12 ‘{hÝ`m§À`m aoH$m°S>©dê$Z ‘moObobm gamgar nmD$g
4) {d{eï> 30 dfmªÀ`m ‘mJrb aoH$m°S>©dê$Z Am°JñQ>gmR>r gamgar ‘m{gH$ nmD$g

3) The monthly rainfall at a place A during August 2020 was recorded as 50 mm above normal. Here

the term normal means .........

1) the rainfall in the same month in the previous year

2) the rainfall was normally expected based on previous month’s data

3) the average rainfall computed from past 12 month’s record

4) the average monthly rainfall for August computed from a specific 30 years of past record
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4) OmJ{VH$ bmoH$g§»`m, ^mfm, d§e, ^m¡Jmo{bH$ amOH$maU, OmJ{VH$ ñWmZo Am{U gr‘m
1) ‘mZdr ̂ yJmob, dñVr ̂ yJmob
2) OmJ{VH$ bmoH$g§»`m, ̂ mfm, d§e, g‘wXm¶
3) amOH$s¶ ̂ yJmob, OmJ{VH$ ñWmZo Am{U gr‘m

1) ‘mZdr ŷJmob, dñVr ŷJmob

1) ‘mZdr ŷJmobmMo OZH$ H$moU Amho ?
1) S>ãë¶y. E‘. S>opìhg 2) {S>‘mZ{OAm°Z 3) ’«o$S>[aH$ a°Q>Pob 4) Oo. ~«wÝg

1) Who is the Father of Human Geography ?

1)  W.M. Davis 2) Demangeon 3)  Friendrich Ratzel 4) J. Brushes

2) ............. ho ‘mZdr ŷJmobmMo OZH$ AmhoV.
1) hoamoS>m°Q>g 2) hoH$mQ>m¶g 3) {dS>mb-S>r-bm-ãbme 4) ~«wÝg

2) The father of Human Geography is ......

1) Herodotus 2)  Hecataeus 3) Vidal-de-la-Blache 4) Brunhes

3) ZmJar g§aMZog§~§Yr "gH|${Ð¶ H${Q>~§Y {gÕm§V' H$moUr ‘m§S>bm ?
1) hmo‘a hm¶Q> 2) B©.S>ãë¶y. ~J}g 3) Cb‘Z Am{U h°[ag 4) EM.Eg. hog

3) Who proposed the 'Concentric Zone Theory' of civil structure ?

1)  Homer Hoyt 2)  E.W. Burgess 3)  Ullman and Harris 4)  H.S. Hayes

4) Zd{ZíM¶dmX ¶m {dMmagaUrMo àdV©H$ H$moU AmhoV ?
1) h§~moëQ> 2) ãbme 3) {J«{’$W Q>oba 4) darbn¡H$s gd©

4) Who is the promoter of the ideology of Neo-determinism ?

1)  Humboldt 2)  Blache 3)  Griffith Taylor 4)  All of the above

5) ‘Zwî¶ {H«$¶merb Agë¶mZo Vmo {ZgJm©Mo ahñ¶ OmUyZ n¶m©daUmV ~Xb KS>dyZ OrdZmMm ‘mJ© H$mT>Vmo hr ...........
{dMmagaUr Amho.
1) e³¶VmdmX 2) Ae³¶VmdmX 3) Wm§~m d Om 4) darbn¡H$s gd©

5) Since man is active, he knows the secrets of nature and changes the environment to find a way of

life, this is ............. concept.

1) Possibilism 2) Determinism 3)  Stop and Go 4)  All of the above

6) 'AmYw{ZH$ ZJa {Z`moOZmMo OZH$' åhUyZ AmoiIë`m OmUm`m© ga n°{Q́H$ JoS>og `m§Zr ......... À`m EH$ÌrH$aUmda AmYm[aV
àmXo{eH$ Am{U eha {Z`moOZmgmR>r EH$ ZdrZ Ñï>rH$moZ {dH${gV Ho$bm Á`mbm Jo{S>̀ Z {ÌHy$Q> g§H$ënZm åhUVmV. '
1) H$m ©̀ - bmoH$ - {R>H$mU 2) H$m ©̀ - Hw$Qw>§~ - {R>H$mU
3) eha - OmoS>eha - àXoe 4) àXoe - eha - {R>H$mU

6) Sir Patrick Geddes, known as ‘Father of modern town planning,’ developed a new approach to

regional and town planning based on integration of ............. called the Geddian trio concept. ‘

1) Work —- Folk — Place 2) Work — Family — Place

3) City — Satellite - Region 4) Region - City - Place
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2) OmJ{VH$ bmoH$g§»`m, ^mfm, d§e, g‘wXm¶

1) ...... hm {Xdg Am{U ...... ho df© OmJ{VH$ bmoH$g§»¶m {XZ d df© åhUyZ gmOam Ho$bm OmVmo.
A) 11 Owb¡, 1974 ~) 10 Owb¡, 1970 H$) 13 Owb¡, 1975 S>) 15 Owb¡, 1971
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) ’$º$ ~ 4) ’$º$ S>

1) ................ day and year is celebrated as World Population Day and year.

a) 11 July, 1974 b) 10 July, 1970 c) 13 July, 1975 d) 15 July, 1971

Answer Options :

1) Only a 2) Only c 3) Only b 4) Only d

2) bmoH$g§»¶oÀ¶m d¶moJQ> aMZoZwgma .............. d¶moJQ> hm AZwËnmXH$ g‘Obm OmVmo.
1) 6 dfm© darb 2) 14 dfm©Imbrb 3) 15 Vo 30 dfm©Mm 4) 30 Vo 59 dfm©Mm

2) According to the age group structure of population,       age group is considered as unproductive.

1)  Above 6 years 2) Under 14 years 3)  15 to 30 years old 4)  30 to 59 years old

3) "bmoH$g§»¶m g§H«$‘U' {gÕm§V H$moUr ‘m§S>bm ?
1) Hw$. g|nb 2) Wm°‘g Om°Z 3) E’$. S>ãë¶y. Zm°Q>oñQ>mBZ 4) S>. ñQ>±n

3) Who put forward the theory of‘Demographic Transition’ ?

1)  Miss Semple 2)  Thomas John 3)  F. W.Notestein 4)  D. Stamp

4) 1835 ‘Ü¶o ...... ¶m§Zr cm°{OñQ>rH$ H$ìh©Mm dmna H$éZ cmoH$g§»¶m{df¶H$ A§XmO H$aÊ¶mMr nÕVr {dH${gV Ho$cr.
1) ßcoQ>coQ> 2) ³doQ>coQ> 3) lm°’$a 4) ‘mëWg

4) In 1835,  ............... developed population projection method by using logistic curve.

1)  Platelet 2)  Quetelet 3)  Shrofer 4)  Malthus

5) H$moUË¶m I§S>mV gdm©V OmñV bmoH$g§»¶m H¥$fr‘Ü¶o Jw§Vbobr Amho ?
1) Am{e¶m 2) Am{’«$H$m 3) A‘o[aH$m 4) Am°ñQ´>o{b¶m

5) In which continent the maximum population is engaged in Agriculture ?

1) Asia 2) Africa 3) America 4) Australia

6) Imbrb {Xboë¶m {d{dY AdñWm ¶m H$emer g§~§{YV Amho ?
a) Cƒ ñWm¶r AdñWm b) àma§{^H$ d¥Õr AdñWm c) CÎma d¥Õr AdñWm d) {ZåZ ñWm¶r AdñWm
n¶m©¶r CÎmao …
1) bmoH$g§»¶oMr dmT> 2) bmoH$g§»¶m g§H«$‘U 3) A{V[aº$ bmoH$g§»¶m 4) AZwHw$bV‘ bmoH$g§»¶m

6) Following stages are related with .............

a) High stationary stage b) Early expanding stage

c) Late expanding stage d) Low stationary stage

Answer options :

1) Population growth 2) Demographic transition

3) Over population 4) Optimum population

7) ‘mëWgÀ¶m åhUÊ¶mZwgma cmoH$g§»¶m d¥Õrda ~§YZ KmVco Zmhr Va cmoH$g§»¶m ............ JVrZo dmT>V OmB©c.
a) A§H$J{UVr b) ŷ{‘Vr¶ c) JwUmH$ma d) eyÝ¶



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ̂ yJmob / 42

For Private Circulation Only

n¶m©¶r CÎmao  :
1) ’$º$  (a)  ~amo~a 2) ’$º$   (b)  ~amo~a 3) (b) Am{U (c) ~amo~a 4) ’$º$ (d) ~amo~a

7) According to Malthus population if goes unchecked increase population in ........... ratio.

a) Arithmetic b) Geometric c) Multiplicative d) Zero

Answer Options :

1) only (a) correct 2) only (b) correct

3) (b) and (c) correct 4) only (d) correct

8) a)$Á¶m doir ‘¥Ë¶yXa Am{U OÝ‘Xa hm gmaIm AgVmo Ë¶mdoir cmoH$g§»¶m pñWa AgVo.
b)$OÝ‘Xa OmñV Am{U ‘¥Ë ỳXa H$‘r AgVmo Voìhm cmoH$g§»¶m dmT>Vo.
c)$‘¥Ë¶yXa OmñV Am{U OÝ‘Xa H$‘r Agë¶mg cmoH$g§»¶m H$‘r hmoVo.
d)$H$moUË¶mhr XoemVrc cmoH$g§»¶oMr d¥Õr Am{U èhmg hm OÝ‘Xa Am{U ‘¥Ë¶wXamda Adc§~yZ AgVmo.
darcn¡H$s H$moUVo {dYmZ MwH$sMo AmhoV ?
1) (a)$ Am{U, (d)$ MyH$ 2) (a)$ Am{U (c)$
3) (a),(c) Am{U (d)$ 4) darcn¡H$s Zmhr

8) (a)  Population is stable when mortality rate and birth rate are the same.

(b)  Population increases when birth rate is high and mortality rate is low.

(c)  If the morality rate is high and birth rate is low, then the population decreases.

(d)  The growth and decline of population of any country depends on the birth rate and mortality  rate.

Which of the statements(s) given above are incorrect ?

l)  (a) and (d) 2)  (a) and (c) 3)  (a), (c) and (d) 4)  None of the above

9) Imcrc {dYmZmn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ¶mo½¶ Amho/AmhoV ?
a)$EImÚm XoemÀ¶m qH$dm Ë¶mVrc gw{ZpíMV ŷ̂ mJmÀ¶m EH$m {d{eï> doiÀ¶m cmoH$g§»¶o{df¶r d {VÀ¶m Am{W©H$ d

gm‘m{OH$ A§Jm{df¶r AmH$S>odmar Jmoim H$aÊ¶mÀ¶m, {VMo g§H$cZ H$aÊ¶mÀ¶m d Vr à{gÕ H$aÊ¶mÀ¶m g§nyU© à{H«$¶ocm
OZJUZm Ago åhUVmV.

b)$OZJUZm J«§W åhUOoM gaH$mar ¶§ÌUoZo {d{eï> hoVyZo Jmoim Ho$coë¶m cmoH$g§»¶m {df¶H$ {d{dYm§Jr àmW{‘H$ ‘m{hVrMo
g§H$cZ hmo¶.

n¶m©¶r CÎmao :
1) ’$º$ (a)$ 2) ’$º$ (b)$ 3) (a)$Am{U (b)$ 4) darcn¡H$s Zmhr

9) Which of the following statement(s) is/are correct ?

(a) Census is the whole process of gathering, collecting and publishing statistics about the

population of a specific time of a particular country and its economic and social aspects.

(b) The census is a compilation of various statistical data related to the population collected by

the government system for a specific purpose.

Answer Options :

1)  Only (a) 2)  Only (b) 3)  (a) and (b) 4)  None of the above

10) Imbrb Owidm :
A) ñWm{ZH$ bmoH$ i) dÝ`OmVr
~) Am{X‘ bmoH$ ii) dZdmgr
H$) O§JbmVrb a{hdmgr iii) Am{X‘OmVr
S>) O§JbmMr OmV iv) Am{Xdmgr
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n¶m©¶r CÎmao :
(A) (~) (H$) (S>)

1) (i) (ii) (iii) (iv)

2) (iv) (ii) (iii) (i)

3) (ii) (iv) (i) (iii)

4) (iv) (iii) (ii) (i)

10) Match the following :

a) Indigenous people i) Vanyajati

b) Primitive people ii) Vanvasi

c) Inhabitant of forest iii) Adimjati

d) Caste of forest iv) Adivasi

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (ii) (iii) (i)

3) (ii) (iv) (i) (iii)

4) (iv) (iii) (ii) (i)

3) amOH$s¶ ŷJmob, OmJ{VH$ ñWmZo Am{U gr‘m

1) ‘mZd d n¶m©daU ¶m {df¶mda g§¶wº$ amï´>mMr n{hbr n[afX Ho$ìhm Am¶mo{OV H$aÊ¶mV Ambr hmoVr ?
1) 5 OyZ 1970 2) 5 OyZ 1972 3) 5 OyZ 1974 4) 5 OyZ 1976

1) When was the first United Nation Conference on human and environment held ?

1) 5 June 1970 2) 5 June 1972  3) 5 June 1974 4) 5 June 1976

2) Imbr {Xboë¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
Xoe amOYmZr I§S>

a) ìho{ZPwEbm i) gZm I) ¶wamon
b) gm¶àg ii) H$mamH$mg II) Am{e¶m
c) ¶o‘oZ iii) E§Q>mZmZm[a¶mo III) Am{’«$H$m
d) ‘XmJmñH$a iv) {ZH$mo{g¶m VI) X{jU A‘o[aH$m
n¶m©¶r CÎmao …
1) (a)-(ii)-(IV) (d)-(iii)-(II) (b)-(i)-(III) (c)-(iv)-(I)

2) (c)-(i)-(II) (b)-(iii)-(III) (a)-(ii)-(IV) (d)-(iv)-(I)

3) (d)-(iii)-(III) (c)-(i)-(II) (a)-(ii)-(IV) (b)-(iv)-(I)

4) (b)-(i)-(I) (c)-(ii)-(II) (d)-(iii)-(III) (a)-(iv)-(IV)

2) Match the following suitable pairs :

Country Capital Continent

a) Venezuela i) Sana I) Europe

b) Cyprus ii) Caracus II) Asia

c) Yemen iii) Antananarivo III) Africa

d) Madagaskar iv) Nicosia IV) South America
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Answer options :

1) (a)-(ii)-(IV) (d)-(iii)-(II) (b)-(i)-(III) (c)-(iv)-(I)

2) (c)-(i)-(II) (b)-(iii)-(III) (a)-(ui)-(IV) (d)-(iv)-(I)

3) (d)-(iii)-(III) (c)-(i)-(II) (a)-(ii)-(IV) (b)-(iv)-(I)

4) (b)-(i)-(I) (c)-(ii)-(II) (d)-(iii)-(III) (a)-(iv)-(IV)

3) Imbrbn¡H$s H$moUVo ghòH$ {dH$mg bú¶ Amho ?
1) A{V J[a~r Am{U ŷH$ ¶m§Mo {Z‘y©bZ 2) qbJ g‘mZVobm àmoËgmhZ
3) ~mb‘¥Ë¶yMo à‘mU H$‘r H$aUo 4) darb gd©

3) Which of the following is the millennium development goal ?

1) Eradication of extreme poverty and hunger 2) Promote gender equality

3) Reduce child mortality 4) All of the above

5) OmJ{VH$ I{ZOo Am{U D$Om© g§gmYZo, CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, n`m©daU, H¥$fr
1) Am{W©H$ ̂ yJmob
2) H¥$fr joÌ d n`m©daU
3) OmJ{VH$ I{ZOo Am{U D$Om© g§gmYZo
4) CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z

1) Am{W©H$ ŷJmob

1) Am{W©H$ ŷJmobmMm OZH$ åhUyZ H$moUmg AmoiIbo OmVo ?
1) {Mem°ë‘ 2) am°{~ÝgZ 3) Ama. ~«mD$Z 4) Ama. B©. ‘’$s©

1) Who is known as the father of Economic Geography ?

1)  Chisholm 2)  Robinson 3)  R. Brown 4)  R.E. Murphy

2) Imbrbn¡H$s H$moUË¶m ‘mZdr Am{W©H$ {H«$¶m nyU©nUo {ZgJm©da Adb§~yZ AgVmV ?
1) àmW{‘H$ 2) {ÛVr¶H$ 3) V¥Vr` 4) ¶mn¡H$s Zmhr

2) Which of the following human economic activities is totally dependent on nature ?

1)  Primary 2)  Secondary 3)  Tertiary 4)  None of these

2) H¥$fr joÌ d n`m©daU

1 Imcrcn¡H$s H$moUVm {Xdg OmJ{VH$ Oc{XZ Amho ?
1) 22 ‘mM© 2)  22  E{àc 3)  22 ‘o 4)  5 OyZ

1) Which of the following is the World Water Day ?

1) 22nd March 2)  22nd April 3)  22nd May 4)  5th June
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2) OmoS>çm bmdm …
Xoe/joÌ ñWbm§VarV eoVr
a) ^maV (i) bS>m§J
b) ‘Ü¶ A‘o[aH$m (ii) amoH$m
c) ~«m{Pb (iii) {‘ënm
d) B§S>moZo{e¶m (iv) Py‘
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1>) (i) (ii) (iii) (iv)

2>) (iv) (iii) (ii) (i)

3) (i) (iv) (iii) (ii)

4>) (iv) (ii) (iii) (i)

2) Match the following :

Country/Area Shifting Agriculture

a) India (ij) Ladang

b) Central America (ii) Roca

c) Brazil (iii) Milpa

d) Indonesia (iv) Jhum

Answer options:

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (i) (iv) (iii) (ii)

4) (iv) (ii) (iii) (i)

3) OJmVrb 15% ‘¥Xm H$moUË`m H$modù`m ‘mVrMm Amho?
1) Apë’$gmob 2) EÝQ>rgmob 3) ìh{Q©>gm°b 4) BZgopßQ>gm°b

3) Which young soil constitutes 15% of soils in the world ?

1) Alfisols 2) Entisols 3) Vertisols 4) Inceptisols

4) hdm‘mZ ~XbmMm gH$mamË‘H$ n[aUm‘ Am{U bm§~boë¶m H¥$fr h§Jm‘m‘wio .......... àXoem‘Ü¶o  OmñV CËnmXZmMr e³¶Vm
Agob.
1) g‘erVmoîU 2) CîUH${Q>~§Yr` 3) ewîH$ 4) Cn-AmÐ©

4) There will be positive effect of climate change on possibilities of higher yields in ............. areas

due to longer growing season.

1) temperate 2) tropical 3) arid 4) sub-humid

5) eoVrVyZ hmoUmè¶m hdoÀ¶m àXÿfUmMo ‘w»¶ ñdê$n H$moUVo Amho ?
1) gë’$a S>m¶ Am°³gmBS> 2) A‘mo{Z¶m 3) {‘WoZ 4) H$m~©Z ‘moZm°ŠgmB©S>

5) What is the main form of air pollution by agriculture ?

1) Sulphur dioxide 2) Ammonia 3) Methane 4) Carbon monoxide
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6) Imbrb {dYmZo nhm …
A) qgH$moZm PmS>m§Mm dmna {hdVmnmdarb Am¡fY {Z{‘©VrgmR>r Ho$bm OmVmo.
~) gZ 1855 ‘Ü¶o, bm°S>© S>bhm¡grZo dZ g§dY©ZmgmR>r BÝñno³Q>a OZab Am°’$ ’$m°aoñQ>Mr {Z¶wº$s Ho$br.
H$) ^maVmVrb g§a{jV dZmV Jwao MmaÊ¶mgmR>r nadmZJr AgVo.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ A ~amo~a Amho. 2) ’$º$ {dYmZ ~ ~amo~a Amho.
3) {dYmZ A Am{U ~ ~amo~a AmhoV. 4) {dYmZ A, ~, H$ ~amo~a AmhoV.

6) Observe the following statements :

a. Cincona Plant is used to produce medicine for Malaria.

b. In 1855, Lord Dalhousie appointed Inspector General of Forests for Forest conservation.

c. Cattle grazing is permitted in protected forests of India.

Answer Options :

1) Only statement a is correct. 2) Only statement b is correct.

3) Statements a and b are correct. 4) Statements a, b, c are correct.

3) OmJ{VH$ I{ZOo Am{U D$Om© g§gmYZo

1) XJS>r H$moiemVrb H$m~©ZÀ¶m à‘mUmZwgma H$moUVm CVaVm H«$‘ ~amo~a Amho ?
1) {~Qw>{‘Zg - A±W«mB©Q> - {c¾mB©Q> - nrQ> 2) {~Qw>{‘Zg - {c¾mB©Q> - A±W«mgmBQ> - nrQ>
3) A±W«mgmBQ> - {~Qw>{‘Zg - {c¾mB©Q> - nrQ> 4) A±W«mgmBQ> - {c¾mB©Q> - {~Qw>{‘Zg - nrQ>

1) Which descending order is correct as per percentage of carbon in coal ?

1) Bituminous - Anthracite - Lignite - Peat    2) Bituminous - Lignite - Anthracite - Peat

3) Anthracite - Bituminous - Lignite - Peat    4) Anthracite - Lignite - Bituminous - Peat

2) H°$ZS>m d ~«mPrb ho Xoe H$moUË¶m àH$maÀ¶m I{ZO joÌmV ¶oVmV ?
1) AË¶ën I{ZO g§gmYZ joÌ 2) ‘Ü¶‘ I{ZO g§gmYZ joÌ
3) A{YH$ I{ZO g§gmYZ joÌ 4) I{ZO g§gmYZ {dahrV joÌ

2) The countries Canada and Brazil come under which type of mineral resource area ?

1) Low mineral resource area 2) Medium mineral resource area

3) High mineral resource area 4) No mineral resource area

4) CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z

1) dmè¶mnmgyZ drO {Z{‘©Vr H$aÊ¶mgmR>r dmè¶mMm doJ H$‘rV-H$‘r {H$Vr {H$bmo‘rQ>a à{VVmg BVH$m Agbm nm{hOo?
1) 10 {H$.‘r. 2) 15 {H$.‘r. 3) 20 {H$.‘r. 4) 25 {H$.‘r.

1) How much minimum wind speed per hour is required to generate electricity from wind ? - .

1) 10km 2) 15km 3) 20km 4) 25 km



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ̂ yJmob / 47

For Private Circulation Only

6) ^maVr` CnI§S>mVrb ŷê$nemó,  hdm‘mZ d nO©Ý¶‘mZ, Z¡g{J©H$ g§nÎmr
1) ^maVr` CnI§S>mVrb ̂ yê$nemó
2) ^maVmMo hdm‘mZ
3) ^maVmMo nO©Ý¶‘mZ
4) ^maVmVrb Z¡g{J©H$ g§nÎmr

1) ^maVr` CnI§S>mVrb ŷê$nemó

2) ^maVmMo hdm‘mZ

1) ^maVr¶ hdm‘mZ {d^mJmZo 2021 ‘Yrb Vmn‘mZ Am{U nmdgmÀ¶m h§Jm‘m~Ôb Ahdmb Omhra Ho$bm AgyZ, 120
dfmªÀ¶m H$mbmdYrV 2021 ho df© XoemVrb ...... gdm©{YH$ CîU df© R>abo Amho.
1) Xþgao 2) nmMdo 3) ghmdo 4) Xhmdo

1) The Indian Meteorological. Department has published a report about temperature and monsoon

in the year 2021, according to which the year 2021 was the hottest year in the last 120 years.

1) 2nd 2) 5th 3) 6th 4) 10th

2) Or.Q>r. {ÌdmWm© ¶m§À¶m hdm‘mZ dJuH$aUmZwgma, npíM‘ {H$ZmanÅ>rdarb ‘¡XmZr ^mJ Am{U {Ìnwam amÁ¶mV Imbrbn¡H$s
H$moUË¶m àH$maMo hdm‘mZ Amho?
1) nd©Vr¶ AmÐ© hdm‘mZ 2) CîU H${Q>~§Yr¶ ewîH$ hdm‘mZ
3) CîU H${Q>~§Yr¶ nmdgmir (‘mÝgyZ) hdm‘mZ 4) CnmoîU H${Q>~§Yr¶ AmÐ© hdm‘mZ

2) As per G.T. Trewartha's climate classification, Western Coastal Plain and Tripura State exhibit

which of the following types of climate ?

l)  Humid Mountain Climate 2)  Tropical Arid Climate

3) Tropical Monsoon Climate 4)  Humid Sub-tropical Climate

3) ...... à^mdm‘wio X{jU ^maVmVrb Q>oH$S>çm§nojm {h‘mb`mÀ`m S>m|Jaam§Jm§‘Ü ò n¡byMm à^md OmñV {XgyZ òVmo.
1) Y«wd 2) C§Mr 3) dmam 4) {dfwdd¥Îm

3) The effect of aspect is more Pronounced in Himalayan hill ranges than in hills situated in Southern

India because of ...... effect.

1) Pole 2) Elevation 3) Wind 4) Equator

3) ^maVmMo nO©Ý¶‘mZ

1) Imbrb {dYmZo nmhm …
a) ^maVmV ‘mÝgyZ dmao nmhÊ¶mgmR>r 300 Vo 400 CVa Ajm§emÀ¶m nQ²>Q>çmV OoQ> dm ẁMo ApñVÎd H$maUr ŷV Amho.
b) ^maVmMm ŷ‘rI§S>mMm {dñV¥V ^mJ ‘mÝgyZ dmao H$maUr ŷV Amho.
n¶m©¶r CÎmao :
1) {dYmZ (a) ~amo~a Amho. 2) {dYmZ (b) ~amo~a Amho.
3) {dYmZ (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZ (a) Am{U (b) ~amo~a ZmhrV.
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1) Observe the following Statements :

a) The existence of jet streams in 30° to 40° degrees of latitude belt is responsible for blowing of

Monsoon winds in India.

b) The Vast continental area of India is responsible for blowing of Monsoon winds.

Answer Options :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statement (a) and (b) are correct 4) Statement (a) and (b) are not correct

2) {nH$mÀ`m Cn^mo½` dmnamgmR>r CnbãY Agboë`m EHy$U nmdgmÀ`m A§embm ........... åhUVmV.
1) ~mînr^dZ 2) nmdgmMr dma§dmaVm 3) à^mdr nmD$g 4) nmdgmMr Vrd«Vm

2) The fraction of the total rainfall available for the consumptive use of crop is called ...........

1) Evapotranspiration 2) Frequency of rainfall

3) Effective rainfall 4) Intensity of rainfall

4) ^maVmVrb Z¡g{J©H$ g§nÎmr

1) 2021 À`m AmH$S>odmarZwgma, ^maVmVrb dZjoÌmÀ`m VwbZoV ‘hmamï´> amÁ`mVrb dZjoÌ {H$Vr Q> o̧$ Amho?
1) 8% 2) 11% 3) 15% 4) 20%

1) As per the data of 2021, what is the percentage of forest area in Maharashtra State to that of

forest area in India ?

1) 8% 2) 11% 3) 15% 4) 20%

2) 2021 ‘Ü ò KZXmQ> dZmÀN>m{XV joÌmÀ`m Ñï>rZo 'Q>m°n ’$mBìh ñQ>oQ²g' Mm JQ> {ZdS>m.
1) ‘Ü` àXoe, AéUmMb àXoe, N>ÎmrgJS>, {‘Pmoam‘, Ho$ai
2) {‘Pmoam‘, AéUmMb àXoe, ‘oKmb`, ‘{Unya, ZmJmb±S>
3) AéUmMb àXoe, ‘hmamï´>, Amo{S>em, N>ÎmrgJS>, ‘Ü` àXoe
4) ‘Ü` àXoe, N>ÎmrgJS>, AéUmMb àXoe, Amo{S>em, H$Zm©Q>H$

2) Select the group of ‘Top Five States’ in terms of dense forest cover area in 2021.

1) Madhya Pradesh, Arunachal Pradesh, Chhattisgarh, Mizoram, Kerala

2) Mizoram, Arunachal Pradesh, Meghalaya, Manipur, Nagaland

3) Arunachal Pradesh, Maharashtra, Odisha, Chhattisgarh, Madhya Pradesh

4) Madhya Pradesh, Chhattisgarh, Arunachal Pradesh, Odisha, Karnataka

3) OmoS>çm Owidm …
amḯ>r¶ CÚmZo/A^¶maÊ¶           amÁ¶

a) ~m§Xrnya i) amOñWmZ
b) Ho$AmobmXod ii) Amgm‘
c) B§ÐmdVr iii) H$Zm©Q>H$
d) ‘mZg iv) N>ÎmrgJT>
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n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (ii) (iv) (iii) (i)

3) (iv) (iii) (i) (ii)

4) (iii) (i) (iv) (ii)

3) Match the following :

National Park/Sancturary     State

a) Bandipur i) Rajasthan

b) Keoladeo ii) Assam

c) Indravati iii) Karnataka

d) Manas iv) Chattisgarh

Answer Options :

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (ii) (iv) (iii) (i)

3) (iv) (iii) (i) (ii)

4) (iii) (i) (iv) (ii)

7) ^maVmVrb à‘wI ^m¡{VH$ àXoe - {h‘mb`, nd©V, nR>ma, dmid§Q> joÌ, {H$Zmar ^mJ,
~oQ>o. ZÚm Am{U àH$ën

1) ^maVmVrb nd©Vam§Jm -{h‘mb`, gømÐr, nyd©KmQ>
2) ^maVmVrb ‘¡XmZr àXoe
3) ^maVmVrb  nR>mao, dmid§Q> joÌ
4) ^maVmVrb{H$Zmar ̂ mJ, ~oQ>o
5) ^maVmVrbZÚm Am{U àH$ën

1) ^maVmVrb nd©Vam§Jm -{h‘mb`, gømÐr, nyd©KmQ>

1) H$mamH$moa‘ nd©V loUr Am{U nra nm§Omb nd©V loUr‘Ü¶o H$moUVr nd©V loUr AmT>iVo ?
1) PmñH$a nd©V loUr 2) nm‘ra nd©V loUr 3) {edm{cH$ nd©V loUr 4) {H$W©a nd©V loUr

1) Which mountain range is found between Karakoram mountain range and Pir Panjal mountain

range ?

1) Zaskar mountain range 2) Pamir mountain range

3) Shivalik montain range 4) Kirthar mountain range

2) OmoS>çm Owidm.
{h‘I§S> {R>H$mU

a) {g¶m{MZ i) H$mí‘ra
b) ar‘mo ii) H$mamH$moa‘
c) J§JmoÌr iii) CÎmamI§S>
d) Po‘y iv) {g¸$s‘



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ̂ yJmob / 50

For Private Circulation Only

n¶m©¶r CÎmao …
(a) (b) (c) (d)

1) (iii) (iv) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (ii) (i) (iii) (iv)

4) (iv) (iii) (i) (ii)

2) Match the following :

Glacier      Place

a) Siachin i) Kashmir

b) Rino ii) Karakoram

c) Gangotri iii) Uttarkhand

d) Zemu iv) Sikkim

Answer Options :

(a) (b) (c) (d)

1) (iii) (iv) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (ii) (i) (iii) (iv)

4) (iv) (iii) (i) (ii)

3) Imbrb nd©VloUtMm X{jUoH$Sy>Z CÎmaoH$S>o Agm AMyH$ H«$‘ AmoiIm.
1) {edm{bH$ nd©V, ~¥hX {h‘mb¶, PmñH$a nd©V, nranm§Omb nd©V, bS>mI nd©V, H$mamH$moa‘ nd©V
2) {edm{bH$ nd©V, nranm§Omb nd©V, ~¥hX {h‘mb¶, PmñH$a nd©V, bS>mI nd©V, H$mamH$moa‘ nd©V
3) {edm{bH$ nd©V, PmñH$a nd©V, nran§Omb nd©V, bS>mI nd©V, ~¥hX {h‘mb¶, H$mamH$moa‘ nd©V
4) {edm{bH$ nd©V, nranm§Omb nd©V, PmñH$a nd©V, bS>mI nd©V, H$mamH$moa‘ nd©V, ~¥hX {h‘mb¶

3) Arrange in correct order the following mountain ranges from the South to North.

1) Shivalik range, Greater Himalayas, Zaskar range, Pirpanjal range, Ladakh range, Karakoram

range.

2) Shivalik range, Pirpanjal range, Greater Himalayas, Zaskar range, Ladakh range, Karakoram

range.

3) Shivalik range, Zaskar range, Pirpanjal range, Ladakh range, Grater Himalayas, Karakoram

range.

4) Shivalik range, Pirpanjal range, Zaskar range, Ladakh range, Karakoram range, Greater Himalayas.

2) ^maVmVrb ‘¡XmZr àXoe

1) Imbrbn¡H$s H$moUVm ‘¡XmZr àXoe X{jU ^maVmMo YmÝ¶mMo H$moR>ma åhQ>bm OmVmo ?
1) CËH$bMo ‘¡XmZ 2) Am§Y«Mo ‘¡XmZ 3) Vm{‘iZmSy>Mo ‘¡XmZ 4) {MëH$m ‘¡XmZ

1) Which of the following plain is called Granary of South India ?

1) Utkal plain 2) Andhra plain 3) Tamilnadu plain 4) Chilka plain



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ̂ yJmob / 51

For Private Circulation Only

2) Imbrbn¡H$s H$moUVr {dYmZo ^m~a ‘¡XmZm~m~V ~amo~a AmhoV ?
a) gpÀN>ÐVm ‘moR>çm à‘mUmda Agë¶m‘wio N>moQ>çm ZÚm AÑí¶ hmoVmV.
b) ^m~a nÅ>m {nH$m§gmR>r Cn¶wº$ Amho.
c) ^m~a nQ²>Q>çmV dmñVì¶ H$aUmao bmoH$ newnmbZ H$aUmao JwOa AmhoV.
n¶m©¶r CÎmao …
1) {dYmZ (a) Am{U (b) 2) {dYmZ (b) Am{U (c)

3) {dYmZ (a) Am{U (c) 4) {dYmZ (a), (b) Am{U (c)

2) Which of the following statements are correct about Bhabhar Plains?

a) The porosity is very high and hence small rivers disappear.

b) The Bhabhar tract is suitable for crops.

c) The inhabitants of the Bhabhar Plains are cattle-keeping Guijars,

Answer Options:

1) Statements (a) and (b) 2) Statements (b) and (c)

3) Statements (a) and (c) 4) Statements (a), (b) and (c)

3) Imbrb OmoS>çm bmdm …
ñV§̂ -I (àXoe)                ñV§̂ -II (d¡{eîQ>ço)
A) ^m§Ja i) ZdrZ Jmi
~) ImXa ii) AmogmS>, jma¶wº$, ewîH$ CÎma àXoemVrb ^mJ
H$) H$„ma iii) OwZm Jmi
S>) VamB© iv) ^m~a‘Ü¶o AÑí¶ Pmbobo AmoT>o nwÝhm {XgVmV
n¶m©¶r CÎmao …

A ~ H$ S>
1) iv i iii ii

2) i iii ii iv

3) iii i ii iv

4) iii i iv ii

3)  Match the following :

Column I (Region) Column II (Characteristics)

a. Bhangar i, New alluvium

b. Khadar ii. Barren, saline, dryer areas in Uttar Pradesh

c. Kallar iii, Old alluvium .

d. Terai iv. Streams disappeared in bhabar reappear

Answer Options :

a b c d

1) iv i iii ii

2) i iii ii iv

3) iii i ii iv

4) iii i iv ii
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3) ^maVmVrb  nR>mao, dmid§Q> joÌ

1) OmoS>çm bmdm …
ñV§̂ -I    ñV§̂ -II

a) Kw‘Q>mH$ma nR>ma (i) X»IZ nR>ma
b) Ádmbm‘wIr nR>ma (ii) qdÜ¶ nR>ma
c) gmonmZmH$ma nR>ma (iii) N>moQ>mZmJnya nR>ma
d) {JarnmX nR>Ama (iv) {ebm±J nR>ma
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1>) (i) (iii) (iv) (ii)

2>) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4>) (iv) (ii) (i) (iii)

1) Match the following:

Column I Column IT

a) Dome-shaped Plateau (i) Decean Plateau

b) Volcanic Plateau (ii) Vindhya Plateau

c) Step-like Plateau (iii) Chota Nagpur Plateau

d) Piedmont Plateau  (iv) Shillong Plateau

Answer Options:

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (ii) (iv) (iii) (i)

3) (iii) (i) (ii) (iv)

4) (iv) (ii) (i) (iii)

4) ^maVmVrb{H$Zmar ^mJ, ~oQ>o

1) bjÛrn Am{U {‘{ZH$m°¶ ~oQ>o {d^º$ Pmbr AmhoV -
1) AmR> A§e M°Zb‘wio 2) ZD$ A§e M°Zb‘wio
3) Xhm A§e M°Zb‘wio 3) eyÝ¶ A§e M°Zb‘wio

1) The Laccadive islands and Minicoy islands are separated by

1)  Eight Degree Channel 2) Nine Degree Channel

3)  Ten Degree Channel 4) Zero Degree Channel

2) Aa~r g‘wÐmVrb bjÛrn ho ~oQ>g‘wh CÎmaoH$S>o d X{jUoH$S>o ¶m ZmdmZo AmoiIbr OmVmV.
1) H$adÎmr d  {‘{ZH$m°¶ 2) A‘rZXrdr d H$ÞZmoa
3) ZmaH$m|S>‘ d ~°aZ 4) A§X‘mZ d {ZH$mo~ma

2) The islands of Lakshadweep in the Arabian Sea are known as Betsamuh North and South.

1) nd Karavatti  and Minicoy 2) Amindivi and Kannanor

3) Narcondam and Barron 4) Andaman and Nicobar
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5) ^maVmVrb ZÚm Am{U àH$ën

1) Imbrb {dYmZo nhm …
a) Pob‘ hr qgYy ZXrMr CnZXr AgyZ Am{U Vr CÎma gamodamVyZ Amho.
b) gVbO hr qgYy ZXrMr X{jUoH$S>rb CnZXr Amho.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ (a) ~amo~a Amho. 2) ’$º$ {dYmZ (b) ~amo~a Amho.
3) {dYmZ (a) Am{U (b) ~amo~a AmhoV. 4) {dYmZ (a) Am{U (b) ~amo~a ZmhrV.

1) Observe the following statements:

a) Jhelum is a tributary of River Indus and flows through Lake Wular.

b) Sutlej is a southern tributary of River Indus.

Answer Options:

1) Only statement (a) is correct 2) Only statement (b) is correct

3) Statements (a) and (b) are correct 4) Statements (a) and (b) are incorrect

2) ¶mo½¶ OmoS>r emoYm …
YaUo/¶moOZm ZÚm amÁ¶o
a) {Q>har YaU (i) H$mdoar (I) Oå‘y-H$mí‘ra
b) XþbhñVr ¶moOZm (ii) ^mJraWr (II) amOñWmZ
c) {edg‘wÐ YaU (iii) M§~i (III) CÎmamI§S>
d) amUm àVmn gmJa ¶moOZm (iv) {MZm~ (IV) H$Zm©Q>H$
n¶m©¶r CÎmao …
1>) (c) (i) (IV)

2>) (a) (iv) (I)

3) (d) (ii) (III)

4>) (b) (iii) (III)

2) Find the correct pair:

Dams/Projects Rivers States

a) Tehri Dam Gi) Kaveri (I) Jammu & Kashmir

b) Dulhasti Project (ii) Bhagirathi (II) Rajasthan

c) Shivasamudra Dam Gii) Chambal (III) Uttarakhand

d) Rana Pratap Sagar Project (iv) Chenab (IV) Karnataka

Answer options :

1) (c) (i) (IV)

2) (a) (iv) (I)

3) (d) (ii) (III)

4) (b) (iii) (III)

3) JwOamV amÁ¶mVrb CH$mB© hm ~hþCÔoer¶ àH$ën H$moUË¶m ZXrda dgbobm Amho ?
1) gm~a‘Vr 2) Vmnr 3) ‘mhr 4) Z‘©Xm

3) The multipurpose Project of Gujarat ’ Ukai’ is situated on which River ?

1) Sabarmati 2) Tapti 3) Mahi 4) Narmada
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4) ^maVmVrb ZÚm d Ë¶m§À¶mdarb Y~Y~o ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
    ZXr       Y~Y~o
a) eamdVr i) {edg‘wÐ‘
b) Z‘©Xm ii) JmoH$mH$
c) H$mdoar iii) OmoJ
d) KQ>à^m iv) H${nbYmam
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iv) (i) (ii) (iii)

4) Match the pairs of Indian rivers and waterfalls on it :

      River       Waterfall

a) Sharawati i) Shibsamudram

b) Narmada ii) Gokak

c) Kaveri iii) Jog

d) Ghatprabha iv) Kapildhara

Answer Options  :

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iv) (i) (ii) (iii)

5) Imcrc {dYmZm§Mo narjU H$am d ¶mo½¶ n¶m©¶ {ZdS>m.
{dYmZ A : qgYy ZXrÀ¶m nmÌmVrc "‘mOwcr" ho OJmVrc gdm©V ‘moR>o ZXrMo ~oQ> Amho.
{dYmZ ~ : ~«÷nwÌm ZXrcm {V~oQ> ‘Ü¶o "{Xhm§J" Am{U AéUmMc àXoem‘Ü¶o "Ëgm§Jnmo" ¶m ZmdmZo AmoiIco OmVo.
n¶m©¶r CÎmao :
1) {dYmZ A Am{U {dYmZ ~ XmoÝhr ~amo~a AmhoV 2) {dYmZ A ~amo~a AgyZ Am{U {dYmZ ~ MyH$ Amho.
3) {dYmZ A MyH$ AgyZ Am{U {dYmZ ~ ~amo~a Amho 4) {dYmZ A Am{U {dYmZ ~ XmoÝhr MyH$ AmhoV.

5) Examine the following statements and choose the correct option.

Statement  A : The world's largest River Island 'Majuli' is in Sindhu river bed.

Statement B : In Tibet, river Brahmaputra is known as 'Dihang' and in Arunachal Pradesh, as

"Tsangpo'.

Answer options :

1) Statement A and Statement B both are correct.

2) Statement A  is correct and Statement B is wrong

3) Statement A is wrong and Statement B is correct

4) Statement A and Statement B both are wrong

6) H$mogr ZXrÀ¶m nmÌ ~Xbm‘wio Imbrbn¡H$s H$moUË¶m amÁ¶mVrb gdm©{YH$ {Oëøm§Zm Zoh‘r nwamMm VS>mIm ~gVmo ?
1) PmaI§S> 2) {~hma Am{U CÎma àXoe   3) {~hma 4) CÎma àXoe
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6) Majority districts of which state are affected by the floods due to change in the course of river

Kosi ?

1) Jharkhand 2) Bihar and Uttar Pradesh

3) Bihar 4) Uttar Pradesh

7) {h‘mMb àXoemVrb ^mH«$m ho YaU H$moUË¶m ZXrda ~m§YÊ¶mV Ambo Amho ?
1) gVbO 2) amdr 3) {MZm~ 4) {~¶mg

7) In Himachal Pradesh the Bhakra dam built on which river ?

1) Sutlej 2) Ravi 3) Chenab 4) Beas

8) Vmnr ObàUmbrMr bm§~r {H$Vr Amho ?
1) 540 {H$‘r 2) 762 {H$‘r 3) 900 {H$‘r 4) 724 {H$‘r

8) The total length of Tapi River is :

1) 540 km 2) 762 km 3) 900 km 4) 724km

9) Imbr {Xboë¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
ZÚm CJ‘ñWmZo

a) H¥$îUm i) ~«÷{Jar S>m|Ja
b) JmoXmdar ii) ‘hmXod S>m|Ja
c) Vmnr iii) ‘¡H$b S>m|Ja
d) Z‘©Xm iv) gømÐr n¶ªV
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (ii) (i)

4) (i) (iv) (ii) (iii)

9) Match the following suitable pairs :

River Rising place

a) Krishna i) Brahmagiri hill

b) Godawari ii) Mahadev hill

c) Tapi iii) Maikal hill

d) Narmada iv) Sahyadri Mountain

Answer options :

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iv) (i) (ii) (iii)

3) (iii) (iv) (ii) (i)

4) (i) (iv) (ii) (iii)
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10) ^maVmVrb à‘wI ZÚm d Ë¶mMr EHy$U bm§~r ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
ZXr bm§~r ({H$.‘r.)

a) qgYy i) 2960
b) J§Jm ii) 1312
c) ~«÷nwÌm iii) 2880
d) Z‘©Xm iv) 2525
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (i) (ii) (iv) (iii)

3) (iii) (iv) (i) (ii)

4) (ii) (iii) (iv) (i)

10) Match the correct pairs of major rivers in India and its total length :

River Length (k.m.)

a) Sindhu i) 2960

b) Ganga ii) 1312

c) Brahmaputra iii) 2880

d) Narmada iv) 2525

Answer options :

(a) (b) (c) (d)

1) (iii) (i) (iv) (ii)

2) (i) (ii) (iv) (iii)

3) (iii) (iv) (i) (ii)

4) (ii) (iii) (iv) (i)

11) ^mH«$m-ZmZJc àH$ën ........, ............., ................., amÁ¶m§er g§~§{YV Amho.
1) CÎma àXoe, CÎmamI§S>, {~hma 2) {~hma, PmaI§S>, npíM‘ ~§Jmb
3) n§Om~, h[a¶mUm, amOñWmZ 4) ‘Ü¶ àXoe, n§Om~, h[a¶mUm

11) Bhakra Nangal Project is related with ........., ........., ......... States.

1) Uttar Pradesh, Uttarakhand, Bihar 2)  Bihar, Jharkhand, West Bengal

3)  Punjab, Haryana, Rajasthan 4) Madhya Pradesh, Punjab, Haryana

12) CH$mB© Am{U H$mH«$mnma ObqgMZ àH$ën H$moUË¶m ZXrda AmhoV ?
1) Z‘©Xm Am{U Vmnr 2) ‘hmZXr 3) gm~a‘Vr Am{U Z‘©Xm 4) Vmnr

12) The Ukai and Karapara irrigation projects are situated on the river :

1) Narmada and Tapi 2) Mahanadi 3) Sabarmati and Narmada 4) Tapi

13) ^maVmVrb ZXrOmoS> àH$ën A§VJ©V H°$ßQ>Z XñVya ¶m§Zr hr ¶moOZm gwM{dbr …
1) J§Jm-H$mdoar àH$ën 2) ‘mbm H$mbdm àH$ën
3) ~«÷nwÌm - J§Jm àH$ën 4) Ho$Z - ~oVdm àH$ën

13) Captain Dastur proposed this project under River Linking Project in India :

1) Ganga - Kaweri project 2) Mala canal project

3) Brahmaputra - Ganga project 4) Ken - Betwa project
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14) gZ 2010-11 ‘Ü¶o ^maVm‘Ü¶o H$moUË¶m òmoVm‘wio 60 Q>³³¶mnojm OmñV joÌ Amo{bVmImbr hmoVo ?
a) H$mbdo b) Cngm qgMZ c) Vbmd d) {dhrar d Hy$nZ{cH$m
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (b) 2) ’$º$ (c)

3) ’$º$ (a), (b) Am{U (c) 4) ’$º$ (d)

14) Which sources irrigated more than 60 percent area in India in 2010 — 11 ?

(a)  Canals (b)  Lift irrigation (c) Tanks (d)  Wells and tubewells

Answer Options :

1) Only (a) and (b) 2) Only (c) 3)  Only (a), (b) and (c) 4)  Only (d)

8) ^maVmVrb bmoH$g§»`m, ^mfm, O‘mVr, d§e, ñWmZo Am{U gr‘m, ^m¡Jmo{bH$ amOH$maU
1) ^maVmVrb bmoH$g§»`m
2) bmoH$g§»`m ñWbm§Va
3) ^maVmVrb O‘mVr, d§e Am{U ̂ mfm
4) gm_m{OH$ ̂ yJmoc , dgmhVr
5) amOH$s` ̂ yJmob - àemgH$s` {d^mJ, ñWmZo Am{U gr‘m

1) ^maVmVrb bmoH$g§»`m

1) 2011 À`m OZJUZoZwgma ............ Q> o̧$ bmoH$g§»`m ^maVmVrb eoVr Am{U g§b¾ H$m‘m§‘Ü ò Jw§Vbobr Amho.
1) 74-7 2) 60-5 3) 54-6 4) 65:1

1) As per the Census 2011 .............. percent of the population is engaged in agriculture and allied

activities in India.

1) 74-7 2) 60-5 3) 54-6 4) 65:1

2) gmjaVm XamVrc H«$‘dmarZwgma ^maVmVrc Imcrc amÁ¶m§Mm H«$‘ cmdm. (OZJUZm 2011)
a)$‘hmamï´> b)${h‘mMc àXoe c)${X„r d)$Vm{‘iZmSy>
n¶m©¶r CÎmao …
1) (d), (c), (b), (a) 2) (c), (b), (d),(a) 3) (b), (c), (a), (d) 4) (c), (b), (a), (d)

2) Arrange the following States of India (Census 2011)

(a)  Maharashtra (c)  Delhi (b)  Himachal Pradesh (d)  Tamil Nadu

Answer Options :

1)  (d), (c), (b), (a) 2)  (c), (b), (d), (a) 3)  (b), (c), (a), (d) 4)  (c), (b), (a), (d)

3) Imcrcn¡H$s ^maVmVrc cmoH$g§»¶mdmT>rMr H$maUo H$moUVr AmhoV ?
a)$OÝ‘Xa d d ‘¥Ë¶wXamVrc V’$mdV b)${ddmhmMr gmd©{ÌH$Vm
c)$chmZ d¶mV  {ddmh d)~hþnËZrËd
n¶m©¶r CÎmao …
1) ’$º$ (a)$ 2) (a)$Am{U (c)$ 3) (a),(c)$Am{U (d)$ 4) darcn¡H$s gd©
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3) Which of the following are the reasons for population growth in India ?

(a)  The difference between birth rate and mortality rate     (b)  The universality of marriage

(c)  Marriage at an early age                    (d)  Polygamy

Answer Options :

l)  Only (a) 2)  (a) and (c) 3)  (a), (c) and (d) 4)  All of the above

4) gZ 1981 Vo 2011 ¶m H$mbmdYrVrb ^maVr¶ bmoH$g§»¶m dmT> Am{U H$mb gmnoj ~Xb H$moUVr bmoH$g§»¶m g§H«$‘U
AdñWm Xe©{dVo?
1) Cƒ bmoH$g§»¶m dmT>rMm H$mbmdYr, Varhr KQ>Vm H$b  2) ObX bmoH$g§»¶m dmT>rMm H$mbmdYr
3) bmoH$g§»¶m dmT>rVrb gmVË¶  4) pñWa bmoH$g§»¶m H$mbmdYr

4) India's population growth and temporal changes during 1981 to 2011 indicates the population

transition stage of

1)  Period of High growth with declining trend 2)  Period of Rapid growth

3)  Period of Steady growth 4)  Period of stagnant growth

5) ^maVmVrc cmoH$g§»¶m YmoaU Imcrcn¡H$s H$moUË¶m ~m~rg àmoËgmhZ XoVo ?
1) ‘{hcm§Mo AÜ`mË‘            2) ~oH$m¶Xoera J ©̂nmV
3) Hw$Qw>§~mÀ¶m ‘moR>çm AmH$mam‘wio gm‘m{OH$ g§H$Q>m§Mm à{V~§Y hmoVmo.  4) Hw$Qw>§~mMm chmZ AmH$ma

5) Indian population policy promote which of the following ?

1) Women spirituality 2) Illegal abortions

3) Larger Family size protects from social evils 4) Small family size

6) ^maVmVrc dmT>Vr cmoH$g§»¶m {Z¶§{ÌV H$aÊ¶mgmR>r àm‘w»¶mZo H$moUVo/Vr Cnm¶¶moOZm H$aUo AË¶mdí¶H$ Amho ?
a) ~mc‘¥Ë¶wXamV dmT> b) nwéfm§Mm amoOJma c) ‘wctÀ¶m {dc§{~V {ddmhmg àmoËgmhZ
d) OÝ‘XamV dmT>
n¶m©¶r CÎmao  :
1) ’$º$ (d) ~amo~a 2) ’$º$ (a) ~amo~a
3)  ’$º$ (c) ~amo~a 4) (b) Am{U (c) ~amo~a

6) In order to control the population growth in India which of the following measure/s is/are important?

a) Increase in infant mortality rate

b) Employment to men

c) To promote late marriages of the girls

d) To promote fertility rate

Answer option :

1) Only (d) is correct 2) Only (a) is correct

3)  Only (c) is correct 4) (b) and (c) correct

7) cmoH$g§»¶m OZJUZo ‘YyZ H$m¶ kmV hmoVo ?
a) cmoH$g§»¶oMo qcJ à‘mU b) OZZ Xa
c) cmoH$g§»¶oMr J{VercVm (ñWcm§Va) d) J«m‘rU - ZmJar àXoemV amhUmar cmoH$g§»¶m
n¶m©¶r CÎmao  :
1) ’$º$ (a) ~amo~a 2) ’$º$ (c) ~amo~a
3)  ’$º$ (d) ~amo~a 4) darc gd© ~amo~a
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7) What we comprehend from the population census ?

a)  Sex ratio of the population b) Rate of fertility

c) Mobility of the population d) People living in rural - urban area

Answer option :

1) Only (a) is correct 2) Only (c) is correct

3)  Only (d) is correct 4) All the above correct

2) bmoH$g§»`m ñWbm§Va

3) ^maVmVrb O‘mVr, d§e Am{U ^mfm

1) Am¶© Ð{dS> O‘mVr ^maVmÀ¶m H$moUË¶m ^mJmV AmT>iyZ ¶oVmV ?
1) n§Om~, h[a¶mUm, H$mí‘ra 2) CÎma àXoe, {~hma, amOñWmZ
3) ‘hmamï´>, Ho$ai, JwOamV 4) ~§Jmb, Amo[agm

1) Arya Dravidian tribes are found in which part of India?

1) Punjab, Haryana, Kashmir 2) Uttar Pradesh, Bihar, Rajasthan

3) Maharashtra, Kerala, Gujarat 4) Bengal, Orissa

2) ^maVmVrb Am{X‘ O‘mVrV gd©gmYmaUnUo {H$Vr àH$aUmMr ¶wdmJ¥ho nhmd¶mg {‘iVmV ?
1) gmV 2) VrZ 3) nmM 4) Mma

2) How many youth homes are generally found in primitive tribes of India?

1) Seven 2) Three 3) Five 4) Four

3) 19 ì¶m eVH$m‘Ü¶o {‘Pmoam‘‘Yrb 50 Vo 80% Am{XdmgtZr H$moUVm Y‘© ñdrH$mabm ?
1) ‘wñbr‘ 2) ~m¡Õ 3) {¼íMZ 4) nmagr

3) 50 to 80% of tribals in Mizoram adopted which religion in 19th century?

1) Muslim 2) Buddhist 3) Christian 4) Parsi

4) gm_m{OH$ ŷJmoc, dgmhVr

1) ^maVmVrb Imbrbn¡H$s H$moUVo amÁ¶ 100 Q> o̧$ Hw$Qw>§~m§H$S>o Zi OmoS>Ur (H$Zo³eZ) Agbobo åhUOo 'ha Ka Ob amÁ¶'
åhUdbo OmUmao n{hbo amÁ¶ Amho?
1) ‘hmamï´> 2) Ho$ai 3) JwOamV 4) Jmodm

1) Which of the following is the first State in India to have 100 percent households with tap water

connection, that is ‘Har Ghar Jal Rajya’ ?

1) Maharashtra 2) Kerala 3) Gujarat 4) Goa

2) ~w§XobI§S> àXoemVrb J«m‘rU dgmhVr H$moUË¶m àH$maÀ¶m AmhoV?
1) dVw©imH$ma dgmhVr 2) {dIwaboë¶m dgmhVr 3) H|${ÐV dgmhVr 4) AY©H|${ÐV dgmhVr

2) What are the types of rural settlements in Bundelkhand region ?

1)  Circular Settlements 2)  Dispersed Settlements

3)  Compact Settlements 4)  Semi-compact Settlements
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3) Imcrcn¡H$s H$moUVo/H$moUVm KQ>H$ àm‘w»¶mZo XþîH$mi gX¥í¶ àXoemV {nÊ¶mÀ¶m nmÊ¶mda AË¶§V H|${ÐV VmU nS>Ê¶mg
H$maUr ŷV Pmcm/Pmco AmhoV ?
1) eoVr {dH$mg 2) Am¡Úmo{JH$aU 3) dmT>Vo eharH$aU 4) cmoH$m§Mo ñWcm§Va

3) Which of the following factor is/are responsible for highly localised pressure on freshwater

resources especially in drought prone areas ?

1) Development of Agriculture 2) Industrialization

3) Increasing Urbanisation 4) Migration of people

4) 2030 n¶ªV Imcrc KQ>H  40% nmÊ¶mMm VwQ>dS>m {Z‘m©U hmoÊ¶mg H$maUr ŷV hmoUma AmhoV :
a) AÞ CËnmXZmgmR>r VmU b) eharH$aU c) OcdmhVwH$sMr àJVr d) cmoH$g§»¶m dmT>
darcn¡H$s H$moUVm/Vo KQ>H$ VwQ>dS>m {Z‘m©U hmoÊ¶mg H$maUr ŷV hmoUma AmhoV ?
1) ’$º$ (a) Am{U (c) 2) ’$º$ (c) Am{U (d)

3) ’$º$ (c) 4) ’$º$ (a),(b) Am{U (d)

4) The following are some of the factors responsible for 40% shortfall of water by  2030 :

a)  Pressure of food production

b) Urbanisation

c) Development of water transport

d) Population growth

Which of the above factor/s is/are responsible for this shortfall ?

1) Only (a) and (c) 2) Only (c) and (d) 3) Only (c) 4) Only (a),(b) and (d)

5) gwa{jV nmÊ¶mMm òmoV CncãY Zgcoë¶m cmoH$m§Mo JQ> Imcr {Xco AmhoV.
a)  Jar~ cmoH$ b) J¡agmoB©§Zr ÌñV Pmcoco cmoH$ c) {ó¶m
darcn¡H$s cmoH$m§Mo H$moUVo JQ> ~amo~a AmhoV ?
1) ’$º$ (a) Am{U d (b) 2) ’$º$ (b) Am{U (c)

3) ’$º$ (c) 4) darc gd©
5) The following are some of the group of people who do not have access to safe water :

a) Poor people b) Disadvantaged people c) Women

Which of the above group of people is/are correct?

1) Only (a) and (b) 2) Only (b) and (c)

3) Only (c) 4) All the above

5) amOH$s` ŷJmob - àemgH$s` {d^mJ, ñWmZo Am{U gr‘m

1) ^maVmÀ¶m eoOmar amï´>m§Mr g§»¶m {H$Vr Amho ?
1) 7 2) 6 3) 8 4) 9

1) India is having how many neighbouring countries ?

1) 7 2) 6 3) 8 4) 9

2) Imbrbn¡H$s H$moUË¶m amÁ¶mMo ^m¡Jmo{bH$ joÌ’$i OmñV Amho?
1) amOñWmZ 2) ‘hmamï´> 2) CÎma àXoe 4) Am§Y« àXoe

2) Which of the following state has more geographical area ?

1) Rajasthan 2) Maharashtra 3) Uttar Pradesh 4) Andhra Pradesh
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3) Imbrb ^maVr¶ H|$Ðem{gV amÁ¶m§Mo MT>Ë¶m joÌ’$imZwgma ‘m§S>Ur H$ê$Z ¶mo½¶ H«$‘dmarMr {ZdS> H$am.
a) A§X‘mZ Am{U {ZH$mo~ma ~oQ>o b) bjÛrn c) M§XrJS>
d) XmXam Am{U ZJa hdobr e) nwSw>Moar
n¶m©¶r CÎmao …
1) (a), (d), (e), (c), (b) 2) (b), (a), (c), (d), (e)

3) (b), (c), (a), (e), (d) 4) (b), (c), (e), (d), (a)

3) Arrange the following according to ascending area of the Indian Union Territory and choose it

correct sequence :

a) Andaman and Nicobar Island b) Lakshadweep

c) Chandigarh d) Dadra and Nagar Haveli

e) Puducherry

Answer options :

1) (a), (d), (e), (c), (b) 2) (b), (a), (c), (d), (e)

3) (b), (c), (a), (e), (d) 4) (b), (c), (e), (d), (a)

4) Imbrbn¡H$s H$moUË¶m amÁ¶mÀ¶m gr‘m øm XmoZ Xoem§Zm bmJyZ AmhoV?
1) {Ìnwam 2) ‘{Unya 2) {‘Pmoam‘ 4) ZmJmb±S>

4) Which of the following State Shares its boundary with two Countries ?

1) Tripura 2) Manipur 3) Mizoram 4) Nagaland

9) ^maV : H¥$fr, dZñnVr, I{ZOo Am{U D$Om© g§gmYZo
1) ^maVmVrb H¥$fr joÌ
2) ^maVmVrb O{‘ZrMo àH$ma d à‘wI nrHo$
3) ^maVmVrb I{ZOo Am{U D$Om© g§gmYZo

1) ^maVmVrb H¥$fr joÌ, nmUbmoQ> ì¶dñWmnZ

1) ^maVmV XÿY CËnmXZmg MmbZm XoÊ¶mgmR>r XÿY ‘hmnya ¶moOZm gwê$ H$aÊ¶mV Ambr, Ë¶mMo ‘mJ©Xe©H$ ...... hmoVo.
1) A°bo³g Hw$[a¶Z 2) VmË¶mgmho~ H$moao 3) ‘mYd {MVio 4) dJug Hw$[a¶Z

1) The Dudh Mahapur scheme was launched to boost milk production in India, its guide was …….

1) Alex Kurien 2) Tatyasaheb Kore 3) Madhav Chitale 4) Varghese Kurien

2) g|{Ð` eoVrMr gm‘mÝ` VÎdo ............ AmhoV.
A) Cƒ CËnmXZmgh AÞ V`ma H$am. ~) eoVr ì`dñWoVrb O¡{dH$ MH«$m§Zm àmoËgmhZ XoUo d dmT>dUo.
H$) H¥$fr V§Ìm‘wio hmoUmao àXyfU Q>mim. S>) XrK©H$mimn ª̀V O{‘ZrMr gwnrH$Vm amIUo Am{U dmT>dUo.
n¶m©¶r CÎmao :
1) H$ Am{U S> ’$º$ 2) A Am{U ~ ’$º$ 3) ~, H$ Am{U S> ’$º$ 4) darb gd©

2) General principles of organic farming are to ............

a) produce food with high yield.

b) encourage and enhance biological cycles within the farming system.

c) avoid pollution resulting from agricultural techniques.

d) maintain and increase soil fertility in long run.
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Answer options :

1) c and d only 2) a and b only 3) b, c and d only 4) All of the above

3) eoVr nÕVrMo dJuH$aU àm‘w»`mZo ........... ‘Ü ò Ho$bo OmVo.
1) gm‘y{hH$ eoVr Am{U ‘emJVrMr eoVr. 2) nma§n[aH$ eoVr Am{U g|{Ð` eoVr.
3) gKZ eoVr Am{U AMyH$ eoVr. 4) nma§nm[aH$ eoVr Am{U AMyH$ eoVr.

3) Farming system is mainly classified into ...........

1) Collective farming and Cultivated farming.

2) Cenventional farming and Organic farming.

3) Intensive farming and Precision farming.

4) Conventional farming and Precision farming.

4) H¥${f Adf©U (XþîH$mi) Mr ‘hÎdmMr H$maUo åhUOo …
a) Anwao nmD$g‘mZ b) nmdgmMo A{Z`{‘V {dVaU
c) nmdgmMo XrK© I§S> d) ‘mÝgyZMo C{eam AmJ‘Z
n¶m©¶r CÎmao …
1) (a) Am{U (b) ~amo~a AmhoV 2) (a), (b) Am{U (c) ~amo~a AmhoV
3) (c) Am{U (d) ~amo~a AmhoV 4) gd© {dYmZo ~amo~a AmhoV

4) The important causes for agricultural drought are :

(a)  Inadequate precipitation (b)  Erratic distribution of rainfall

(c)  Long dry spell (d)  Late onset of Monsoon

Answer Options :

1)  (a) and (b) are correct 2)  (a), (b) and (c) are correct

3)  (c) and (d) are correct 4)  All are correct

5) H$moaS>dmhÿ joÌmV O{‘ZrVrb .............. hm ‘hÎdmMm àíZ Agë¶mZo ^anya à‘mUmV amgm¶{ZH$ IVm§Mm dmna H$aVm
¶oV Zmhr.
a) aMZm b) Vmn‘mZ c) Amob (nmUr) d) nmoV
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (c) 3) ’$º$ (a) Am{U (b) 4) ’$º$ (a) Am{U (d)

5) Chemical fertilizers on large scale cannot be used in dryland areas due to the problem of soil

(a)  Structure (b)  Temperature (c)  Moisture (d)  Texture

Answer Options :

1)  Only (a) 2)  Only (c) 3)  Only (a) and (b) 4)  Only (a) and (d)

6) Imbrbn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
a) bmoH$g§»¶oÀ¶m dmT>rgh, qgMZ joÌ dmT>V Amho Am{U H¥${f {dkmZmVrb àJVr‘wio, ~hþVoH$ {dñV¥V nrH$ nÕVr gYZ

nrH$ KoÊ¶mg ‘mJ© XoV AmhoV.
b) bmoH$g§»¶oÀ¶m dmT>rgh, qgMZ joÌ dmT>V Amho Am{U H¥${f {dkmZmVrb àJVr‘wio, ~hþVoH$ gYZ nrH$ nÕVr gYZ

nrH$ nÕVr nrH$ KoÊ¶mg ‘mJ© XoV AmhoV.
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) (a) Am{U (b) 4) H$moUVohr ~amo~a Zmhr
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6) Which of the following statements is correct ?

(a) With the increase in population, the  irrigated area is increasing and with advances in  agricul-

tural sciences, most of the extensive cropping patterns are giving way to intensive  cropping.

(b)  With the increase in population, the irrigated area is increasing and with advances in  agricul-

tural sciences, most of the intensive cropping patterns are giving way to extensive  cropping.

Answer Options :

1)  Only (a) 2) Only (b)    3)  (a) and (b)                4)  None of the above

7) ........... ho ì¶dñWmnZ V§Ì Amho Á¶m‘Ü¶o nmÊ¶mMm Anì¶¶ H$‘rV H$‘r Ho$bm OmVmo qH$dm nmÊ¶mMm AË¶§V H$m¶©j‘
nÕVrZo dmna Ho$bm OmVmo.
1) ‘¥Xg§YmaU 2) Obg§YmaU 3) ~mînmoÀN>dmg 4) PmS>oPwS>no

7) ............. is the management technique which eliminates the wastage of water or maximises the

efficiency of its use.

1)  Soil conservation 2)  Water convention

3)  Evapotranspiration 4)  Vegetation

8) nmUbmoQ> ì¶dñWmnZmMr C{Ôï>o H$moUVr AmhoV ?
a) àjoÌ Mmar {dH$grV/{Z‘m©U H$aUo b) O{‘ZrMm H$m¶©j‘ dmna
c) nya {Z¶§ÌU d) KaJwVr, H¥${f d Am¡Úmo{JH$ JaOmgmR>r nwaogm nmUr nwadR>m
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (d) 2) ’$º$ (b) Am{U (c)

3) ’$º$ (b), (c) Am{U (d) 4) ’$º$ (a), (b) Am{U (c)

8) What are the objectives of watershed management ?

(a)  Development of field channels

(b)  Efficient use of land

(c)  Flood control

(d)  Adequate water supply for domestic, agriculture and industrial needs

Answer Options :

1)  Only (a) and (d) 2)  Only (b) and (c)

3)  Only (b), (c) and (d) 4)  Only (a), (b) and (c)

9) A{YH$V‘ CËnmXZ Am{U nmUr dmna j‘Vm ho Ho$di .............. Ûmao e³¶ Amho.
1) ¶mo½¶ à‘mUmV Amobmdm 2) à‘mUera VmQ>m§Mr g§»¶m
3) ¶mo½¶ à‘mUmV IVm§Mm dmna 4) darbn¡H$s gd©

9) The maximum yield and water use efficiency is possible only through optimum

l)  Level of soil moisture 2) Plant population

3)  Fertilization 4) All of the above

10) Ooìhm qgMZmgmR>rMo nmUr ‘hmJ AgVo Voìhm qgMZ nwT>rb à‘mUo Ho$bo nm{hOo …
a) qgMZmMr dma§dmaVm dmT>dm
b) qgMZmMr dma§dmaVm H$‘r H$am
c) dmnaboë¶m àVr ¶w{ZQ> nmÊ¶mnmgyZ OmñVrV OmñV nrH$ CËnmXZ
d) àVr ¶w{ZQ> joÌmnmgyZ OmñVrV OmñV nrH$ CËnmXZ
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n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b) 3) ’$º$ (c) ’$º$ (d)

10) When irrigation water is expensive, irrigation should be scheduled to :

(a)  Increase the irrigation frequency

(b)  Decrease the irrigation frequency

(c)  Maximise crop production per unit of applied water

(d)  Maximum crop production per unit area

Answer Options :

1)  Only (a) 3)  Only (c) 2)  Only (b) 4)  Only (d)

11) nwT>rbn¡H$s H$moUVr nmdgmMo nmUr gmR>dU (ObnwZ ©̂aU) H$aÊ¶mMr C{Ôï>o AmhoV ?
a) añË¶mdarb nmÊ¶mMm nya Q>miÊ¶mgmR>r
b) ŷJ^m©Mr nmUr nmVir dmT>{dÊ¶mgmR>r
c) ŷJ^m©Vrb nmÊ¶mMo àXÿfU H$‘r H$aÊ¶mgmR>r
d) nmdgmÀ¶m nmÊ¶mMm Anj¶ d èhmg H$‘r H$aÊ¶mgmR>r
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) Am{U (c) 2) ’$º$ (b), (c) Am{U (d)

3) ’$º$ (a), (c) Am{U (d) 4) darbn¡H$s gd©
11) Which of the following are the objectives of rainwater harvesting ?

(a)  To avoid flooding of roads (b)  To raise the ground-water table

(c)  To reduce ground-water contamination (d)  To reduce run-off loss Answer Options :

Answer Options :

l)  Only (a), (b) and (c) 2)  Only (b), (c) and (d)

3)  Only (a), (c) and (d) 4)  All of the above

2) ^maVmVrb O{‘ZrMo àH$ma d à‘wI nrHo$

1) Imcrcn¡H$s H$moUVr amÁ¶o ŷ{‘JV nmÊ¶mda àM§S> VmU nS>ë¶mZo ÌñV Pmcr AmhoV ?
1) nyd© ‘hmamï´> - JwOamV 2)  X{jU Am{U nyd© ‘hmamï´> - amOñWmZ
3) amOñWmZ - n§Om~ 4) CÎma àXoe - {~hma

1) Which of the following states suffered from severe groundwater stress ?

1) Eastern Maharashtra - Gujrat 2)  South and Eastern Maharashtra-Rajasthan

3) Rajasthan - Punjab 3) Uttar Pradesh - Bihar

2) ^maVmV ...... ¶m {nH$mbm ""gwdU© V§Vy'' åhUVmV.
1) VmJ 2) bmoH$a 3) H$mnyg 4) aoer‘

2) In India 's called as a ‘Golden Fiber’ crop.

1) Jute 2) Wool 3) Cotton 4) Silk
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3) Iarn h§Jm‘mV Am°JñQ>À¶m n{hë¶m n§YadmS>çmV nmD$g gwê$ Pmë¶mg Imbrbn¡H$s H$moUVr {nHo$ ¿`mdrV ?
a) gỳ ©’y$c b) H$mnyg c) g§H$[aV ~mOar d) ^mV
n¶m©¶r CÎmao …
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b) Am{U (d) 3) ’$º$ (a) Am{U (d) 4) ’$º$ (b) Am{U (c)

3) Which of the following crops should be grown if the rains start in the first fortnight of August

during the Kharif season ?

(a)  Sunflower (c)  Hybrid pearl millet (b) Cotton (d)  Rice

Answer Options:

I)  Only (a) and (c) 2) Only (b) and (d) 3)  Only (a) and (d) 4) Only (b) and (c))

4) Imbrb {dYmZo {dMmamV ¿¶m …
a) 2012 ‘Ü¶o Jìhmnojm ‘³¶mMo dmñV{dH$ q¹$Q>b à{V ho³Q>a CËnmXZ A{YH$ hmoVo.
b) 2012 ‘Ü¶o Jìhmnojm Vm§XimMo (^mV) dmñV{dH$ q¹$Q>b à{V ho³Q>a CËnmXZ A{YH$ hmoVo.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ AmhoV ?
1) ’$º$ (a) ~amo~a Amho 2) ’$º$ (b) ~amo~a Amho.
3) (a) Am{U (b) ~amo~a AmhoV. 4) (a) Am{U (b) MyH$ AmhoV.

4) Consider the following statements :                                   .

(a) The actual yield per hectare, in quintals, of maize was higher than wheat in 2012.

(b) The actual yield per hectare, in quintals, of rice (paddy) was higher than wheat in 2012.

Which of the statements given above is/are correct ?

1)  Only (a) is correct 2)  Only (b) is correct

3)  (a) and (b) are correct 4)  (a) and (b) are incorrect

5) eoVr nÕVr‘Ü ò ~ma‘mhr dZñnVr§Mo nrH$ (~hþVoH$ e|Jm ẁº$) EH$Ì KoUo `mbm .......... åhUVmV.
1) {gëdr Hw$aUeoVr 2) nÅ>m /J„r nrH$ eoVr 3) H¥$fr-’$imMr Hw$aUeoVr 4) {‘l nrH$ eoVr

5) Integration of perennial plants (mostly leguminous) in the farming system is called ...............

1) silvi pasture 2) alley cropping 3) agri-horti pasture 4) mixed cropping

6) .......... ¶m nrH$ nÕVr‘Ü¶o bm§~ Am{U Aé§X nQ²>Q>çmV Yynog à{V~§Y H$aUmar {nHo$ (ngaQ> KZ dmT>Umar) Am{U Yynog
à{V~§Y Z H$aUmar {nHo$ (C^Q> dmT>Umar) EH$m AmS> EH$ nQ²>Q>çmV KoVbr OmVmV.
1) {‘l 2) Xþ~ma 3) nÅ>m 4) Am§VanrH$

6) ............. cropping is a system of crop production in which long and narrow strips of erosion

resisting  crops (close growing crops) are alternated with strips of erosion permitting crops

(erect growing  crops).

1)  Mixed 2)  Sequence 3)  Strip 4)  Inter

7) Imbrbn¡H$s H$moUË`m nrH$ nÕVrÀ`m ‘m{bHo$Vrb XmoÝhr {nH$m§Zm KQ>H$ {nHo$ åhUVmV?
1) OmoS> 2) ~Xbr 3) AZwH«$‘ 4) {‘{lV

7) In which of the following series of cropping system are both the crops called component crops ?

1) Additive 2) Replacement 3) Sequence 4) Mixed

8) Am§VanrH$m§‘Ü ò Ooìhm XmoÝhr {nHo$ ~Xbr ‘m{bHo$V KoVbr OmVmV Voìhm Ë`mbm Ago åhUVmV -
1) nH$S> nrH$ 2) gmnim nrH$ 3) KQ>H$ nrH$ 4) [abo nrH$
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8) In intercropping when both crops are cultivated in replacement series it is called as -

1) Catch crop 2) Trap crop 3) Component crop 4) Relay crop

9) Img ì¶dñWmnZ nÕVrZo O{‘ZrMr {nH$ CËnmXZ H$aÊ¶mMr j‘Vm d Or {nH$ CËnÞmV ‘moObr OmVo Ë¶mg ............
åhUVmV.
1) O{‘ZrMr gwnrH$Vm 2) O{‘ZrMr CËnmXH$Vm 3) O{‘ZrMr KZVm 4) ¶mn¡H$s Zmhr

9) .............  is the capacity of the soil to produce crops with specific systems of management and is

expressed in terms of yield.

1)  Soil fertility 2)  Soil productivity 3)  Soil density 4)  None of these

10) ^maVm‘Ü¶o O{‘ZrMr Yyn H$moUË¶m H$maUm‘wio hmoVo?
a) d¥jVmoS> b) Hw$aUm§Mm Zme c) ^Q>H$s eoVr d) A¶mo½¶ bmJdS>
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) (b), (c) Am{U (d) 4) darb gd©

10) What are the causes of soil erosion in India ?

(a)  Deforestation (b)  Destruction of grasslands

(c)  Shifting agriculture (d)  Wrong methods of cultivation

Answer options :

1)   Only (a) 2)  (a) and (b) 3)  (b), (c) and (d) 4)  All the above

3) ^maVmVrb I{ZOo Am{U D$Om© g§gmYZo

1) Amgm‘ ¶oWo ^maVmVrb gdm©V OmñV ...... Mo gmR>o CnbãY Amho.
1) I{ZO Vob 2) bmoh I{ZO 3) XJS>r H$moigm 4) darbn¡H$s Zmhr

1) Assam has the largest reservoirs of .............. in India.

1) Mineral oil 2) Iron ore 3) Coal 4) None of above

2) ^maVmV H$moigm ImUrMr gwédmV gd©àW‘ ............... ¶oWo Pmbr.
1) ‘Ü¶ àXoe 2) Amo[agm 3) npíM‘ ~§Jmb 4) Am§Y« àXoe

2) The Coal mining was first started in India in ..................

1) Madhya Pradesh 2) Orissa 3) West Bengal 4) Andhra Pradesh

3) ^maVmVrc H$moigm joÌo  CÎma Vo X{jU Aem ¶mo½¶ H«$‘mZo cmdm.
1) am§Mr, hOmar~mJ, dYm© Imoao, JmoXmdar Imoao 2) JmoXmdar Imoao, dYm© Imoao, hOmar~mJ, am§Mr
3) hOmar~mJ, am§Mr, dYm© Imoao, JmoXmdar Imoao 4) JmoXmdar Imao, dYm© Imoao, am§Mr, hOmar~mJ

3) Arrange the coal fields of Indian from North to South in the proper sequence.

1) Ranchi, Hazaribagh, Wardha Valley, Godavari Valley

2) Godavari Valley, Wardha Valley, Hazaribagh, Ranchi

3) Hazaribagh, Ranchi, Wardha Valley, Godavari Valley

4) Godavari Valley, Wardha Valley, Ranchi, Hazaribagh
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4) ^maVmVrb Z¡g{J©H$ dm¶y Am{U I{ZO Vob CËnmXH$ amÁ¶ åhUOo ......
1) Ho$ai 2) {h‘mMb àXoe 3) Jmodm 4) Amgm‘

4) The State which produces natural gas anal mineral oil in India is  .........

l)  Kerala 2) Himachal Pradesh 3) Goa 4)  Assam

5) I{ZO Vob CËnmXZm g§X^m©Vrb {dYmZo nhm.
a) ZyZ‘Vr Vob ewÕrH$aU H$maImZm ê$‘m{Z`mÀ`m ‘XVrZo C^mabm.
b)  ZyZ‘Vr Vob ewÕrH$aU H$maImZm Amgm‘ ‘Ü¶o Amho.
c) H$mo¶mbr Vob ewÕrH$aU H$maImÝ¶mg A§H$boœa ¶oWyZ AewÕ VobmMm nwadR>m Ho$bm OmVmo.
n¶m©¶r CÎmao …
1) {dYmZo (a) Am{U (b) ~amo~a AmhoV. 2) {dYmZo (b) Am{U (c) ~amo~a AmhoV.
3) {dYmZo (a), (b), (c) ~amo~a AmhoV. 4) {dYmZo (a), (b), (c) ~amo~a ZmhrV.

5) Observe the statements regarding mineral oil production.

a) Nunmati oil refinery established with the help of Rumania.

b) Nunmati oil refinery is located in Assam

c) The raw mineral oil is supplied to Koyali oil refinery from Ankleshwar

Answer Options :

1) Statements (a) and (b) are correct. 2) Statements (b) and (c) are correct.

3) Statements (a), (b), (c) are correct. 4) Statements (a), (b), (c) are correct.

6) OmoS>çm bmdm …
amÁ¶o Oc-{dÚwV àH$ën
A) H$Zm©Q>H$ I) XþJm©nya
~) npíM‘ ~§Jmc II) Jm§YrgmJa
H$) Amo{S>em III) {hamHy$S>
S>) ‘Ü¶ àXoe IV) Vw§J^Ðm
n¶m©¶r CÎmao …

 A ~ H$ S>
1) IV I III II

2) III II I IV

3) IV III II I

4) III IV II I

6) Match the following :

State Hydroelectric Project

a) Karnataka I) Durgapur

b) West Bengal II) Gandhisagar

c) Odisha III) Hirakud

d) Madhya Pradesh IV) Tungabhadra

Answer options :

(a) (b) (c) (d)

1) IV I III II

2) III II I IV

3) IV III II I

4) III IV II I
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7) Ooìhm Vwåhr X{jU ^maVmH$Sy>Z CÎma ^maVmH$S>o Omb Voìhm Vwåhmbm Imbrbn¡H$s AUwD$Om© àH$ënmMr H«$‘dmar {‘iob.
1) H¡$Jm, Vmamnya, H$mH«$mnma, amdV^mQ>m 2) H¡$Jm, H$mH«$mnma, amdV^mQ>m, Vmamnya
3) H¡$Jm, amdV^mQ>m, Vmamnya, H$mH«$mnma 4) amdV^mQ>m, H¡$Jm, Vmamnya, H$mH«$mnma

7) When you move from South India to NOrth India the correct sequence of Nuclear Power Plant

you will get is :

1) Kaiga, Tarapur, Kakrapara, Rawat Bhata 2) Kaiga, Kakrapara, Rawat Bhata, Tarapur

3) Kaiga, Rawat Bhata, Tarapur, Kakrapara 4) Rawat Bhata, Kaiga, Tarapur, Kakrapara

8) OmoS>çm Owidm.
bmohnmobmX CÚmoJ      amÁ¶
A) ~moH$mamo i) H$Zm©Q>H$
~) XþJm©nya ii) Amo{S>em
H$) ê$aHo$bm iii) n. ~§Jmb
S>) ^ÐmdVr iv) {~hma
n¶m©¶r CÎmao …

A ~ H$ S>
1) i ii iii iv

2) iv iii ii i

3) ii i iv iii

4) iii iv i ii

8) Match the following :

Iron and Steel Industry   State

a) Bokaro i) Karnataka

b) Durgapur ii) Odisha

c) Rourkela iii) West Bengal

d) Bhadrawati iv) Bihar

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iii) (iv)

2) (iv) (iii) (ii) (i)

3) (ii) (i) (iv) (iii)

4) (iii) (iv) (i) (ii)

10) ^maVmVrb CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, ehao, ì`mnma
1) ^maVmVrb CÚmoJ, ehao, ì`mnma
2) dmhVyH$ Am{U n ©̀Q>Z

1) ^maVmVrb CÚmoJ, ehao, ì`mnma

1) {^bmB© bmoh Am{U nmobmX CÚmoJ pñWV Agbobo amÁ¶ H$moUVo ?
1) npíM‘ ~§Jmb 2) Amo{S>em 3) N>ÎmrgJS> 4) ‘Ü¶ àXoe
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1) Bhilai Iron and Steel Industry is located in the state of :

1) West Bengal 2) Odisha 3) Chhattisgarh 4) Madhya Pradesh

2) ^maVmÀ¶m H$moUË¶m Am¡Úmo{JH$ àXoemg '^maVmMo èhÿa' åhUyZ AmoiIVmV?
1) H$mobH$mVm - hþJir Am¡Úmo{JH$ àXoe 2) Ah‘Xm~mX - dS>moXam Am¡Úmo{JH$ àXoe
3) ‘XþamB© - H$moB©å~Vya - ~§Jiwê$ Am¡Úmo{JH$ àXoe 4) N>moQ>m ZmJnya nR>mar Am¡Úmo{JH$ àXoe

2) Which industrial region of India is known as ’Ruhr of India’ ?

1)  Kolkata - Hooghly Industrial Region

2)  Ahmedabad - Vadodara Industrial Region

3)  Madurai - Coimbatore - Bengaluru Industrial Region

4)  Chota Nagpur Plateau Industrial Region

3) Imbrb {dYmZo nhm …
a) bmIoMo CËnmXZ bogr’$a b°̧ $m {H$S>çmnmgyZ hmoVo.
b) OJmV gdm©V OmñV bmIoMo CËnmXZ ^maVmV hmoVo.
c) ^maVmV go³¶w[aQ>r H$mJX ~Z{dÊ¶mMm H$maImZm hmoe§Jm~mX ¶oWo Amho.
n¶m©¶r CÎmao …
1) {dYmZo (a) Am{U (b) ~amo~a AmhoV. 2) {dYmZo (b) Am{U (c) ~amo~a AmhoV.
3) {dYmZo (a), (b) Am{U (c) ~amo~a AmhoV. 4) darb gd© {dYmZo ~amo~a ZmhrV

3) Observe the following statements :

a) Lac is produced from lacciferlacca insects.

b) India is the largest producer of lac in the world.

c) The security paper producing factory is at Hoshangabad

Answer options :

1) Statement (a) and (b) are correct 2) Statement (b) and (c) are correct

3) Statement (a), (b) and (c) are correct 4) All the above statements are incorrect

2) dmhVyH$ Am{U n ©̀Q>Z

1) 2019 Zwgma ^maVmVrb Xoem§VJ©V CËnÞmVrb n¶©Q>ZmMm dmQ>m {H$Vr Q> o̧$ Amho ?
1) 9.0% 2) 8.4% 3) 7.3% 4) 9.34%

1) What is the percent share of tourism in India’s domestic income as of 2019 ?

1) 9.0% 2) 8.4% 3) 7.3% 4) 9.34%

2) gßQ>|~a 2021 ‘Ü¶o amOñWmZ‘Yrb H$moUË¶m amï´>r¶ ‘hm‘mJm©da bT>mD$ {d‘mZo CVadbr ?
1) EZ.EM.Ama. - 602 2) EZ.EM. - 725 3) EZ.EM. - 225 4) EZ.EM. - 925

2) In September 2021, on which National Highway in Rajasthan were the fighter aeroplanes landed?

1) N.H.R.—602 2) N.H.-725 3)  N.H. — 225 4) N.H.—925

3) ^maVmVrb gdm©V bm§~ amï´>r¶ ‘hm‘mJ© ...... Amho.
1) NH 44 2) NH 01 3) NH 48 4) NH 06

3) The  longest  National Highway  in India is

1)  NH 44 2)  NH 01 3) NH 48 4) NH 06
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4) Imbrbn¡H$s eham§Mm H$moUVm g‘yh ñd{U©‘ MVŵ w©O amï´>r¶ ‘hm‘mJm©Zo OmoS>bobm Amho ?
1) Omc§Ya, A§~mbm, {X„r, O¶nya 2) ~§Jbmoa, MoÞB©, H$mobH$mVm, AmJ«m
3) Abmhm~mX, AmJ«m, bIZD$, JmoaInya 4) {demImnÅ>U‘, {dO¶dmS>m, h¡Ðm~mX, ~oiJmd

4) Which of the following group of cities are connected by Golden Quadrilateral National Highway

System ?

1) Jalandhar, Ambala, Delhi, Jaipur

2) Bangalore, Chennai, Kolkata, Agra

3) Allahabad, Agra, Lucknow, Gorakhpur

4) Vishakhapatanam, Vijaywada, Hydrabad, Belgaum

5) gwdU© MVŵ w©O ‘mJm©Vrb Imbrb ‘mJ© d Ë¶m§Mo A§Va ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
    ‘mJ© A§Va ({H$.‘r.)

a) {X„r-‘w§~B© i) 1453
b) ‘w§~B©-MoÞB© ii) 1684
c) MoÞB©-H$mobH$mVm iii) 1290
d) H$mobH$mVm-{X„r iv) 1419
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iv) (iii) (ii) (i)

5) Match the correct pairs of Roads and their respective distance in Golden Quadrilateral.

  Road Distance (k.m.)

a) Delhi-Mumbai i) 1453

b) Mumbai-Chennai ii) 1684

c) Chennai-Kolkata iii) 1290

d) Kolkata-Delhi iv) 1419

Answer options :

(a) (b) (c) (d)

1) (i) (iii) (iv) (ii)

2) (i) (ii) (iii) (iv)

3) (iii) (iv) (i) (ii)

4) (iv) (iii) (ii) (i)

6) ^maVmVrb X{jU aoëdoMo à‘wI H|$Ð ...... ¶oWo Amho.
1) h¡Ðm~mX 2) {Ìd|Ð‘ 3) ~§Jiwê$ 4) MoÞB©

6) The major hub of India's Southern Railway is located at …….

1) Hyderabad 2) Trivandrum 3) Bangalore 4) Chennai

7) Imbrbn¡H$s EH$ ^maVmÀ¶m npíM‘ {H$ZmanÅ>r darb ‘hÎdmMo ~§Xa Amho.
1) MoÞB© 2) hpëX¶m 3) H$m§S>bm 4) H$mobH$mVm
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7) One of the following is an important port situated on the west coast of India.

1) Chennai 2) Haldia 3) Kandla 4) Kolkata

8) ‘mJm©À¶m bm§~rZwgma ^maVr¶ aoëdoMm OJmV ...... Va ‘mbdmhVwH$sZwgma {VMm OJmV ...... H«$‘m§H$ bmJVmo.
1) {Vgam, Mm¡Wm 2) Mm¡Wm, {Vgam 3) Mm¡Wm, Mm¡Wm 4) {Vgam, {Vgam

8) In terms of route length, Indian Railway is ...... largest in the world and in terms of freight traffic,

it is ...... largest in the world.

1) third, fourth 2) fourth, third 3) fourth, fourth 4) third, third

9) Imbrb {dYmZo {dMmamV ¿¶m …
A) 31 ‘mM©, 2019 amoOr ^maVmMr añVo dmhVyH$ OJmVrb Xþgè¶m H«$‘m§H$mMr gdm©V ‘moR>r añVo dmhVyH$ Amho.
~) 2019-20 ‘Ü¶o à{V{XZ añVo ~m§YUrMo à‘mU 36.5 {H$‘r dê$Z 2020-21 ‘Ü¶o 40.5 {H$‘r BVHo$ cjUr`arË`m

dmT>bo Amho.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ¶mo½¶ Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ A ¶mo½¶ Amho 2) ’$º$ ~ ¶mo½¶ Amho
3) XmoÝhr A Am{U ~ MyH$ AmhoV 4) XmoÝhr A Am{U ~ ¶mo½¶ AmhoV

9) Consider the following statements :

a) India’s road transport is the second largest in the world as on 31st March, 2019.

b) The extent of road construction per day increased substantially in 2020-21 to 40.5 km per day

from 36.5 km per day in 2019-20.

Which of the above statements is/are correct ?

Answer Options :

1) Only a is correct 2) Only b is correct

3) Both a and b are incorrect 4) Both a and b are correct

10) Imbrb {dYmZo {dMmamV ¿¶m …
A) 2016 ‘Ü¶o CS>mZMr gwédmV Ho$br Jobr.
~) CS>mZ hm ^maV gaH$maMm Am§Vaamï´>r¶ {d‘mZVi {dH$mg H$m¶©H«$‘ Amho.
H$) 2016 ‘Ü¶o CS>mZ gwédmV hmoB©n¶ªV, ^maVmV 74 {d‘mZVio {Z¶mo{OV H$m¶© H$arV hmoVr.
darbn¡H$s H$moUVo/Vr {dYmZ/Zo ~amo~a Amho/AmhoV?
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ ~amo~a AmhoV 2) ’$º$ ~ Am{U H$ ~amo~a AmhoV
3) ’$º$ A Am{U H$ ~amo~a AmhoV 4) ’$º$ ~ ~amo~a AmhoV.

10) Consider the following statements :

a) UDAN was launched in 2016.

b) UDAN is an International Airport Development Program of the Government of India.

c) Till launching of UDAN in 2016, India had 74 airports having scheduled operations.

Which of the above statements is/are correct ?

Answer Options :

1) Only a and b are correct 2) Only b and c are correct

3) Only a and ¢ are correct 4) Only b is correct
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11) _hmamḯ>mMm àmH¥${VH$ ŷJmoc - IS>H$, gømÐr, nR>ma, H$moH$U,  ‘hmamḯ>mVrb ZÚm
1) _hmamḯ>mMm àmH¥${VH$ ̂ yJmoc - IS>H$
2) gømÐr nd©Vam§J, {eIao d Q>oH$S>çm, _hmamï´> nR>ma
3) H$moH$U {H$ZmanÅ>r
4) ‘hmamḯ>mVrb ZÚm

1) _hmamḯ>mMm àmH¥${VH$ ŷJmoc - IS>H$

1) ‘hmamï´>mV .......... IS>H$ nyd© {dX ©̂ d H$moH$U IoarO gd©Ì AmT>iVmo.
1) ObOÝ¶ 2) ~ogm°ëQ> 3) ê$nm§V[aV 4) `mn¡H$s Zmhr

1) ......... rocks are found everywhere except East Vidarbha and Konkan in Maharashtra.

1) Aquatic 2) Besalt 3) Transformed 4) None of these

2) ‘hmamï´>mÀ¶m nyd}H$S>rb ^mJmbm ...... åhUVmV.
A) H$moH$U ~) ‘amR>dmS>m H$) npíM‘ ‘hmamï´> S>) {dX ©̂
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ ~ 3) ’$º$ S> 4) ’$º$ A Am{U H$

2) The Eastern part of Maharashtra is known as ......

a) Konkan b) Marathawada

c) Western Maharashtra d) Vidarbha

Answer options :

1) Only a 2) Only b 3) Only d 4) Only a and c

3) ‘hmamï´>mVrb ‘mZdr dgmhVrÀ¶m Ñï>rZo ‘Ü¶mí‘ JwU Am{U VmànmfmU ¶wJmÀ¶m g§X^m©gmR>r ............ ¶oWo g§emoYZ
H$aÊ¶mV Ambo.
1) nmQ>Uo (OiJmd) 2) hmVI§~m (aËZm{Jar) 3) BZm‘Jmd (nwUo) 4) darbn¡H$s gd©

3) Research was done at with reference to the Middle Age and Copper Age in terms of human

settlement in Maharashtra.

1) Patne (Jalgaon) 2) Hatkhamba (Ratnagiri)

3) Inamgaon (Pune) 4) All of the above

4) 'H$S>ßnm' àH$maMm IS>H$ ‘hmamï´>mÀ¶m H$moUË¶m {Oëøm§‘Ü¶o AmT>iVmo?
1) M§Ðnya - ZmJnya 2) Zm§XoS> - §̂S>mam 3) H$moëhmnya - qgYwXþJ© 4) A‘amdVr - ZmJnya

4) ‘Kadappa’ type of rock is found in which districts of the State of Maharashtra ?

1) Chandrapur — Nagpur 2) Nanded — Bhandara

3) Kolhapur — Sindhudurg 4) Amaravati— Nagpur

5) X»IZ ~§YmMm nwT>rbn¡H$s H$moUVm Cn{d^mJ Zmhr ?
1) H$igw~mB© 2) bmoUmdim 3) dmB© 4) H$bmS>Jr

5) Which of the following is not a subdivision of Deccan bandh?

1) Kalsubai 2) Lonavala 3) Wai 4) Kaladgi
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6) ‘hmamï´>mVrb H$moUË¶m {OëømV CëH$mnmVm‘wio {Z‘m©U Pmbobo bmoUma gamoda AmT>iVo ?
1) AH$mobm 2) ~wbT>mUm 3) A‘amdVr 4) Zm§XoS>

6) The Lonar lake created by a meteorite collision appears in which district of Maharashtra ?

1) Akola 2)  Buldhana 3)  Amravati 4)  Nanded

7) ‘hmamï´>mVrb CîU nmÊ¶mMo Pao d Ë¶m§Mr {R>H$mUo Agbobo {Oëho ¶m§À¶m ¶mo½¶ OmoS>çm bmdm :
CîU nmÊ¶mMo Pao     {Oëho
A) gmb~S>u i) OiJmd
~)  gmd ii) R>mUo
H$) dO«oœar iii) am¶JS>
S>) Mm§JXod iv) A‘amdVr
n¶m©¶r CÎmao …

A ~ H$ S>
1) i ii iii iv

2) ii i iv iii

3) iii iv ii i

4) iv iii ii i

7) Match the correct pairs of Hot water spring and its locational districts in Maharashtra :

Hot Spring District

a) Salbardi i) Jalgaon

b) Sav ii) Thane

c) Vajreshwari iii) Raigad

4) Changdev iv) Amaravati

Answer options :

(a) (b) (c) (d)

1) (i) (ii) (iv) (iii)

2) (ii) (i) (iv) (iii)

3) (iii) (iv) (ii) (i)

4) (iv) (iii) (iiii) (i)

8) ‘hmamï´>mVrb Ja‘ nmÊ¶mMo Pao d Ë¶m§Mo {R>H$mU Agbobo {Oëho ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
 Ja‘ nmÊ¶mMo Pao {R>H$mU ({Oëhm)

a) gmd i) OiJm§d
b) gmb~S>u ii) nmbKa
c) gmVrdbr iii) am¶JS>
d) CZnXod iv) A‘amdVr
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (ii) (iv) (iii)

3) (ii) (i) (iii) (iv)

4) (iii) (iv) (ii) (i)
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8) Match the correct pairs of Hot water spring and their Locational district in Maharashtra.

  Hot water spring Location (District)

a) Sav i) Jalgaon

b) Salabardi ii) Palghar

c) Sativali iii) Raigad

d) Upandev iv) Amaravati

Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (ii) (iv) (iii)

3) (ii) (i) (iii) (iv)

4) (iii) (iv) (ii) (i)

2) gømÐr nd©Vam§J, {eIao d Q>oH$S>çm, _hmamḯ> nR>ma

1) "AñV§̂ m {eIa' g§X^m©V Imbrbn¡H$s H$moUVm n¶m©¶ ¶mo½¶ Amho ?
1) Z§Xþa~ma - VmoaU‘mi 2) A‘amdVr - Jm{dbJS>
3) Ywio - JmiUm S>m|Ja 4) Zm{eH$ - gømÐr

1) Which is the correct options for the reference of ‘Astambha Peak’ ?

1) Nandurbar - Toranmal 2) Amravati - Gawilgad

3) Dhule - Galna Dongar 4) Nashik - Sahyadri

2) ‘hmamï´>mVrb KmQ>m§À¶m g§X^m©V Imbrb {dYmZm§da {dMma H$am.
a) nwUo - ~mam‘Vr ‘mJm©da {Xdm KmQ> Amho.
b) H$moëhmnya - aËZm{Jar ‘mJm©da A§~mobr KmQ> Amho.
n¶m©¶r CÎmao …
1) (a) ~amo~a, (b) MyH$ 2) (a) MyH$, (b) ~amo~a 3) XmoÝhrhr MyH$ 4) XmoÝhrhr ~amo~a

2) Consider the following statement regarding Ghats in Maharashtra.

a) Diva Ghat is on the Pune - Baramati road.

b) Amboli Ghat is on the Kolhapur - Ratnagiri road.

Answer Options :

1) (a) correct, (b) wrong 2) (a) wrong, (b) correct

3) Both are wrong 4) Both are correct

3) ‘hmamï´>mÀ¶m npíM‘og CÎma-X{jU {XeoV H$moUVm nd©V/S>m|Ja Amho ?
1) gmVnwS>m 2) e§̂ y‘hmXod 3) gmV‘mim 4) gømÐr

3) Which is the mountain/hill situated on the North-South direction of western Maharashtra ?

1) Satpura 2) Shambhu Mahadev 3) Satmala 4) Sahyadri

4) Imbrb {R>H$mUm§Mm Ë¶m§À¶m C§Mr à‘mUo CVaVm ¶mo½¶ H«$‘ bmdm …
A) h[aíM§ÐJS> ~) Hw§$^mbu H$) H$igy~mB©
S>) gmëhoa B) am‘Q>oH$
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n¶m©¶r CÎmao …
1) H$, ~, S>, A, B 2) H$, S>, A, ~, B 3) H$, A, S>, ~, B 4) S>, A, ~, H$, B

4) Arrange the following places in descending order as per their height :

a)  Harishchandragad b)  Kumbharli

c) Kalsubai d) Sather e) Ramtek

Answer Options :

1) c,b,d,a,e 2) ¢,d,a,b,e 3) c,a,d, be 4) da bce

5) Imbrb {dYmZo nhm …
a) àdam d Hw$H$S>r ¶m ZÚmXaå¶mZ pñWV S>m|Jam§Zm h[aíM§Ð S>m|Ja åhUVmV.
b) ~mbmKmQ> nR>mamddyZ ‘m§Oam ZXr dmhVo.
c) Vmnr d JmoXmdar ZXr Imoè¶mXaå¶mZ gmV‘mim Am{U AqOR>m S>m|Ja am§Jm AmhoV.
n¶m©¶r CÎmao …
1) {dYmZ (a) Am{U (b) ~amo~a AmhoV. 2) {dYmZ (b) Am{U (c) ~amo~a AmhoV.
3) {dYmZ (a) Am{U (c) ~amo~a AmhoV. 4) darb gd© {dYmZo ~amo~a AmhoV.

5) Observe the following statements:

a) Mountain located between Pravara and Kukadi river is Harishchandra mountain.

b) River Manjira flows on Balaghat Plateau.

c) Satmala and Ajantha Mountain ranges are between Tapi and Godavari River valleys.

Answer Options:

1) Statements (a) and (b) are correct 2) Statements (b) and (c) are correct

3) Statements (a) and (c) are correct 4) All the above statements are correct

6) ^r‘m Am{U JmoXmdar ZÚm§À¶m Xaå¶mZ .............. S>m|Ja am§J pñWV Amho ?
1) ‘hmXod S>m|Ja 2) gmV‘mim-AqOR>m 3) h[aeM§Ð ~mbmKmQ> 4) gmVnwS>m

6) .................... hill is situated between Bhima river and Godavari river.

1) Mahadev hill 2) Satmala - Ajentha 3) Harishchandra Balaghat 4) Satpuda

7) ‘hmamï´>mVrb Xþgao gdm©V C§M {eIa H$moUVo?
1) H$igy~mB© 2) VmoaUm 3) gmëhoa 4) KmoS>d

7) Which is the second tallest mountain peak in Maharashtra ?

1)  Kalsubai 2)  Torna 3)  Salher 4)  Ghodav

8) H$moëhmnya {OëømVrb Omo{V~m S>m|Ja ............. ZmdmZo AmoiIbm OmVmo.
1) dmS>r aËZm{Jar 2) H$adra 3) nÝhmim 4) Ho$XmaoœamMr Q>oH$S>r

8) The Jyotiba Mountain in Kolhapur district is recognised as .........

a) Wadi Ratnagiri b) Karvir c) Panhala                        d) The hill of Kedareshwar

Answer Options :

1) Only (a) 2) Only (b) 3) (c) and (d) 4) (a) and (b)

9) 'AñV§̂ m' ho C§M {eIa ‘hmamï´>mVrb H$moUË¶m nd©Vam§JoV AmT>iVo?
1) ‘hmXod 2) h[aeM§Ð 3) gmVnwS>m 4) gømÐr
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9) In which mountain range of Maharashtra ‘Asthamba Peak’ is located ?

1) Mahadev 2) Harishchandra 3) Satpuda 4) Sahyadri

10) ‘hmamï´>mVrb nd©V {eIam§À¶m C§MrZwgma Imbrbn¡H$s AMyH$ CVaVm H«$‘ H$moUVm?
1) H$igy~mB©, gmëhoa, ‘hm~ioœa, Í¶§~Ho$œa 2) gmëhoa, H$igy~mB©, ‘hm~ioœa, Í¶§~Ho$œa
3) H$igy~mB©, ‘hm~ioœa, gmëhoa, Í¶§~Ho$œa 4) H$igy~mB©, ‘hm~ioœa, Í¶§~Ho$œa, gmëhoa

10) Which of the following is the correct descending order of mountain peaks according to their

height in Maharashtra ?

1) Kalsubai, Salher, Mahabaleshwar, Trimbakeshwar

2) Salher, Kalsubai, Mahabaleshwar, Trimbakeshwar

3) Kalsubai, Mahabaleshwar, Salher, Trimbakeshwar

4) Kalsubai, Mahabaleshwar, Trimbakeshwar, Salher

11) ‘hmamï´>mVrc KmQ>m§Mm CÎmaoH$Sy>Z X{jUoH$S>o H$moUVm H«$‘ ~amo~a Amho ?
1) Hw§$^mcu, Am§~m, Am§~mocr, ’$m|S>m 2) Hw§$^mcu, Am§~m, ’$m|S>m, Am§~mocr
3) Am§~m, Hw§$^mcu, ’$m|S>m, Am§~mocr 4) Am§~mocr, ’$m|S>m, Hw§$^mcu, Am§~m

11) Which of the following sequence of ghats in Maharashtra from north to south is correct ?

1) Kumbharli, Amba, Amboli, Phonda 2) Kumbharli, Amba, Phonda, Amboli

3) Amba, Kumbharli, Phonda, Amboli 4) Amboli, Phonda, Kumbharli, Amba

12) ‘hmamï´>mVrb {eIam§Mm C§MrZwgma H$moUVm CVaVm H«$‘ ~amo~a Amho ?
1) H$igy~mB© - ‘hm~ioœa - VmoaUm - gmëhoa 2) ‘hm~ioœa - VmoaUm - H$igy~mB© - gmëhoa
3) H$igy~mB© - gmëhoa - VmoaUm - ‘hm~ioœa 4) H$igy~mB© - gmëhoa - ‘hm~ioœa - VmoaUm

12) As per the height which descending order of peaks in Maharashtra is correct ?

1) Kalasubai - Mahabaleshwar - Torana - Salher

2) Mahabaleshwar - Torana - Kalsubai - Salher

3) Kalasubai - Salher - Torana - Mahabaleshwar

4) Kalasubai - Salher - Mahabaleshwar - Torana

13) ‘hmamï´>mVrc KmQ>m§Mm CÎmaoH$Sy>Z X{jUoH$S>o H$moUVm H«$‘ ~amo~a Amho ?
1) Hw§$^mcu, Am§~m, Am§~mocr, ’$m|S>m 2) Hw§$^mcu, Am§~m, ’$m|S>m, Am§~mocr
3) Am§~m, Hw§$^mcu, ’$m|S>m, Am§~mocr 4) Am§~mocr, ’$m|S>m, Hw§$^mcu, Am§~m

13) Which of the following sequence of ghats in Maharashtra from north to south is correct ?

1) Kumbharli, Amba, Amboli, Phonda 2) Kumbharli, Amba, Phonda, Amboli

3) Amba, Kumbharli, Phonda, Amboli 4) Amboli, Phonda, Kumbharli, Amba

14) ñV§̂  A Am{U ñV§̂  ~ ¶m§À¶m OmoS>çm Owidm.
ñV§̂  A ({eIao) ñV§̂  ~ ({Oëho)
A) AñV§̂ m I) Ah‘XZJa
~) gmëhoa II) A‘amdVr
H$) {MIcXam III) Z§Xÿa~ma
S>) h[aíM§ÐJS> IV) Zm{eH$
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n¶m©¶r CÎmao …
 A ~ H$ S>

1) IV II I III

2) II I III IV

3) I III IV II

4) III IV II I

14) Match the pair of Column A and Column B.

Column A (Peak) Column B (Districts)

a) Astambha I) Ahmednagar

b) Salher II) Amravati

c) Chikhaldara III) Nandurbar

d) Harishchandragad IV) Nashik

Answer options :

(a) (b) (c) (d)

1) IV II I III

2) II I III IV

3) I III IV II

4) III IV II I

15) Imbrbn¡H$s H$moUVo dm³¶/dm³¶o A¶mo½¶ Amho/AmhoV?
{dYmZ A : am¶aoídamnmgyZ qeJUmnya n¶ªV ngacoë¶m S>m|Ja am§Jocm gmVnwS>m nd©V am§J åhUVmV.
{dYmZ ~ : JmoXmdar d Vmnr ZXrÀ¶m Imoè¶m§Zm doJio H$aUmar gmV‘mim - AqOR>m S>m|Jaam§§J Amho.
n¶m©¶r CÎmao :
1) {dYmZ A Am{U {dYmZ ~ XmoÝhr ~amo~a AmhoV.
2) {dYmZ A ~amo~a AgyZ Am{U {dYmZ ~ MyH$ Amho.
3) {dYmZ A MyH$ AgyZ Am{U {dYmZ ~ ~amo~a Amho
4) {dYmZ A Am{U {dYmZ ~ XmoÝhr MyH$ AmhoV

15) Examine the following statements and choose the correct option.

Statement  : The hill range that spreads from Raireshwar to Shingnapur is known as Satpura hill

range.

Statement B :  Godavari and Tapi river basins are separated by Satmala - Ajanta hill range.

Answer options :

1) Statement A and Statement B both are correct.

2)  Statement A  is correct and Statement B is wrong

3)  Statement A is wrong and Statement B is correct

4) Statement A and Statement B both are wrong

16) ho gømÐr nd©Vmer g§~§{YV Zmhr.
A) {MIbXam W§S> hdoMo {R>H$mU ~) gmV‘mim S>m|Ja
H$) d¡VaUm ZXr S>) H$igw~mB© C§M {eIa
n¶m©¶r CÎmao …
1) ’$º$ (A) 2) (A) Am{U (~) 3) (~) Am{U (H$) 4) ’$º$ (S>)
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16) It does not belong to the Sahyadri mountains.

a) Chikhaldara cold air place b) Satmal Hills

c) Vaitarna river d) Kalsubai high peak

Answer Options :

1) (a) only 2) (a) and (b) 3) (b) and (c) 4) (d) only

17) Imbrbn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ~amo~a Zmhr/ZmhrV?
a) {MIbXam ho W§S> hdoMo {R>H$mU AgyZ Vo gmVnwS>m nd©V am§JoV Amho.
b) Jm{dbJS> Am{U ‘oiKmQ> S>m|Ja ho ‘hmamï´> amÁ¶mÀ¶m X{jU ^mJmV AmhoV.
c) ~mbmKmQ> S>m|Ja ho e§̂ y ‘hmXod S>m|Jam§À¶m CÎmaoH$S>o AmhoV.
n¶m©¶r CÎmao
1) {dYmZ (a) Am{U (b) 2) {dYmZ (b) Am{U (c) 3) {dYmZ (b) 4) {dYmZ (c)

17) Which of the following statement/s is/are incorrect ?

(a)  Chikhaldara is a hill station and located in Satpuda mountain range.

(b)  Gavilgad and Melghat mountains are found in southern part of Maharashtra state.

(c)  Balaghat mountains are found to the north of Shambhu Mahadev mountain ranges.

Answer options :

1)  Statement (a) and (b) 3)  Statement (b)

2)  Statement (b) and (c) 4)  Statement (c)

18) AqOR>çmÀ¶m S>m|JamMo àmMrZ Zmd H$m¶ hmoVo ?
1) ‘§Xm{Jar 2) AqMV 3) gwdU©{Jar 4) {JaZma

18) What was the ancient name of the Ajintha Mountain ?

1)  Mandagiri 2)  Achinta 3)  Suvarnagiri 4)  Girnar

99) gømÐr nd©VmVrb gdm©V C§M {eIa "H$igy~mB©' ho ‘hmamï´>mVrb H$moUË¶m {OëømV Amho ?
1) R>mUo 2) Z§Xwa~ma 3) Zm{eH$ 4) Ah‘XZJa

19) The highest peak in the Sahyadri Mountain "Kalsubai' is located in which district of Maharashtra?

1)  Thane 2) Nandurbar 3)  Nashik 4) Ahmednagar

3) H$moH$U {H$ZmanÅ>r

1) H$moH$UmVrb ZÚm Am{U doJmZo dmhVmV, Ë¶mMr H$m§hr H$maUo {Xbr AmhoV, ¶mo½¶ Vr AmoiIm.
a) nyd}g gømÐr nd©V Amho. b) {H$ZmanÅ>rMr é§Xr 30 Vo 60 {H$.‘r. Amho.
c) ZÚm bm§~rZo AmIyS> Q>ßß¶m§À¶m AmhoV. d) ZÚm§Mo nmÌ é§X d {dñVrU©/{dñV¥V AmhoV.
darbn¡H$s H$moUVo {dYmZo ~amo~a AmhoV ?
1) (a) Am{U (b) 2) (b) Am{U (c) 3) ’$º$ (d) 4) (a), (b) Am{U (c)

1) Rivers in Konkan flow very fast due to some reasons, identify the correct.

a) Sahyadri mountain is in the east. b) Width of coastal belt is 30 to 60 km.

c) Rivers are shorter in length. d) Rivers basins are broader and wide.
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Which of the above statements are correct ?

1) (a) and (b) 2) (b) and (c) 3) Only (d) 4) (a), (b) and (c)

2) ‘hmamï´>mVrb H$m|H$U àmXo{eH$ {d^mJmVrb '‘Ü¶ H$m|H$U'‘Ü¶o g‘m{dï> hmoUmè¶m ImS>çm H$moUË¶m?
1) XodJS>, AmMam Am{U H$bu ImS>r 2) amOmnwar, ~mUH$moQ> Am{U Ho$ier ImS>r
3) Ya‘Va, H$mbmdb Am{U VoaoImob ImS>r 4) S>hmUy, dgB© Am{U Xm{Vdao ImS>r

2) Which creeks are included in the ‘Central Konkan’ of Maharashtra's Konkan Regional Division ?

1)  Deogarh, Achara and Karli creeks 2)  Rajapuri, Bankot and Kelshi creeks

3)  Dharamtar, Kalawal and Terekhol creeks 4)  Dahanu, Vasai  and Datiware creeks

3) ‘hmamï´> amÁ¶mÀ¶m n[íM‘og Agboë¶m Aa~r g‘wÐmMo joÌ’$i ...... EdT>o Amho.
1) 88,680 Mm¡.{H$.‘r. 2) 38,62,000 Mm¡.{H$.‘r. 3) 21,73,000 Mm¡.{H$.‘r. 4) 1,020 Mm¡.{H$.‘r.

3) The area of the Arabian Sea to the west of the state of Maharashtra is...

1) 88,680 sq. km. 2) 38,62,000 sq. km. 3) 21,73,000 sq. km. 4) 1,020 sq. km.

4) Va§JK{f©V M~wVam ‘hmamï´>m‘Ü¶o ................ Mm {H$Zmè¶mda AmT>iVmo.
1) AmT>o 2) ~m‘Umocr 3) ZmJm§d 4) har haoída

4) Wave-cut platforms occur on ............ coast in Maharashtra.

1)  Aadhe 2)  Bamnoli 3)  Nagaon 4)  Hari Hareshwar

5) ‘hmamï´>mV Aa~r g‘wÐ d gømÐr nd©V ¶m§À¶m Xaå¶mZ CÎma-X{jU {Xeog ngaboë¶m {H$ZmanÅ>rÀ¶m àXoembm ..........
Ago åhUVmV.
a) H$madma Am{U ‘b~ma b) H$moamo‘§S>b c) H$moH$U
n¶m©¶r CÎmao …
1) ’$º$ (c) ~amo~a Amho 2) ’$º$ (a) ~amo~a Amho
3) ’$º$ (a) Am{U (c) ~amo~a AmhoV 4) (a), (b) Am{U (c) ~amo~a AmhoV

5) In Maharashtra, the coastal region extending from North to South between Arabian Sea and Sahyadri

Mountain is known as

(a)  Karwar and Malabar    (b)  Coromandel (c) Kokan

Answer Options :

(l)  Only (c) is correct 2)  Only (a) is correct

4)  (a), (b) and (c) are correct 3)  Only (a) and (c) are correct

4)  ‘hmamḯ>mVrb ZÚm

1) H$moH$UmVrb ...... ¶m ZÚm OmñV bm§~rÀ¶m AmhoV.
1) gm{dÌr d d{eð>r 2) d¡VaUm d Cëhmg 3) H$mOdr d ‘wMHw§$Xr 4) VmZgm d ^mVgB©

1) ...... rivers are longer in Konkan region.

1) Savitri and Vashishti 2) Vaitarna and Ulhas

3) Kajvi and Muchkundi 4) Tansa and Bhatsai
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2) H¥$îUm ZXrbm S>mì¶m {H$Zmè¶mda ...... ZXr {‘iVo.
1) H$mo¶Zm 2) grZm 3) ¶oaim 4) nyUm©

2) ................  river meets Krishna river on its left bank.

1) Koyna 2) Sina 3) Yerla 4) Purna

3) H$moUË¶m dfu nmZeoV YaU ’w$Q>ë¶mZo nwUo ehamV ‘hmnya Ambm hmoVm?
1) 1951 2) 1960 3) 1961 4) 1950

3) In which year was Pune city flooded due to burst of Panshet dam ?

1) 1951 2) 1960 3) 1961 4) 1950

4) Imbrb {dYmZo nhm …
A) àdam ZXr hr JmoXmdarMr CnZXr AgyZ Vr h[aíM§Ð S>m|JamÀ¶m CÎmaog p{ñV Amho.
~) dYm© Am{U d¡ZJ§Jm ¶m JmoXmdar ZXrÀ¶m CnZÚm AmhoV.
n¶m©¶r CÎmao …
1) {dYmZ A ~amo~a Amho. 2) {dYmZ ~ ~amo~a Amho.
3) {dYmZ A Am{U ~ ~amo~a Amho. 4) {dYmZ A Am{U ~ ~amo~a ZmhrV.

4) Observe the following statements :

a) Pravara is a tributary of river Godavari and located to the north of Harishchandra mountain.

b) Wardha and Wainganga are the tributaries of river Godavari.

Answer Options :

1) Statement a is correct 2) Statement b is correct

3) Statements a and b are correct 4) Statements a and b are not correct

5) Imbrbn¡H$s H$moUVr ^r‘m ZXrMr CnZXr Zmhr ?
1) B§Ðm¶Ur 2) Zram 3) B§ÐmdVr 4) grZm

5) Which of the following is no# a tributary of the river Bhima ?

1) Indrayani 2) Nira 3) Indravati 4) Sina

6) Imbrbn¡H$s nyUm© ZXrÀ¶m COì¶m Vramdarc H$moUË¶m CnZÚm AmhoV ?
a) H$mQ>onyUm© b) {~gdm c) ŷboœa d) ehmZya
n¶m©¶r CÎmao …
1) (a) Am{U (b) 2) (b) Am{U (c) 3) (c) Am{U (d) 4) (a), (b) Am{U (c)

6) Which of the following are the right bank tribufaries of river Purna ?

a) Katepurna (b) Biswa (c) Bhuleshwar (d)  Shahanur

Answer options :

1) (a) and (b) 2) (b) and (c) 3) (c) and (d) (4) (a), (b) and (c)

7) Imcrc {dYmZo nhm :
a) JS>{Mamocr {OëømMr X{jU gr‘m hr B§ÐmdVr d àmU{hVm ZÚm§Zr  ~Zcocr Amho.
b) B§ÐmdVr ZXr hr N>ÎmrgJS> amÁ¶mÀ¶m gr‘oda AgyZ, àmU{hVm ZXr hr Voc§JUm amÁ¶mer Agcoë¶m gr‘oda Amho.
n¶m©¶r CÎmao :
1) (a) Am{U (b) ~amo~a 2) (a) ~amo~a (b)MyH$ 3) (a) MyH$ (b) ~amo~a 4) (a) Am{U (b) MyH$
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7) Observe the following statements :

a) The Indravati and Pranhita rivers form the Southern boundary of the Gadchiroli district.

b) The Indravati forms a boundary with Chhattisgarh state while the Pranhita with Telangana state.

Answer options :

1) (a) and (b) True 2) (a) True (b) False 3) (a) False (b) True 4) (a) and (b) False

8) Imcrc {dYmZo nhm :
a) àdam ZXr hr JmoXmdarMr CnZXr AgyZ Vr h[aíM§Ð S>m|JamÀ¶m CÎmaog pñWV Amho.
b) dYm© Am{U d¡ZJ§Jm ¶m JmoXmdar ZXrÀ¶m CnZÚm AmhoV
n¶m©¶r CÎmao :
1) {dYmZ (a) ~amo~a Amho 2) {dYmZ (b) ~amo~a Amho
3) {dYmZo (a)  Am{U (b) ~amo~a AmhoV 4) {dYmZ  (a)  Am{U  (b) ~amo~a ZmhrV

8) Observe the following statements :

a) Pravara is a tributary of river Godavari and located to the north of Harishchandra mountain.

b) Wardha and Vainganga are the tributaries of river Godavari.

Answer options :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statements (a) and (b) are correct 4) Statements (a) and (b) are not correct

9) Imbrbn¡H$s H$moUVm n¶m©¶ JmoXmdar ZXrÀ¶m CnZÚm§Mm bm§~rZwgma MT>Vm H«$‘ Xe©{dVmo?
1) àmU{hVm, àdam, dYm©, ‘m§Oam 2) ‘m§Oam, dYm©, àdam, àmU{hVm
3) àmU{hVm, dYm©, àdam, ‘m§Oam 4) ‘m§Oam, àdam, dYm©, àmU{hVm

9) Which of the following options shows the correct ascending order by length of the tributaries

of Godavari river ?

1) Pranhita, Pravara, Wardha, Manjra 2) Manjra, Wardha, Pravara, Pranhita

3)  Prannhita, Wardha, Pravara, Manjra 4) Manjra, Pravara, Wardha, Pranhita

10) ‘hmamï´>mVrb ObqgMZ ¶moOZm d Ë¶m§Mo {Oëho ¶m§À¶m ¶mo½¶ OmoS>çm bmdm …
    {Oëhm ObqgMZ ¶moOZm
A) gmVmam I) ‘wH$Uo
~) Zm{eH$ II) {dîUwnwar
H$) Zm§XoS> III) H$Êhoa
S>) ¶dV‘mi IV) ~|~bm
n¶m©¶r CÎmao …

A ~ H$ S>
1) II III IV I

2) III I II IV

3) III IV I II

4) IV II III I
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10) Match the correct pairs of Irrigation Schemes and Districts in Maharashtra :

District  Irrigation scheme

a.  Satara I.  Mukane

b.  Nashik II.  Vishnupuri

c.  Nanded III. Kanher

d.  Yavatmal IV. Bembala

Answer Options :

a b c d

l) II III IV I

2) III I II IV

3) III IV I II

4) IV II III I

11) OmoS>çm Owidm …
YaU/àH$ën    {Oëhm
A) dmKya i) Zm{eH$
~) ^m‘ ii) ~wbT>mUm
H$) noZQ>mH$ir iii) OiJmd
S>) AéUmdbr iv) ¶dV‘mi
n¶m©¶r CÎmao…

(A) (~) (H$) (S>)
1) (ii) (iv) (i) (iii)

2) (i) (iii) (iv) (ii)

3) (iii) (i) (ii) (iv)

4) (iv) (ii) (iii) (i)

11) Match the pairs :

Dam/Project District

a) Waghur i) Nashik

b) Bham ii) Buldhana

c) Pentakali iii) Jalgaon

d) Arunavali iv) Yavatmal

Answer Options :

(a) (b) (c) (d)

1) (ii) (iv) (i) (iii)

2) (i) (iii) (iv) (ii)

3) (iii) (i) (ii) (iv)

4) (iv) (ii) (iii) (i)

12) H¥$îUm ZXrbm S>mì¶m {H$Zmè¶mZo .............. ZXr {‘iVo.
1) H$mo¶Zm 2) grZm 3) ¶oaim 4) nyUm©

12) River Krishna meets river .............. on its left bank.

1) Koyna 2) Seena 3) Yerala 4) Poorna
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13) Imcrc {dYmZo nhm :
a) JS>{Mamocr {OëømMr X{jU gr‘m hr B§ÐmdVr d àmU{hVm ZÚm§Zr  ~Zcocr Amho.
b) B§ÐmdVr ZXr hr N>ÎmrgJS> amÁ¶mÀ¶m gr‘oda AgyZ, àmU{hVm ZXr hr Voc§JUm amÁ¶mer Agcoë¶m gr‘oda Amho.
n¶m©¶r CÎmao :
1) (a) Am{U (b) ~amo~a 2) (a) ~amo~a (b)MyH$ 3) (a) MyH$ (b) ~amo~a 4) (a) Am{U (b) MyH$

13) Observe the following statements :

a) The Indravati and Pranhita rivers form the Southern boundary of the Gadchiroli district.

b) The Indravati forms a boundary with Chhattisgarh state while the Pranhita with Telangana state.

Answer options :

1) (a) and (b) True 2) (a) True (b) False 3) (a) False (b) True 4) (a) and (b) False

14) Imcrc {dYmZo nhm :
a) àdam ZXr hr JmoXmdarMr CnZXr AgyZ Vr h[aíM§Ð S>m|JamÀ¶m CÎmaog pñWV Amho.
b) dYm© Am{U d¡ZJ§Jm ¶m JmoXmdar ZXrÀ¶m CnZÚm AmhoV
n¶m©¶r CÎmao :
1) {dYmZ (a) ~amo~a Amho 2) {dYmZ (b) ~amo~a Amho
3) {dYmZo (a)  Am{U (b) ~amo~a AmhoV 4) {dYmZ  (a)  Am{U  (b) ~amo~a ZmhrV

14) Observe the following statements :

a) Pravara is a tributary of river Godavari and located to the north of Harishchandra mountain.

b) Wardha and Vainganga are the tributaries of river Godavari.

Answer options :

1) Statement (a) is correct 2) Statement (b) is correct

3) Statements (a) and (b) are correct 4) Statements (a) and (b) are not correct

15) ‘hmamï´>mVrb H$moUË¶m YaUmbm '{dëgZ' YaU Am{U Ë¶mM Obme¶mbm 'Am°W©a' gamoda åhUyZ g§~moYbo OmVo?
1) Aßna dYm© YaU 2) bmoAa dYm© YaU 3) COZr YaU 4) §̂S>maXam YaU

15) Which dam and its reservoir is known as Wilson dam and Aurthar Lake respectively ?

1)  Upper Wardha dam 2)  Lower Wardha dam

3)  Ujjani dam 4)  Bhandardara dam

16) OmoS>çm bmdm …
{Oëhm     àH$ën

a) gmVmam i) ZmVwdmS>r
b) A‘amdVr ii) gmdir
c) qhJmobr iii) Am§Yir
d) aËZm{Jar iv) ehmZya
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iii) (iv) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (ii) (iii)

4) (ii) (i) (iv) (iii)
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16) Match the pair

District Project

(a)  Satara (i)  Natuwadi

(b)  Amaravati (ii)  Savali

(c)  Hingoli (iii) Aandhali

(d)  Ratnagiri (iv)  Shahanur

Answer options :

(a) (b) (c) (d)

1) (iii) (iv) (ii) (i)

2) (iii) (ii) (i) (iv)

3) (iv) (i) (ii) (iii)

4) (ii) (i) (iv) (iii)

12) ‘hmamḯ>mVrb Z¡g{J©H$ g§nÎmr - dZo Am{U dZñnVr, _hmamḯ>mMo hdm‘mZ d nO©Ý`‘mZ
1) _hmamḯ>mMo hdm‘mZ
2) _hmamḯ>mMo nO©Ý`‘mZ d H¥$frdm¶y hdm‘mZ {d^mJ
3) ‘hmamï´>mVrb dZo - dZñnVr, amï´>r¶ CÚmZo/A^¶maÊ¶

1) _hmamḯ>mMo hdm‘mZ

1) ‘hmamï´>mV '‘o' ‘{hÝ¶mV gamgar Vmn‘mZ gdm©V OmñV ...... ¶m àXoemV AgVo.
1) {H$ZmanÅ>rMm àXoe 2) npíM‘ ‘hmamï´> 3) ‘amR>dmS>m 4) nyd© {dX ©̂

1) The average highest temperature in the month of May is recorded in ..........  region of Maharashtra.

1) Coastal Region 2) Western Maharashtra

3) Marathwada 4) Eastern Vidarbha

2) Imbrbn¡H$s H$moUË¶m {R>H$mUr CÝhmù¶mV X¡{ZH$ Vmn‘mZ-H$jm gdm©V H$‘r Agob ?
1) nwUo 2) gmobmnya 3) aËZm{Jar 4) A‘amdVr

2) Which of the following places will have the lowest daily temperature range in summer ?

1) Pune 2) Solapur 3) Ratnagiri 4) Amravati

3) Imbrbn¡H$s H$moUË¶m {R>H$mUMr Vmn‘mZ H$jm gdm©V H$‘r AgVo?
1) ZmJnya 2) ~rS> 3) gmobmnya 4) ‘§w~B©

3) Which of the following places has the least temperature range ?

1) Nagpur 2) Beed 3) Solapur 4) Mumbai

4) ‘hmamï´>mÀ¶m hdm‘mZmda Imbrbn¡H$s H$moUË¶m àmH¥${VH$ aMZoMm gdm©V OmñV n[aUm‘ Pmbm Amho?
1) ‘hmamï´>mVrb X»IZMo nR>ma 2) gømÐr nd©V Am{U gmVnwS>m S>m|Ja am§J
3) {H$Zma nÅ>rMo ‘¡XmZ 4) ‘wS>IoS> Q>oH$S>çm
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4) Which of the following physiographic factor predominently influence on climate of Maharashtra?

1) Deccan plateau in Maharashtra 2) Sahyadri mountain and Satpuda range

3) Coastal plains 4) Mudkhed hills

2) _hmamḯ>mMo nO©Ý`‘mZ d H¥$frdm¶y hdm‘mZ {d^mJ

1) ‘hmamï´>mV Z¡F$Ë¶ ‘mog‘r dmè¶mnmgyZ {‘iUmè¶m nmdgmMr Q> o̧$dmar Imbrbn¡H$s {H$Vr Amho?
1) 58% 2) 65% 3) 85% 4) 95%

1) Which of the following percentage indicates the proportion of the rain received in Maharashtra

from  North-Western monsoon ?

1)  58% 2)  65% 3) 85% 4) 95 %

2) 26 Owb¡, 2005 ¶m {Xder EH$ {XdgmV gdm©V OmñV 944 {‘.‘r. nmD$g nS>Ê¶mMr Zm|X ...... ¶m {R>H$mUr Pmbr.
1) qgYwXþJ© 2) ‘§w~B© 3) ‘hm~ioída 4) ‘mWoamZ

2) On 26th July, 2005 the maximum rainfall of 944 mm was recorded in ......

1) Sindhudurg 2) Mumbai 3) Mahabaleshwar 4) Matheran

3) H$moH$UmV E{àb-‘o ‘{hÝ¶mV gm¶§H$mir nS>Umè¶m nmdgmbm ...... åhUVmV.
1) Am‘«gar 2) H$m|H$Ugar 3) à{VamoY nO©Ý¶ 4) gømÐr gar

3) In Konkan, the evening rain which falls around in the months of April - May is called ......

1) Mango shower 2) Konkan shower 3) Orographic rain 4) Sahyadri shower

4) {~ZOm§̂ r ‘¥Xm d A{V nO©Ý¶ H¥$fr hdm‘mZ {d^mJ H$moUË¶m {OëømV Amho?
A) Zm{eH$ ~) ZmJnya H$) R>mUo
S>) nmbKa B) am¶JS>
n¶m©¶r CÎmao …
1) H$, ~ Am{U A 2) H$, S> Am{U B 3) A, S> Am{U B 4) A, ~, H$ Am{U S>

4) In which district is Bin Jambhi Soil and High Rainfall Agri Meteorology Department located?

a) Nashik b) Nagpur c) Thane d) Palghar      e) Raigad

Answer Options :

1) C, B and A 2) C, D and E 3) A, D and E 4) A, B, C and D

5) Imbrbn¡H$s ‘hmamï´>mVrb ñWim§Mm dm{f©H$ nO©Ý¶‘mZmZwgma AMyH$ CVaVm H«$‘ H$moUVm?
1) A§~mobr, bmoUmdim, ‘hm~ioída, ‘mWoamZ 2) A§~mobr, ‘hm~ioída, ‘mWoamZ, bmoUmdim
3) bmoUmdim, A§~mobr, ‘hm~ioída, ‘mWoamZ 4) A§~mobr, bmoUmdim, ‘mWoamZ, ‘hm~ioída

5) Which of the following is the correct descending order of the places in Maharashtra according to

annual rainfall ?

1)  Amboli, Lonavala, Mahabaleshwar, Matheran

2)  Amboli, Mahabaleshwar, Matheran, Lonavala

3)  Lonavala, Amboli, Mahabaleshwar, Matheran

4)  Amboli, Lonavala, Matheran, Mahabaleshwar
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6) ‘hmamï´>mV Z¡F$Ë¶ ‘mÝgyZÀ¶m XmoÝhr emIm ‘wio àm‘w»¶mZo .............. ¶oWo nmD$g nS>Vmo.
1) npíM‘ ‘hmamï´> 2) ‘amR>dmS>m 3) {dX ©̂ 4) H$moH$U

6) ..........  region of Maharashtra receives rainfall from both the  branches of S.W. Monsoon.

1) Western Maharashtra 2) Marathwada

3) Vidarbha 4) Konkan

7) .............. ho X{jU H$moH$UmVrb OmñV nmdgmMo {R>H$mU Amho ?
1) BJVnwar 2) ‘mWoamZ 3) Am§~mobr 4) ‘hm~ioída

7) ............... is a heavy rainfall place in south Konkan.

1) Igatpuri 2) Matheran 3) Amboli 4) Mahabaleshwar

8) Imcrc {dYmZm§Mm {dMma H$am.
a) ‘hmamï´>mV gdm©{YH$ nmD$g qgYwXþJ© {OëømVrc Am§~mocr ¶oWo nS>Vmo.
b) Am§~mocrÀ¶m VrZ ~mOy§Zr S>m|Ja d dmè¶mÀ¶m àdoemMr ~mOy ‘moH$ir Amho.
n¶m©¶r CÎmao :
1) XmoÝhr {dYmZo ~amo~a d Xþgao {dYmZ n{hë¶m {dYmZmMo ¶mo½¶ ñnï>rH$aU Amho.
2) XmoÝhr {dYmZo MwH$sMr AmhoV.
3) XmoÝhr {dYmZo ~amo~a na§Vw Xþgao {dYmZ n{hë¶m {dYmZmMo ¶mo½¶ ñnï>rH$aU Zmhr.
4) n{hco {dYmZ ~amo~a na§Vw Xþgao MyH$.

8) Consider the following statements :

a) The highest rain in Maharashtra falls at Amboli in Sindhudurg district.

b) Mountains on three sides of Amboli and the entrance to the wind is open.

Answer options :

1) Both the statements are correct and second is the correct explanation of first.

2) Neither of the statements is correct.

3) Both the statements are correct but the second is not the explanation of the first.

4) The first statement is correct but the second is not correct

9) Imcrc {dYmZm§Mm {dMma H$am.
a) ‘hmamï´>mV gdm©{YH$ nmD$g qgYwXþJ© {OëømVrc Am§~mocr ¶oWo nS>Vmo.
b) Am§~mocrÀ¶m VrZ ~mOy§Zr S>m|Ja d dmè¶mÀ¶m àdoemMr ~mOy ‘moH$ir Amho.
n¶m©¶r CÎmao :
1) XmoÝhr {dYmZo ~amo~a d Xþgao {dYmZ n{hë¶m {dYmZmMo ¶mo½¶ ñnï>rH$aU Amho.
2) XmoÝhr {dYmZo MwH$sMr AmhoV.
3) XmoÝhr {dYmZo ~amo~a na§Vw Xþgao {dYmZ n{hë¶m {dYmZmMo ¶mo½¶ ñnï>rH$aU Zmhr.
4) n{hco {dYmZ ~amo~a na§Vw Xþgao MyH$.

9) Consider the following statements :

a) The highest rain in Maharashtra falls at Amboli in Sindhudurg district.

b) Mountains on three sides of Amboli and the entrance to the wind is open.

Answer options :

1) Both the statements are correct and second is the correct explanation of first.

2) Neither of the statements is correct.

3) Both the statements are correct but the second is not the explanation of the first.

4) The first statement is correct but the second is not correct
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10) gømÐrÀ¶m 1200 ‘r. nojm OmñV C§M ^mJmVrb 400 g|.‘r. qH$dm Ë¶mnojm OmñV nO©Ý¶ Agboë¶m {d^mJmV
Imbrbn¡H$s H$moUË¶m àH$maMo dZ AmT>iVo ?
1) CîU H${Q>~§Yr¶ gXmh[aV dZo 2) CîU H${Q>~§Yr¶ AY©-gXmh[aV dZo
3) CnmoîU H${Q>~§Yr¶ gXmh[aV dZo 4) CîU H${Q>~§Yr¶ AmÐ© nmZPS>r dZo

10) Which of the following types of forests is found in areas above 1200 m altitude and receiving

400 cm and more amount of rainfall in the Sahyadris?

1) Tropical evergreen forest 2) Tropical semi-evergreen forest

3) Sub-tropical evergreen forest 4) Tropical humid deciduous forest

11) "‘mÝgyZMr ‘mKma' hm ^maVr¶ hdm‘mZmMm Am{dîH$ma Imbrbn¡H$s H$moUË¶m dmVmdaUr¶ n[apñWVrMm n[aUm‘ Amho ?
1) ^maVmÀ¶m dm¶ì¶ ^mJmH$Sy>Z Am¾o¶ ^mJmH$S>o Cƒ dm¶ŷ mamÀ¶m nQ²>Q>çmMm hmoUmam {dñVma.
2) Z¡F¥$Ë¶ ‘mÝgyZ dmao {h‘mb¶ nd©V am§JoV AS>{dbo Joë¶mda VoWyZ Ë¶m§Mr hmoUmar ‘mKma.
3) gy¶m©Mo ^mg‘mZ «̂‘U.
4) ^maVr¶ CnI§S>mV {Z‘m©U hmoUmao Vrd« dm¶ŷ mamMo CVma‘mZ.

11) Which of the following atmospheric conditions is responsible for the occurrence of the Indian

climatic phenomena 'Retreating Monsoon'?

1) Expansion of high pressure belt from north-west to south-east direction in India.

2) The south-west monsoon winds reach the foothills of the Himalayas, blocked by the Himalayan

ranges, and then retreat from the Himalayas.

3) Apparent movement of the Sun.

4) Occurrence of steep pressure gradient in the Indian sub-continent.

3) ‘hmamḯ>mVrb dZo - dZñnVr, amḯ>r¶ CÚmZo/A^¶maÊ¶

1) ‘hmamï´> Am{W©H$ nmhUr Ahdmb 2019-20 Zwgma amÁ¶mV 2018-19 gmbr EHy$U ̂ m¡Jmo{bH$ joÌmn¡H$s {H$Vr Q> o̧$ joÌ
dZmImbr hmoVo ?
1) 20.10 2) 18.40 3) 17.90 4) 14.14

1) According to Maharashtra Economic Survey Report 2019-20 what percentage of the total

geographical area in the State was under forest in 2018-19 ?

1) .20.10 2) 18.40 3) 17.90 4) 14.13

2) ‘hmamï´> dZ {dH$mg ‘hm‘§S>i ‘¶m©{XV Mr ñWmnZm ........... ‘Ü¶o Pmbr.
1) 1982 2) 1979 3) 1984 4) 1974

2) Forest Development Corporation of Maharashtra limited was established in ..................

1) 1982 2) 1979 3) 1984 4) 1974

3) OmoS>çm Owidm …
{Oëhm     dZjoÌ

A) M§Ðnya i. ¶oS>er-am‘qbJ
~) ¶dV‘mi ii. A§Ymar
H$) Cñ‘mZm~mX iii. n¡ZJ§Jm
S>) am¶JS> iv. H$Zm©im
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n¶m©¶r CÎmao …
A ~ H$ S>

1>) iii ii iv i

2>) i iii ii iv

3) ii iii i iv

4>) iv ii iii i

3) Match the following :

District Forest area

a) Chandrapur i. Yedshi-Ramling

b) Yavatmal ii, Andhari

c) Osmanabad iii. Painganga

d) Raigad iv. Karnala

Answer Options :

A B C D

1) iii ii iv i

2) i iii ii iv

3) ii iii i iv

4) iv ii iii i

4) AmÐ© nmZJirMr dZo ‘hmamï´>mV H$moR>o AmT>iVmV ?
1) A‘amdVr 2) ¶dV‘mi 3) Zm{eH$ 4) ZmJnya

4) Where are moist deciduous forests found in Maharashtra?

1) Amravati 2) Yavatmal 3) Nashik 4) Nagpur

5) ‘hmamï´>mVrb dZm§Mo àH$ma d VoWo AmT>iUmè¶m dZñnVr ¶m§À¶m ¶mo½¶ OmoS>çm bmdm ?
dZm§Mo àH$ma dZñnVr

a) CîUH${Q>~§Yr¶ gXmh[aV O§Jbo i) ZmZm
b) CîUH${Q>~§Yr¶ {Z‘ gXmh[aV dZo ii) e|Xar
c) AmÐ© nmZPS>r dZo iii) goXma
d) ewîH$ nmZPS>r dZo iv) ¶oéi
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iii) (i) (iv) (ii)

3) (ii) (iii) (i) (iv)

4) (i) (iv) (ii) (iii)

5) Match the correct pairs of forest types and vegetation in forest of Maharashtra :

Forest type Vegetation

a) Tropical evergreen forest i) Nana

b) Tropical semi evergreen forest ii) Shendari

c) Moist deciduous forest iii) Sedar

d) Dry deciduous forest iv) Yerul
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Answer options :

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (iii) (i) (iv) (ii)

3) (ii) (iii) (i) (iv)

4) (i) (iv) (ii) (iii)

6) amIrd OrdmdaU/Ord‘§S>b ho ................ Zygma gr‘m§{H$V H$aVmV.
1) ‘Ü¶dVu ^mJ, ~’$a PmoZ Am{U g§H«$‘U ^mJ
2) ‘Ü¶dVu ^mJ, ~’$a PmoZ Am{U gyú‘-n¶m©daUr¶ ^mJ
3) ~’$a PmoZ, g§H«$‘U ^mJ Am{U gyú‘-n¶m©daUr¶ ^mJ
4) ‘Ü¶dVu ^mJ, g§H«$‘U ^mJ Am{U gyú‘-n¶m©daUr¶ ^mJ

6) Biosphere reserves are demarcated into

1) Core zone, buffer zone and transition zone

2) Core zone, buffer zone and micro ecological zone

3) Buffer zone, transition zone and micro ecological zone

4) Core zone, transition zone and micro ecological zone

7) Imbrb OmoS>çm bmdm …
amḯ>r¶ CÚmZ/A^¶maÊ¶     {Oëhm
A) g§O¶ Jm§Yr CÚmZ i) am¶JS>
~) VmZgm ii) R>mUo
H$) ’$UgmS> iii) ¶dV‘mi
S>) {Q>noída iv) ‘§w~B©
n¶m©¶r CÎmao …

A ~ H$ S>
1) ii i iv iii

2) iv ii iii i

3) ii iv i iii

4) iv ii i iii

7) Match the following :

National Park/Sanctuary District

a) Sanjay Gandhi Park i) Raigad

b) Tansa ii) Thane

c) Phansad iii) Yavatmal

d) Tipeshwar iv) Mumbai

Answer Options :

(a) (b) (c) (d)

1) ii i iv iii

2) iv ii iii i

3) ii iv i iii

4) iv ii i iii
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8) amï´>r¶ CÚmZo/A^¶maÊ¶ g§a{jV àmUr
a) A~mohma- H$midrQ> (harU) b) ‘m¶Ur- njr
c) amYmZJar- Jdm d) n|M- Añdb
darb ~amo~a Agboë¶m/Agbobr OmoS>r/OmoS>çm gm§Jm.
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b) Am{U (c) 3) ’$º$ (a), (b) Am{U (c) 4) darbn¡H$s gd©

8) National park/sanctuary  — protected animal

(a)  Abohar     —  Deer (b)  Mayani     —  Birds

(c)  Radhanagari    —  Bison (d)  Pench      —  Bear

State the correct pair/s given above.

l)  Only (a) and (b) 2)  Only (b) and (c)

3)  Only (a), (b) and (c)4)  All of the above

9) ‘hmamï´>mVrb amï´>r¶ CÚmZo d Ë¶m§À¶m {R>H$mUm§Mr ¶mo½¶ OmoS>çm Owidm.
    amï´>r¶ CÚmZo {R>H$mU

a) ZdoJmd i) ~mo[adbr
b) JwJm‘mi ii) ZmJnya
c) n|M iii) Jm|{X`m
d) g§O¶ Jm§Yr iv) A‘amdVr
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (i) (ii) (iv) (iii)

3) (iii) (iv) (ii) (i)

4) (iii) (ii) (i) (iv)

9) Match the correct pairs of National Parks & their Locations in Maharashtra :

   National Parks Locations

a) Navegaon i) Borivali

b) Gugamal ii) Nagpur

c) Pench iii) Gondiya

d) Sanjay Gandhi iv) Amaravati

Answer options :

(a) (b) (c) (d)

1) (iv) (ii) (iii) (i)

2) (i) (ii) (iv) (iii)

3) (iii) (iv) (ii) (i)

4) (iii) (ii) (i) (iv)

10) ‘oiKmQ> ì¶mK« àH$ënmMo g§a{jV joÌ ...... amï´>r¶ CÚmZ åhUyZ Omhra H$aÊ¶mV Ambo?
1) JwJm‘mi 2) g§O¶ Jm§Yr 3) Mm§Xmobr 4) {à¶Xe©Zr B§{Xam Jm§Yr

10) Protected area of Melghat Tiger Project has been declared as a     national park.

1)  Gugamal 2)  Sanjay Gandhi

3)  Chandoli 4)  Priyadarshini Indira Gandhi
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11) dÝ¶àmUr OrdZmg§X^m©V Imbrb OmoS>çm Owidm.
A) Jm¡a i. ‘hmamï´>mVrb C§MrMo àXoe
~) gm§~a ii. {dX ©̂
H$) {MVi iii. Ah‘XZJa
S>) H$midrQ> iv. ‘oiKmQ>
n¶m©¶r CÎmao …
1) A-iv, ~-i, H$-ii, S>-iii 2) A-i, ~-ii, H$-iii, S>-iv

3) A-ii, ~-i, H$-iii, S>-iv 4) A-iii, ~-ii, H$-i, S>-iv

11) Match the following pairs with respect to wild animal life.

A) Gaur. i. Heights of Maharashtra

B) Sambar ii. Vidarbha

C) Chital iii. Ahmednagar

d) Antelopes iv. Melghat

Answer Options :

1) A-iv, B--i, C-ii, D-iii 2) A-i, B-ii, C-iii, D-iv

3) A-ii, B-i, C-iii, D-iv 4) A-iii, B-ii, C-i, D-iv

12) gmobmnya {OëømVrb ZmÞO A^¶maÊ¶ H$moUË¶m njm§gmR>r à{gÕ Amho ?
1) ‘moa 2) amo{hV 3) ‘miT>moH$ 4) h§gH$

12) Nannaj Sanctuary in Solapur district is famous for which bird ?

1) Peacock 2) Rohit 3) Maldhok 4) Flemingo

13) Imbrbn¡H$s H$moUVo A^¶maÊ¶/amï´>r¶ CÚmZ ^m¡Jmo{bH$ joÌ’$imZo ‘moR>o Amho ?
1) A§Ymar 2) VmZgm 3) Mm§Xmobr 4) ZmJ{Pam

13) Which of the following Sanctuary/National Park is large in Geographical area?

1) Andahari 2) Tansa 3) Chandoli 4) Nagzira

14) OmoS>çm bmdm …
A^¶maÊ¶     {R>H$mU
a) VmZgm i) OiJmd
b) ¶mdb ii) R>mUo
c) ‘miT>moH$ iii) gmobmnya
d) ZmJ{Pam iv) Jm|{X`m
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (ii) (iii) (i) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)
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14) Match the pair :

Sanctuary Place

(a)  Tansa (i)  Jalgaon

(b)  Yawal (ii)  Thane

(c)  Maldhok (iii) Solapur

(d)  Nagzira (iv) Gondiya

Answer options :

(a) (b) (c) (d)

1) (ii) (i) (iii) (iv)

2) (ii) (iii) (i) (iv)

3) (i) (ii) (iii) (iv)

4) (iv) (iii) (ii) (i)

13) ‘hmamḯ>mVrb cmoH$g§»`m, ñWbm§Va, dñË`m,àemgH$s` {d^mJ, ^mfm, gr‘m
1) ‘hmamḯ>mVrb bmoH$g§»`m , bmoH$g§»`m ñWbm§Va
2) ‘hmamï´>mVrb O‘mVr, d§e Am{U ̂ mfm
3) ‘hmamï´>mVrb dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d Ë`m§Mo àíZ
4) amOH$s` ̂ yJmob - àemgH$s` {d^mJ, ñWmZo Am{U gr‘m

1) ‘hmamḯ>mVrb bmoH$g§»`m , bmoH$g§»`m ñWbm§Va

1) 2011 À¶m OZJUZoZwgma ‘hmamï´>mMo qcJ à‘mU H$m¶ Amho ?
1) 940 2) 921 3) 929 4) 1021

1) What  is the sex ratio Maharashtra as per the 2011 census ?

1) 940 2) 921 3) 929 4)  1021

2) OZJUZm 2011 à‘mUo Z§Xwa~ma {OëømMm ór-nwéf à‘mU Xa {H$Vr hmoVm ?
1) 700 Vo 800 Xaå¶mZ 2) 800 Vo 900 Xaå¶mZ
3) 900 Vo 1000 Xaå¶mZ 4) darbn¡H$s Zmhr

2) What was the sex ratio of Nandurbar district as per the Census 2011 ?

1) Between 700 to 800 2) Between 800 to 900

3) Between 900 to 1000 4) None of the above

3) ‘hmamï´> amÁ¶mVrb bmoH$g§»¶oMr Xedm{f©H$ dmT> (2001-2011) ................ hmo¶.
1) 15.99% 2) 11.50% 3) 21.37% 4) 36.01%

3) The population decadal growth rate in Maharashtra (2001-2011)     is .........

1) 15. 99% 2) 11.50% 3) 21.37% 4) 36.01%
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4) gZ 2011 À¶m OZJUZm A§{V‘ ‘moOUrZwgma ‘hmamï´>mV Imcrcn¡H$s {H$Vr Q> o̧$ gmjaVm hmoVr?
1) 77.27 % 2) 82.3 % 3) 64.4 % 4) 73.45 %

4) According to the final count of 2011 census, what percentage of the following was literacy in

Maharashtra?

1) 77.27 % 2) 82.3 % 3) 64.4 % 4) 73.45 %

5) ‘hmamï´>mÀ¶m bmoH$g§»¶oMr KZVm 1951 ‘Ü¶o .............. Am{U 2011 ‘Ü¶o .......... hmoVr.
1) 110, 465 2) 75, 361 3) 104, 365 4) 60, 265

5) The density of population in Maharashtra was ................ in 1951 and ............  2011.

1)  110, 465 2)  75, 361 3)  104, 365 4)  60, 265

6) OZJUZm 2011 à‘mUo ‘hmamï´>mVrb 0 Vo 6 d¶moJQ>mVrb bmoH$g§»¶oMo qbJ JwUmoÎma {H$Vr Amho?
1) 894 2) 864 3) 854 4) 898

6) What is sex ratio of 0 to 6 a9e group population in IVlaharashtra as per the census 2011 ?

1) 894 2) 864 3) 854 4) 898

7) ‘hmamï´> amÁ¶mVrb AZwgy{MV O‘mVrÀ¶m bmoH$g§»¶oMr EHy$U amÁ¶mÀ¶m bmoH$g§»¶oer Agbobr gZ 1971, gZ 1981,
gZ 1991, gZ 2001, gZ 2011 ¶m XeH${Zhm¶ Q> o̧$dmar AZwH«$‘o Imbrbn¡H$s H$moUVr Amho ?
1) 7.62%, 9.19%, 9.27%, 8.85%, 9.35% 2) 7.62%, 9.27%, 8.85%, 9.19%, 9.35%
3) 7.62%, 9.19%, 8.85%, 9.27%, 9.35% 4) 7.62%, 9.19%, 9.35%, 9.19%, 9.27%

7) Which of the following is the decade wise percentage of scheduled tribe population in Maharashtra

state to the total state population in the year 1971, year 1981, year 1991, year 2001, year 2011

respectively?

1) 7.62%, 9.19%, 9.27%, 8.85%, 9.35% 2) 7.62%, 9.27%, 8.85%, 9.19%, 9.35%

3) 7.62%, 9.19%, 8.85%, 9.27%, 9.35% 4) 7.62%, 9.19%, 9.35%, 9.19%, 9.27%

8) OZJUZm 2011 à‘mUo H$moUË¶m {OëømMr bmoH$g§»¶m OmñV Amho?
1) Am¡a§Jm~mX 2) OiJmd 3) Zm§XoS> 4) ¶dV‘mi

8) As per census 2011, which of the following districts has high population ?

1)  Aurangabad 2)  Jalgaon 3)  Nanded 4)  Yeotmal

9) OZJUZm 2001 à‘mUo Imbrbn¡H$s H$moUË¶m {OëømMr bmoH$g§»¶m KZVm 200 nojm H$‘r hmoVr ?
1) Zm§XoS> 2) OmbZm 3) Ah‘XZJa 4) ¶dV‘mi

9) As per the Census 2001 which of the following districts has less than 200 population density ?

1) Nanded 2) Jalna 3) Ahmednagar 4) Yavatmal

10) OZJUZm 2011 à‘mUo Imbrb {Oëøm§Mm bmoH$g§»¶m KZVog§X^m©V CVaVm H«$‘ AmoiIm.
a) H$moëhmnya b) OiJmd c) nwUo d) ZmJnya
n¶m©¶r CÎmao …
1) (b), (e), (d), (a), (c) 2) (a), (c), (d), (b), (e)

3) (c), (d), (a), (e), (b) 4) (c), (a), (d), (b), (e)
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10) Find out the descending order of the following districts regarding density of population as per

census 2011.

a) Kolhapur b) Jalgaon c) Solapur

d) Nagpur (e) Nagpur

Answer Options :

1) (b), (e), (d), (a), (c) 2) (a), (c), (d), (b), (e)

3) (c), (d), (a), (e), (b) 4) (c), (a), (d), (b), (e)

11) OZJUZm 2011 à‘mUo H$moUË¶m {OëømMo qbJJwUmoÎma OmñV Amho.
1) gmVmam 2) Am¡a§Jm~mX 3) ~wbT>mUm 4) OiJmd

11) As per Census 2011, which of the following district has high sex-ratio ?

1) Satara 2) Aurangabad 3) Buldhana 4) Jalgaon

12) 2011 À¶m OZJUZoZwgma ‘hmamï´>mVrb H$moUË¶m {OëømV gdm©{YH$ qbJJwUmoÎma AmT>iVo ?
1) Jm|{X¶m 2) aËZm{Jar 3) qgYwXþJ© 4) JS>{Mamobr

12) According to the Census 2011, which district has the highest sex ratio in Maharashtra ?

l)  Gondia 2)  Ratnagiri 3)  Sindhudurg 4)  Gadchiroli

13) OZJUZm 2011 à‘mUo Imbrbn¡H$s H$moUË¶m {Oëøm§Mr EHy$U bmoH$g§»¶m 15 bmIm§À¶m da Amho ?
A) M§Ðnya ~) ~wbT>mUm H$) OmbZm 4) na^Ur
n¶m©¶r CÎmao …
1) (H$), (S>) 2) (A), (H$) 3) (~), (H$), (S>) 4) (A), (~), (H$), (S>)

13) Which of the following districts has a total population above 15 lakhs as per Census 2011?

a) Chandrapur b) Buldhana c) Jalna 4) Parbhani

Answers options :

1) (c), (d) 2) (a), (c) 3) (b), (c), (d) 4) (a), (b), (c), (d)

14) 2011 À¶m OZJUZoZwgma Imbrbn¡H$s H$moUË¶m {Oëøm‘Ü¶o ór gmjaVoMo à‘mU A{YH$ Amho?
1) A‘amdVr 2) ~rS> 3) OmbZm 4) Z§Xþa~ma

14) According to the 2011 census, which of the following district has highest female literacy ?

1)  Amaravati 2)  Beed 3)  Jalana 4)  Nandurbar

15) OZJUZm 2011 À¶m g§X^m©V Imbrb {dYmZo nhm …
A) ‘hmamï´>mV gdm©V OmñV bmoH$g§»¶m R>mUo {OëømV AgyZ Ë¶m ImbmoImb nwUo {OëømMm bmoH$g§»¶oV Xþgam H«$‘m§H$

bmJVmo.
~) aËZm{Jar {OëømMr bmoH$g§»¶oMr KZVm 196 Amho.
H$) H$moëhmnya {OëømMr bmoH$g§»¶oMr KZVm 700 nojm OmñV Amho.
n¶m©¶r CÎmao …
1) ’$º$ {dYmZ A ~amo~a Amho 2) ’$º$ {dYmZ ~ ~amo~a Amho
3) ’$º$ {dYmZ H$ ~amo~a Amho 4) {dYmZ A Am{U ~ ~amo~a AmhoV
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15) Observe the following statements regarding the 2011 census :

a) The highest population is found in Thane district of Maharashtra while the Pune district ranks

second in population.

b) The density of population of Ratnagiri district is 196.

c) The density of population of Kolhapur district is more than 700.

Answer options:

1) Only statement a is correct 2) Only statement b is correct

3) Only statement c is correct 4) Statements a and b are correct

16) OZJUZm 2001 Vo 2011 Xaå¶mZ bmoH$g§»¶oV Pmboë¶m ~Xbmà‘mUo {Oëøm§Mm CVaVm H«$‘ bmdm.
a) R>mUo b) gmVmam c) OmbZm
d) qgYwXwJ© e) Ah‘XZJa
n¶m©¶r CÎmao …
1) (c), (a), (e), (d), (b) 2) (a), (c), (e), (b), (d)

3) (c), (a), (b), (e), (d) 4) (d), (b), (c), (a), (e)

16) Arrange the following districts in descending order as per the changes in population during census

2001 to 2011.

a) Thane b) Satara c) Jalna

d) Sindhudurg e) Ahmednagar

Answer Options :

1) (c), (a), (e), (d), (b) 2) (a), (c), (e), (b), (d)

3) (c), (a), (b), (e), (d) 4) (d), (b), (c), (a), (e)

17) 2001 À¶m OZJUZoZwgma ‘hmamï´>mVrb bmoH$g§»¶oÀ¶m CÎmaË¶m H«$‘mZwgma {Oëøm§Mm JQ> {Xbobm Amho, Imbrbn¡H$s
AMyH$ JQ> AmoiIm …
1) R>mUo, Zm{eH$, nwUo, OiJmd, Ah‘XZJa 2) R>mUo, nwUo, Zm{eH$, OiJmd, Ah‘XZJa
3) R>mUo, nwUo, Zm{eH$, Ah‘XZJa, OiJmd 4) R>mUo, Zm{eH$, Ah‘XZJa, nwUo, OiJmd

17) According to the Census 2001, the district groups are given in descending order of population.

Identify the correct group.

1) Thane, Nashik, Pune, Jalgaon, Ahmednagar

2) Thane, Pune, Nashik, Jalgaon, Ahmednagar

3) Thane, Pune, Nashik, Ahmednagar, Jalgaon

4) Thane, Nashik, Ahmednagar, Pune, Jalgaon

18) ‘hmamï´> amÁ¶mVrb AZwgy{MV O‘mVrÀ¶m bmoH$g§»¶m {df¶H$ ‘m{hVr~m~V Imbrbn¡H$s H$moUVo {dYmZ Iao Amho ?
a) gZ 1991 À¶m OZJUZoZwgma ‘hmamï´> amÁ¶mV AZwgy{MV O‘mVrMr gdm©{YH$ bmoH$g§»¶m Zm{eH$ {OëømV hmoVr.
b) gZ 2001 À¶m OZJUZoZwgma ‘hmamï´> amÁ¶mV AZwgy{MV O‘mVrMr gdm©{YH$ bmoH$g§»¶m Zm{eH$ {OëømV hmoVr.
c) gZ 2011 À¶m OZJUZoZwgma ‘hmamï´> amÁ¶mV AZwgy{MV O‘mVrMr gdm©{YH$ bmoH$g§»¶m Zm{eH$ {OëømV hmoVr.
d) gZ 2001 À¶m OZJUZoZwgma ‘hmamï´> amÁ¶mV AZwgy{MV O‘mVrMr gdm©V H$‘r bmoH$g§»¶m qgYwXþJ© {OëømV Amho.
n¶m©¶r CÎmao …
1) c d d 2) a d b 3) ’$º$ b 4) ’$º$ a
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18) Which of the following statements is true regarding the demographic data of Scheduled Tribes in

Maharashtra State?

a) According to the 1991 census, Nashik district had the largest population of Scheduled Tribes

in the state of Maharashtra.

b) According to the 2001 census, Nashik district had the largest population of Scheduled Tribes

in the state of Maharashtra.

c) According to the 2011 census, Nashik district had the largest population of Scheduled Tribes

in the state of Maharashtra.

d) Sindhudurg district has the lowest population of Scheduled Tribes in the state of Maharashtra

as per the 2001 census.

Answer Options :

1) c and d 2) a and b 3) b only 4) a only

19) 2011 À¶m OZJUZoà‘mUo ‘hmamï´>mVrb ZmJarH$aUm~m~V H$moUVo/H$moUVr dm³¶ MwH$sMo Amho/AmhoV?
A) ZmJar bmoH$g§»¶oMr Q> o̧$dmar 45.23 Amho.
~) ‘hmamï´>mMm ZmJar bmoH$g§»¶oV {Vgam H«$‘m§H$ bmJVmo.
H$) ‘hmamï´>mMr ZmJar bmoH$g§»¶m 5,08,27,500 BVH$s Amho.
S>) ‘hmamï´>mVrb Z§Xþa~ma {OëømMr ZmJarH$aUmMr nmVir gdm©V H$‘r Amho.
n¶m©¶r CÎmao …
1) ’$º$ A Am{U ~ 2) ’$º$ H$ 3) ’$º$ A Am{U H$ 4) ’$º$ S>

19) As per  2011 Census, which sentences is / are false for urbanization in Maharashtra?

a) The percentage of urban population is 45.23.

b) Maharashtra stands third in urban population.

c) Urban population of Maharashtra is 5,08,27,500.

d) The lowest urbanization level is in the Nandurbar district of Maharashtra.

Answer Options :

1) Only a and b 2) Only c 3) Only a and c 4) Only d

20) ‘hmamï´>mVrb gdm©V OmñV qbJ-JwUmoÎma H$moH$UmVrb qgYwXþJ© d aËZm{Jar {OëømV AgÊ¶mMo H$maU -
1) H$moH$UmVrb ¶m {OëømV ór- «̂yU hÎ¶oMo Agbobo H$‘r à‘mU
2) H$moH$UmVrb ¶m {OëømVyZ ‘§w~B©À¶m Am¡Úmo{JH$ àXoemH$S>o nwéf H$m‘Jmam§Mo hmoUmao ~mø ñWbm§Va
3) {ddmhmàg§Jr dYynjmbm {Xbm OmUmam hþ§S>m
4) ¶m {OëømV Amamo½¶ d d¡ÚH$s¶ gw{dYm§‘Ü¶o Pmboë¶m gwYmaUm§‘Ü¶o ‘wbtÀ¶m g§»¶oV hmoUmar dmT>

20) Why is the sex-ratio in the districts of Sindhudurg and Ratnagiri in Konkan maximum in

Maharashtra?

1) Low rate of female foeticide in these districts of the Konkan.

2) Out-migration of male working population from these districts of Konkan to the industrial

region of Mumbai.

3) Dowry is given to bride on the occasion of marriage

4) The number of female children is increasing due to improvement in health and medical facilities

in these districts.
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21) ‘hmamï´> amÁ¶mV 1911 Vo 1921 ¶m XeH$mV bmoH$g§»¶m dmT> F$UmË‘H$ hmoVr ¶mMo H$maU åhUOo …
1) Ë¶m H$mimVrb H$‘r OÝ‘Xa 2) gmWrÀ¶m amoJm§‘wio ‘¥Ë¶yXamVrb dmT>
3) nwam‘wio Pmbobo ‘¥Ë¶y 4) Am¡Úmo{JH$aUmMm A^md

21) In the decade of 1911 to 1921 the Population Growth in the State of Maharashtra was negative.

The-reason behind it is ....

1) Low birth rate during that period 2) High death due to epidemic

3) More deaths due to flood 4) Lack of industrialisation

22) J«m‘rU ^mJmVrb bmoH$g§»¶m gVV H$‘r hmoV Amho. H$maU …
1) J«m‘rU ^mJmVrb OÝ‘Xa H$‘r Amho. 2) J«m‘rU ^mJmVyZ ehamH$S>o ñWbm§Va hmoVo.
3) J«m‘rU ^mJmV amoOJma CnbãYVm H$‘r AgVo. 4) J«m‘rU ^mJmV ‘¥Ë¶yXa OmñV AgVmo.
darbn¡H$s H$moUVo {dYmZ/{dYmZo ~amo~a AmhoV?
1) (b) Am{U (c) 2) ’$º$ (b) 3) (a) Am{U (d) 4) ’$º$ (d)

22) The population is decreasing continuously in rural area, because :

a) The birth rate in rural area is low.

b) The rural people are migrating to urban area.

c) The employment is not available in rural area.

d) The death rate is high in rural area.

Which statement/s of the above is true ?

1) (b) and (c) 2) only (b) 3) (a) and (d) 4) only (d)

2) ‘hmamḯ>mVrb O‘mVr, d§e Am{U ^mfm

1) ‘hmamï´> amÁ¶mV AZwgy{MV O‘mVrg§X^m©V nwT>rbn¡H$s ho/hr {dYmZ/{dYmZo gË¶ Amho/AmhoV.
A) ‘hmamḯ>mMo ̂ m¡Jmo{bH$ joÌ 3,07,713 Mm¡.{H$‘r. EdT>o AgyZ Ë¶mn¡H$s 50,757 Mm¡.{H$‘r. joÌ Am{Xdmgr Cn¶moOZoImbr
¶oVo.
~) 2011 À¶m OZJUZoZwgma ‘hmamï´>mÀ¶m EHy$U bmoH$g§»¶on¡H$s 8.35% Am{Xdmgr bmoH$g§»¶m Amho.
n¶m©¶r CÎmao …
1) ’$º$ "A' 2) ’$º$ "~' 3) XmoÝhrhr {dYmZo gË¶ 4) XmoÝhrhr {dYmZo AgË¶

1) Which of the following statement(s) is/are true regarding Scheduled Tribes in the state of

Maharashtra.

a) Geographical area of Maharashtra is 3,07,713 sq. km. This is 50,757 sq. km. The area comes

under Tribal Upojana.

b) Tribal population is 8.35% of the total population of Maharashtra as per 2011 census.

Answer Options :

1) a only 2) b only

3) Both the statements are true 4) Both the statements are false

2) àm‘w»¶mZo H$mobm‘ ¶m Am{X‘ O‘mVrMo dmñVì¶ ‘hmamï´>mV H$moUË¶m {OëømV Amho ?
1) JS>{Mamobr 2) ¶dV‘mi 3) Z§Xwa~ma 4) nmbKa

2) Kolam, a primitive tribe, mainly resides in which district of Maharashtra?

1) Gadchiroli 2) Yavatmal 3) Nandurbar 4) Palghar
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3) Imbrb {dYmZm§Mm {dMma H$am.
a) AZwgy{MV joÌ (‘hmamï´>) AmXoe, 1985 ‘Yrb Kmo{fV Ho$bobo joÌ gZ 1981 À¶m OZJUZoà‘mUo g‘m{dï> Ho$boë¶m

JmdmÀ¶m AmYmamda hmoVo.
b) ‘hmamï´> amÁ¶mVrb Am{Xdmgr Cn¶moOZm joÌ 1990 ho gZ 1981 À¶m OZJUZoà‘mUo g‘m{dï> Ho$boë¶m JmdmÀ¶m

AmYmamda hmoVo.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
1) a d b XmoÝhr ~amo~a 2) a MyH$ d b ~amo~a 3) a ~amo~a d b MyH$ 4) a d b XmoÝhrhr MyH$

3) Consider the following statements.

a) The area declared in the Scheduled Areas (Maharashtra) Order, 1985 was on the basis of

villages included as per 1981 census.

b) The tribal deployment area of Maharashtra State 1990 was on the basis of villages included as

per 1981 census.

Which of the above statements is correct?

1) Both a and b are correct 2) a is wrong and b is correct

3) a is correct and b is wrong 4) a and b are both wrong

4) ‘hmamï´> amÁ¶m‘Ü¶o (gZ 1981 À¶m OZJUZoda AmYm[aV) ¶dV‘mi {OëømVrb Imbrb Vmbw³¶m§Mm g‘mdoe A{V[aº$
Am{Xdmgr Cn¶moOZ joÌmV Ho$bm Amho.
1) ‘maoJm§d, ¶dV‘mi, ~m ŵiJm§d, H$i§~, nwgX, ‘hmJm§d d C‘aIoS>
2) ‘maoJm§d, ¶dV‘mi, nm§T>aH$dS>m, Par Om‘Ur, KmQ>§Or, ‘hmJm§d d nwgX
3) nm§T>aH$dS>m, nwgX, Xmaìhm, {XJ«g, ~m ŵiJm§d, amioJmd d Par Om‘Ur
4) ¶dV‘mi, Par Om‘Ur, Zoa, C‘aIoS>, ‘maoJm§d, KmQ>§Or d H$i§~

4) The following talukas of Yavatmal district have been included in Additional Tribal Deployment

Areas in the State of Maharashtra (based on 1981 Census).

1) Maregaon, Yavatmal, Babhulgaon, Kalamb, Pusad, Mahagaon and Umarkhed

2) Maregaon, Yavatmal, Pandharkawda, Zari Jamni, Ghatji, Mahagaon and Pusad

3) Pandharkawda, Pusad, Darwa, Digras, Babhulgaon, Ralegaon and Zari Jamni

4) Yavatmal, Zari Jamni, Ner, Umarkhed, Maregaon, Ghatji and Kalamb

5) gømÐr JQ>mVrb Am{Xdmgr O‘mVtMo ‘moR>çm à‘mUmda H|$ÐrH$aU Imbrb {Oëøm§‘Ü¶o AmT>iVo.
1) Zm{eH$, R>mUo, am¶JS> 2) R>mUo, am¶JS>, aËZm{Jar
3) am¶JS>, aËZm{Jar, qgYwXþJ© 4) Zm{eH$, R>mUo, aËZm{Jar

5) Major concentration of the tribal communities in Sahyadri group is found in the following districts.

1) Nasik, Thane, Raigad 2) Thane, Raigad, Ratnagiri

3) Raigad, Ratnagiri, Sindhudurg 4) Nasik, Thane, Ratnagiri

3) ‘hmamḯ>mVrb dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d Ë`m§Mo àíZ

1) OZJUZm 2001 Am{U 2011 à‘mUo R>mUo {Oëøm‘Ü¶o .......... Am{U .......... ehao hmoVr.
1) 27 Am{U 47 2) 48 Am{U 51 3) 37 Am{U 51 4) 50 Am{U 56

1) As per the census 2001 and 2011 and towns exist in Thane district.

1) 27 and 47 2) 48and51 3) 37 and51  4) 50and 56
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2) ^maV gaH$maZo gwê$ Ho$boë`m "ñ‘mQ>© {gQ>r {‘eZ'‘Ü ò ‘hmamï´>mVrb Imbrb eham§Mm g‘mdoe H$aÊ`mV Ambm Amho.
¶m~m~V MwH$sMm n`m©̀  {ZdS>m :
1) nwUo 2) H$moëhmnya 3) R>mUo 4) qnnar-qMMdS>

2) The following cities from Maharashtra are included in ‘SMART CITY Mission launched by the

Government of India. Choose the incorrect option :

1) Pune 2) Kolhapur 3) Thane 4) Pimpri-Chinchwad

3) ‘hmamï´>mVrc ......... ^mJmV àm‘w»¶mZo H|${ÐV dgmhVr AmT>iVmV.
1) H$m|H$U 2) X»IZ nR>ma
3) npíM‘ KmQ>‘mWm 4) nyd© {dX^m©Mm Q>oH$S>çm§Mm àXoe

3) Cluster settlements are found in ........... area of Maharashtra.

1) Konkan 2) Deccan Plateau

3) Western Ghat top 4) Hilly areas of Eastern Vidarbha

4) amÁ¶mV J«m‘rU ^mJmV Kao ~m§YÊ¶mgmR>r H$moUVr ¶moOZm Amcr d Vr H$Yr gwé Pmcr ?
1) S>m°. ‘wIOu {Zdmam ¶moOZm - 2014 2) B§{Xam Amdmg ¶moOZm - 1989
3) Odmha Amdmg ¶moOZm - 1995 4) amoOJma h‘r ¶moOZm - 2011

4) When and which house building scheme was started in rural area of the state ?

1) Dr. Mukharji Niwara Yojana - 2014 2) Indira Awas Yojana - 1989

3) Jawahar Awas Yojana - 1995 4) Rojgar Hami Yojana - 2011

5) ‘hmamï´>mVrb gømÐr nd©V am§JoV Imbrbn¡H$s H$moUË¶m àH$maMo dñVrMo àmê$n AmT>iVo ?
1) {ÌH$moUr àmê$n 2) aofmH¥$Vr àmê$n 3) VmamH¥$Vr àmê$n 4) nm¶è¶m nm¶è¶mMo àH$ën

5) Which kind of settlement pattern is found in Sahyadri ranges of Maharashtra ?

1) Triangies pattern 2) Linear pattern 3) Star pattern 4) Step pattern

6) Imbrbn¡H$s H$moUVo {dYmZ/{dYmZo gË¶ Amho/AmhoV ?
aoIrd dgmhV àmê$n ‘Ü¶o Ka ~m§YUr ............ À¶m bJV (H$S>oH$S>oZo) AmT>iVo.
a) aoëdo Am{U añË¶m b) gamodamÀ¶m {H$Zmè¶m bJV
c) ZXr Mm {H$Zmam Am{U g‘wÐ VQ> d) nd©VmÀ¶m nm¶Ï¶mer
n¶m©¶r CÎmao …
1) darbn¡H$s gd© 2) (a), (b) Am{U (c) 3) (a) Am{U (b) 4) (b), (c) Am{U (d)

6) Which of the following statements is/are correct ?

In linear settlement pattern, the buildings are constructed along

(a)  Railway lines and roads

(b)  Lake-shores

(c)  River-banks and sea-shores

(d)  Poot of mountains

Answer Options :

1)  All of the above 2)  (a), (b) and (c) 3)  (a) and (b) 4)  (b), (c) and (d)

7) ........... dgmhV/dñË¶m gwnrH$ ‘¡XmZ Am{U nmÊ¶mÀ¶m {R>H$mUm§ Odi/bJV AmT>iVmV.
1) gYZ/H|$Ðr` 2) AY©-gYZ 3) àH$sU©/{dIwabobr 4) AñWm`r
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7) ............  settlements are found in fertile plains and along water bodies.

1)  Compact/Nucleated 2)  Semi-compact

3)  Dispersed 4)  Unstable

8)  ‘hmamḯ> J¥h{Z‘m©U d joÌ{dH$mg àm{YH$aUmMr ñWmnZm ............ gmbr Pmbr.
1) 1976 2) 1977 3) 1978 4) 1979

8) Maharashtra Housing and Area Development Authority was established in

1) 1976 2) 1977 3) 1978 4) 1979

9) ^maVmVrb EHy$U IoS>çmn¡H$s {H$Vr Q> o̧$ IoS>o ‘hmamï´>mV AmhoV?
1) 7.00% 2) 7.28% 3) 7.20% 4) 7.22%

9) What is the percentage of villages in Maharashtra out of total Indian villages ?

1) 7.00% 2) 7.28% 3) 7.20% 4) 17.22%

10) M§Ðnya {OëømV ...... H$maUm‘wio {dIwaboë¶m dñË¶m AmT>iVmV.
1) dZ-ì¶má àXoe 2) nO©Ý¶-N>m¶oMm àXoe 3) AY©-ewîH$ àXoe 4) XþJ©‘ ^mJ

10) In Chandrapur district, scattered settlements are found due to ......

1) Forest-covered region 2) Rain-shadow region

3) Semi-arid region 4) Remote area

11) ‘hmamï´>mVrb Mmir d Kao ¶m§Mm {dH$mg H$aUmar g§ñWm åhmS>m (MHADA) Ho$ìhm CX¶mg Ambr ?
1) OyZ 1975 2) OmZodmar 1985 3) {S>g|~a 1957 4) {S>g|~a 1977

11) MHADA an Institute in Maharashtra which developes slums and houses when has it come into

existence ?

1) June 1975 2) January1985 3) December 1957 4) December 1977

12) ‘hmamï´>m‘Ü¶o PmonS>nÅ>r nwZd©gZ àm{YH$aUmMo (SRA) AÜ¶j H$moU AmhoV ?
1) ‘w»¶‘§Ìr 2) Cn‘w»¶‘§Ìr 3) ‘w»¶ g{Md 4) darbn¡H$s Zmhr

12) Who is the President of Slum Rehabilitation Authority (SRA) in Maharashtra ?

1) Chief Minister 2) Deputy Chief Minister

3) Chief Secretary, 4) None of the above

13) H$moUVo {dYmZ ‘hmamï´>mVrb eharH$aUmÀ¶m g§X^m©V MwH$sMo Amho ?
1) gdm©V OmñV à‘mUmV ZmJarH$aU ‘w§~B© d ^modVmbÀ¶m n[agamV H|$ÐrV Pmbo Amho.
2) bhmZ d ‘Ü¶‘ ehao EH$mpË‘H$ {dH$mg ¶moOZm (IDSMT) {S>g|~a 1985 bm gwê$ Pmbr.
3) 1951 Z§Va dJ©-5 d dJ©-6 eham§Mr bmoH$g§»¶m hiyhiy H$‘r hmoV Jobr.
4) 1951 Z§Va dJ©-1 eham§Mr bmoH$g§»¶m PnmQ>çmZo dmT>rg bmJbr.

13) Which statement is mot correct regarding the trends of urbanisation in Maharashtra ?

1) Most of the urban development is concentrated in and around Mumbai.

2) Scheme of Integrated Development of Small and Medium Towns (IDSMT) was launched in

December 1985.

3) Since 1951 onwards, the population in Class 5 and Class 6 towns started declining gradually.

4) Since 1951 onwards, the population in Class  1 cities started increasing at a rapid rate.
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14) ‘hmamï´>mÀ¶m 'pìhOZ 2030' n{ÌHo$Zwgma, ‘hmamï´>mVrb gm‘m{OH$ nm¶m ŷV gw{dYm§{df¶r Imbrbn¡H$s H$moUVo ‘wÔo ¶mo½¶
AmhoV?
A) S>m°³Q>a - bmoH$g§»¶m JwUmoÎma - 1 … 1418
~) ~mb qbJ JwUmoÎma - 894
H$) nmBnmÛmao nmUr nwadR>m ì¶dñWoZo bm^mWu J«m‘rU bmoH$g§»¶oMr Q> o̧$dmar - 84.9
S>) à{V dJ© Imobr embo¶ {dÚmWu g§»¶m - 31
n¶m©¶r CÎmao …
1) A, ~, H$ Am{U S> 2) Ho$di A Am{U H$ 3) Ho$di A, ~ Am{U H$ 4) Ho$di ~, H$ Am{U S>

14) Which of the following points about social infrastructure in Maharashtra is correct, as per ‘Vision

2030’ document of Maharashtra ?

a) Doctor — Population Ratio — 1 : 1418

b) Child Sex Ratio — 894

c) Percentage of rural population covered under piped water supply — 84:9

d) Average school students per classroom — 31

Answer Options :

1) a, b,c and d 2) Only a and c 3) Only a, b and c 4) Only b, c and d

15) ‘hmamï´> emgZmÀ¶mdVrZo am~{dUmao 'J«m‘ ñdÀN>Vm A{^¶mZmMm' ‘w»¶ CÔoí¶ åhUOo …
A) J«m‘rU g‘mOmVrb OmVr`dmX H$‘r H$aUo. ~) J«m‘rU ^mJmV em¡MmMm Cn¶moJ H$aUo.
H$) ‘mUgmMr ‘Zo ñdÀN> H$aUo. S>) J«m‘rU ^mJmVrb hdm ñdÀN> H$aUo.
darbn¡H$s H$moUVo {dYmZ/Zo ~amo~a Amho/V?
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ Am{U S> 3) ’$º$ A Am{U S> 4) ’$º$ ~

15) The main objectives of ‘Gram Swachata Abhiyan’ run by the Government of Maharashtra is :

a) Reduce casteism in rural society. b) Use of toilets in rural area.

c) Cleaning the human soul. d) Cleaning the air in rural area.

Which of the above statements is/are correct ?

Answer Options :

1) Only a 2) Only c and d 3) Only a and d 4) Only b

16) amÁ¶mV J«m‘rU ^mJmV Kao ~m§YÊ¶mgmR>r H$moUVr ¶moOZm Amcr d Vr H$Yr gwé Pmcr ?
1) S>m°. ‘wIOu {Zdmam ¶moOZm - 2014 2) B§{Xam Amdmg ¶moOZm - 1989
3) Odmha Amdmg ¶moOZm - 1995 4) amoOJma h‘r ¶moOZm - 2011

16) When and which house building scheme was started in rural area of the state ?

1) Dr. Mukharji Niwara Yojana - 2014 2) Indira Awas Yojana - 1989

3) Jawahar Awas Yojana - 1995 4) Rojgar Hami Yojana - 2011

4) amOH$s` ŷJmob - àemgH$s` {d^mJ, ñWmZo Am{U gr‘m

1) ‘hmamï´>mVrb {H$Vr {Oëøm§À¶m gr‘m H$Zm©Q>H$ amÁ¶mg bmJyZ AmhoV?
1) 5 2) 6 3) 7 4) 8

1) How many districts of Maharashtra have borders with state of Karnataka ?

1) 5 2) 6 3) 7 4) 8
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2) Zm{eH$ {d^mJm‘Ü¶o {H$Vr VmbwHo$ AmhoV?
1) 54 2) 52 3) 56 4) 51

2) How many talukas are there in Nashik division ?

1) 54 2) 52 3) 56 4) 51

3) ‘hmamï´>mVrc gd© {Oëho ........... àemgH$s¶ {d^mJmV {d^mJco AmhoV.
1) nmM 2) ghm 3) gmV 4) VrZ

3) All districts of Maharashtra are divided into .......... administrative divisions.

1) Five 2) Six 3) Seven 4) Three

4) Imcrc {dYmZo nhm.
a) OmcZm {Oëhm qhJmocr {OëømÀ¶m nyd}g Amho.
b) Ywio Am{U Z§Xwa~ma {Oëømg XmoZ amÁ¶m§À¶m gr‘m AmhoV.
c) ‘hmamï´> amÁ¶mMo ^m¡Jmo{cH$ joÌ’$i 307713 Mm¡.{H$.‘r. Amho.
n¶m©¶r CÎmao :
1) ’$º$ (a) {dYmZ ~amo~a Zmhr 2) ’$º$ {dYmZ (b) ~amo~a Zmhr
3) ’$º$ {dYmZ (c) ~amo~a Zmhr a 4) {dYmZ (a) Am{U (b) ~amo~a ZmhrV

4) Observe the following statements :

a) Jalna district is located to the east of Hingoli district.

b) Dhule and Nancurbar districts have borders of two states.

c) The Geographical area of Maharashtra state is 307713 sq.km.

Answer options :

1) Only statement (a) is incorrect 2) Only statement (b) is incorrect

3) Only statement (c) is incorrect 4) Statements (a) and (b) are incorrect

5) OmoS>çm Owidm.
àemgH$s¶ {d^mJ VmcwH$m
a) A‘amdVr i) Imcmnya
b) ZmJnya ii) goZJmd
c) Am¡a§Jm~mX iii) {^dmnya
d) H$moH$U iv) KmQ>§Or
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (i) (ii) (iv)

4) (iv) (iii) (i) (ii)

5) Match the following :

Administrative Division Tahsil

a) Amravati i) Khalapur

b) Nagpur ii) Sengaon

c) Aurangabad iii) Bhivapur

d) Konkan iv) Ghatanji
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Answer options :

(a) (b) (c) (d)

1) (iv) (iii) (ii) (i)

2) (i) (ii) (iii) (iv)

3) (iii) (i) (ii) (iv)

4) (iv) (iii) (i) (ii)

6) ~rS> {Oëhm ‘hmamï´>mVrb .......... àemgH$s¶ {d^mJmV Amho.
1) Am¡a§Jm~mX 2) Zm{eH$ 3) A‘amdVr 4) nwUo

6) District Beed is in the division of Maharashtra.

1) Aurangabad 2) Nashik 3) Amravati 4) Pune

7) H$moUË¶m àemgH$s¶ {d^mJmV {OëømMr g§»¶m A{YH$ Amho ?
1) nwUo {d^mJ 2) ZmJnya {d^mJ 3) H$moH$U {d^mJ 4) Am¡a§Jm~mX {d^mJ

7) Which Administrative Division consists more number of districts ?

1) Pune Division 2) Nagpur Division 3) Konkan Division      4) Aurangabad Division

8) ‘hmamï´>mVrc H$moUË¶m àemgH$s¶ {d^mJmV gdm©V OmñV {Oëho AmhoV ?
1) Am¡a§Jm~mX 2) nwUo 3) H$moH$U 4) ZmJnya

8) Which administrative division has the highest number of districts in Maharashtra ?

1) Aurangabad 2) Pune 3) Konkan 4) Nagpur

9) OmoS>çm cmdm.
{Oëhm VmcwH$m
a) JS>{Mamocr i) {OdVr
b) M§Ðnya ii) Xodar
c) Jm|{X¶m iii) ‘wcMoam
d) §̂S>mam iv) cmIZr
n¶m©¶r CÎmao :

(a) (b) (c) (d)

1) (i) (iii) (iv) (i)

2) (iii) (i) (ii) (iv)

3) (iv) (iii) (i) (ii)

4) (ii) (iv) (iii) (i)

9) Match the following :

District Taluka

a) Gadchiroli i) Jiwati

b) Chandrapur ii) Deori

c)  Gondia iii) Mulchera

d) Bhandara  iv) Lakhani
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Answer options :

(a) (b) (c) (d)

1) (i) (iii) (iv) (i)

2) (iii) (i) (ii) (iv)

3) (iv) (iii) (i) (ii)

4) (ii) (iv) (iii) (i)

10) Am¡a§Jm~mX àemgH$s¶ {d^mJm‘Ü¶o ^m¡Jmo{bH$ joÌ’$imÀ¶m Ñï>rZo gdm©V ‘moR>m d gdm©V bhmZ AgUmao {Oëho H$moUVo?
1) Am¡a§Jm~mX Am{U na^Ur  2) ~rS> Am{U qhJmobr 3) Zm§XoS> Am{U qhJmobr 4) Cñ‘mZm~mX Am{U OmbZm

10) Which district is largest and smallest in terms of geographical area in Aurangabad Administrative

division ?

1) Aurangabad and Parbhani 2) Beed and Hingoli

3) Aurangabad Hingoli 4) Osmanabad and Jalana

11) Am¡a§Jm~mX {d^mJmVrb gdm©V H$‘r d gdm©V OmñV joÌ’$i Agbobo {Oëho H$moUVo?
1) OmbZm, Am¡a§Jm~mX 2) na^Ur, Cñ‘mZm~mX 3) qhJmobr, ~rS> 4) bmVya, Zm§XoS>

11) In Aurangabad Division, which districts have the minimum and maximum area ?

1) Jalna, Aurangabad 2) Parbhani, Osmanabad

3) Hingoli, Beed 4) Latur, Nanded

12) H$moUË¶m {Oëøm§Mr gr‘m hr H$Zm©Q>H$ d Vob§JUm ¶m XmoZ amÁ¶m§Zm bmJyZ Amho/AmhoV ?
1) bmVya 2) Zm§XoS> Am{U bmVya 3) JS>{Mamobr Am{U Zm§XoS> 4) Zm§XoS>

12) Boundary of which district/s is/are adjacent to the two States, Karnataka and Telangana ?

1) Latur 2) Nanded and Latur 3) Gadchiroli and Nanded 4) Nanded

14) ‘hmamḯ> : H¥$fr, dZñnVr, ‘hmamḯ>mVrb O{‘ZrMo àH$ma d à‘wI nrHo$
1) ‘hmamḯ>mVrb H¥$fr joÌ
2) ‘hmamḯ>mVrb O{‘ZrMo àH$ma d à‘wI nrHo$
3) ‘hmamḯ>mVrb  I{ZOo Am{U D$Om© g§gmYZo

1) ‘hmamḯ>mVrb H¥$fr joÌ

1) ‘hmamï´>mV amÁ¶ emgZmZo Zrb H«$m§Vr YmoaU Ho$ìhm Omhra Ho$bo?
1) 2017 2) 2018 3) 2019 4) 2020

1) When State Government in Maharashtra has declared the Blue Revolution Mission ?

1) 2017 2) 2018 3) 2019 4) 2020

2) ‘hmamï´> amÁ¶ H¥$fr ~mOma ‘§S>imMr ñWmnZm ...... ‘Ü¶o Pmbr.
1) 1986 2) 1987 3) 1988 4) 1983

2) Maharashtra State Agricultural Marketing Board is established in ....

1) 1986 2) 1987 3) 1988 4) 1983
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3) OmoS>çm bmdm …
‘mgo‘mar ~§Xao {Oëho

a) S>hmUy i) ‘w§~B©
b) ‘m{h‘ ii) nmbKa
c) Xm^moi iii) qgYwXþJ©
d) {dO¶XþJ© iv) aËZm{Jar
n¶m©¶r CÎmao …

(a) (b) (c) (d)

1) (ii) (i) (iv) (iii)

2) (i) (ii) (iii) (iv)

3) (ii) (iv) (i) (iii)

4) (iii) (ii) (i) (iv)

3) Match the following :

Fishing Port District

(a)  Dahanu (i)  Mumbai

(b)  Mahim (ii) Palghar

(c)  Dabhol (iii) Sindhudurg

(d) ‘ Vijaydurg (iv) Ratnagiri

Answer Options :

1)  (ii)    (i)     (iv)    (iii)

2)  (i)    (ii)    (iii)   (iv)

3)  (ii)    (iv)    (i)    (iii)

4)  (iii)   (ii)    (i)    (iv)

4) ‘hmamï´>mVrb eoVr joÌmg§~§{YV H$mhr g‘ñ¶m Imbr {Xë¶m AmhoV. Ë¶mn¡H$s H$moUVr g‘ñ¶m hr gm‘m{OH$ ñdê$nmMr
Amho?
1) hdm‘mZmMr à{VHy$b n[apñWVr 2) ‘¶m©{XV H¥$fr g§emoYZ
3) Am{W©H$ ^m§S>dbmMm A^md 4) eoV O{‘ZrMo {d^mOZ

4) Following are some of the problems in the agricuture sector in Maharashtra. Which one is social

in nature ?

1) Adverse weather condition 2) Limited Agricultural research

3) Lack of financial capital 4) Fragmentation of farmland

5) ‘hmamï´>mÀ¶m eoVrg§X^m©Vrb {dYmZo nhm …
a) ‘¥XmYyn hr eoVrnwT>rb J§̂ ra g‘ñ¶m Zmhr.
b) ZXrnya, O§JbVmoS> Am{U A{Z~ªY MamB© ¶m ‘wio O{‘ZrMr Yyn hmoVo.
c) A{V[aº$ Ob qgMZm‘wio O{‘Zr jma¶wº$ hmoV AmhoV.
n¶m©¶r CÎmao …
1) {dYmZ (b) Am{U (c) ~amo~a AmhoV. 2) {dYmZ (a) Am{U (b) ~amo~a AmhoV.
3) {dYmZ (a), (b) Am{U (c) ~amo~a AmhoV. 4) {dYmZ (a), (b) Am{U (c) ~amo~a ZmhrV.
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5) Observe the statements regarding agriculture in Maharashtra:

a) Soil erosion is not a serious problem of agriculture.

b) Soil erosion takes place due to flooding in rivers, forest cutting and uncontrolled grazing.

c) Soils are saline due to over-irrigation.

Answer Options:

1) Statements (b) and (c) are correct 2) Statements (a) and (b) are correct

3) Statements (a), (b) and (c) are correct 4) Statements (a), (b) and (c) are not correct

6) nwT>rb {dYmZo ¶mo½¶ H$s A¶mo½¶?
a) eoVrÀ¶m ì¶mnmarH$aUmZo ^m§S>dbXmar eoVr à{H«$¶obm CÎmoOZ {‘imbo Zmhr.
b) eoVrÀ¶m ì¶mnmarH$aUm‘wio ^mS>oVÎdmdarb d{hdmQ> Am{U dmQ>o-{hññ¶m‘Yrb O‘rZ bmJdS>rMo à‘mU dmT>bo.
n¶m©¶r CÎmao …
1) (a) Am{U (b) ¶mo½¶ {dYmZo AmhoV.
2) (a) Am{U (b) ¶mo½¶ {dYmZo ZmhrV.
3) (a) {dYmZ MwH$sMo Am{U (b) {dYmZ ¶mo½¶ (~amo~a) Amho.
4) (a) {dYmZ ¶mo½¶ (~amo~a) Am{U (b) {dYmZ MwH$sMo Amho.

6) Following statements are correct or incorrect ?

a) Commercialisation of agriculture did not promote capitalist -agriculture.

b) Commercialisation of agriculture intensified tenancy and share-cropping.

Answer options :

1) (a) and (b) are true statements 2) (a) and (b) are false statements

3) (a) is false and (b) is true statement 4) (a) is true and (b) is false statement

7) nmdgmda AmYm[aV eoVr àUmbr‘Ü ò ................ g‘m{dï> Agmdo.
A) ‘mVrMr Yyn H$‘r H$aUo
~) ‘¥Xm g§dY©Z gwYmaUo
H$) e|Jm Am{U AmÀN>mXZ {nH$m§Mm nrH$ AmdV©ZmV g‘mdoe H$aUo
S>) g|{Ð` H$Mè`mMm dmna Q>miUo
n¶m©¶r CÎmao :
1) A Am{U ~ ’$º$ 2) ~ Am{U H$ ’$º$ 3) A, ~ Am{U H$ ’$º$ 4) darb gd©

7) Rainfed Farming Systems should include ................

a) Reducing soil erosion

b) Improving soil conservation

c) Inclusion of legumes and cover crops in crop rotations

d) Avoiding use of organic wastes ,

Answer options :

1) a and b only 2) b and c only 3) a, b and c only 4) All of the above
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2) ‘hmamḯ>mVrb O{‘ZrMo àH$ma d à‘wI nrHo$

1) ‘hmamï´>mVrb ‘amR>dmS>m Am{U {dX^m©V qgMZmda H$nmerMr noaUr `m ‘{hÝ`mV Ho$br OmVo.
1) 5 Vo 25 ‘o 2) 15 Vo 20 ‘mM© 3) 15 Vo 25 E{àb 4) 25 Vo 30 OyZ

1) In Marathwada and Vidarbha regions of Maharashtra, irrigated cotton sowing is advocated in the

month of

1) May 5 to 25 2) March 15 to 20 3) April 15 to 25 4) June 25 to 30

2) ‘¥Xm {Z{‘©Vrda AmYm[aV, ‘hmamï´>mÀ¶m ‘¥Xm dJuH$aUmMm gImob Am{U emór¶ Aä¶mg gd©àW‘ gZ 1938 ‘Ü¶o H$moUr
Ho$bm?
1) S>m°. S>r. pñ‘W 2) S>m°. Ho$bm°J Am{U S>m°. Wm°n©   3) S>m°. S>m°³¶wMoìh 4) S>m°. ~gy Am{U S>m°. {eéa

2) On the basis of, soil formation, the first detailed and scientific soil classification of  Maharashtra

was done in 1938 by :

1)  Dr. D. Smith 3)  Dr. Dokuchaev

2) Dr. Kellogg and Dr. Thorp 4)  Dr. Basu and Dr.Shirur

3) Sw>[a`ZMr H$moUVr àOmVr OJmVrb EH$‘od ì`mdgm{`H$[aË`m bmJdS> Ho$bobr àOmVr Amho?
1) S>r. J«oìhmoboÝg 2) S>r. Hw$Q>oOopÝgg 3) S>r. {P~o{WZg 4) S>r. bmò mZg

3) Which species of durian is the only commercially cultivated species in the world ?

1) D. Graveolens 2) D. Kutejensis 3) D. Zibethinus 4) D. Lowianus

4) .......... ¶m amÁ¶mV ~mB©db qgMZ à¶moJ H$aÊ¶mV ¶oV Amho.
1) n§Om~ 2) JwOamV 3) ‘hmamï´> 4) H$Zm©Q>H$

4) Biwall irrigation is recently being experimented in the State of

1)  Punjab 2)  Gujarat 3)  Maharashtra 4)  Karnataka

5) Imcrc {dYmZmn¡H$s H$moUVo/H$moUVr {dYmZ/{dYmZo ¶mo½¶ Amho/AmhoV ?
a)$EH$mpË‘H$ Oc AmamIS>m V¶ma H$aUmao ‘hmamï´> ho XoemVrc n{hco amÁ¶ Amho.
b)$‘hmamï´>mVrc JmoXmdar, H¥$îUm, Vmnr, Z‘©Xm d ‘hmZXr ¶m Imoè¶m§Mm EH$mpË‘H$ Oc AmamIS>çmV g‘mdoe Amho.
n¶m©¶r CÎmao :
1) ’$º$ (a)$ 2) ’$º$ (a)$ 3) (a)$Am{U (b) 4) darcn¡H$s Zmhr.

5) Which of the following statement(s) is/are correct ?

(a) Maharashtra is the first state in the country to have Integrated Water Plan.

(b) The Integrated Water Plan includes Godavari, Krishna, Tapi, Narmada and Mahanadi rivers

in Maharashtra.

Which of the option(s) given above is/are incorrect ?

1)  Only (b)                 2)  Only (a) 3)  (a) and (b)                4)  None of the above

6) O{‘ZrV ........... Mo à‘mU OmñV Agë¶mg O{‘Zrg H$mim Vo JX© Vn{H$ar a§J ¶oVmo.
1) bmoh 2) g|{Ð¶ nXmW©
3) {g{cH$m, MwZm d BVa jma 4) bmoh Am°ŠgmB©S>Mr {‘lUo

6) Soils containing high amount of........... show the colour variation from black to dark brown.

1)  iron 2)  organic matter

3)  silica, lime and other salts 4)  mixture of iron oxides
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7) Imbrbn¡H$s H$moUË¶m {Oëøm§Mm JaOonojm OmñV nmD$g Am{U Vn{H$ar Vm§~S>çm ‘¥Xm {d^mJmV g‘mdoe hmoVmo ?
1) JS>{Mamobr, Ywio, R>mUo 2) §̂S>mam, JS>{Mamobr, aËZm{Jar
3) §̂S>mam, JS>{Mamobr, M§Ðnya 4) qgYwXwJ©, aËZm{Jar, R>mUo

7) Which of the following districts are included in the region of excess rainfall and brown red soil?

1)  Gadchiroli, Dhule, Thane 2)  Bhandara, Gadchiroli, Ratnagiri

3)  Bhandara, Gadchiroli, Chandrapur 4)  Sindhudurg, Ratnagiri, Thane

8) Zm{eH$, gaXma, c{cV ¶m ‘hmamï´>m‘Ü¶o ............ ’$im§À¶m OmVr AmhoV.
1) noê$ 2) Ðmjo 3) S>mqi~ 4) g§Ìr

8) Nasih, Sardar, Lalit are the varieties of      fruits in Maharashtra.

1)  Guava 3) Pomegranate 2) Grapes 4) Orange

9) ’w$bo àJVr hr .............. {nH$mMr ‘hmamï´>mVrb à‘wI OmV Amho.
1) Jhÿ 2) ŵB©‘yJ 3) Ádmar 4) Ðmjo

9) Phule Pragati is main variety of .............. crop in Maharashtra

1) Wheat 2) Groundnut 3) Jowar 4) Grapes

10) nwaogo W§S> Vmn‘mZ ghZ H$ê$ eH$Umao EH$‘od H$S>YmÝ¶ (bean) Amho.........
1) S>mo{bMmog ~rZ 2) ŠbñQ>a ~rZ 3) qd½S> ~rZ 4) ~«m°S> ~rZ

10) The only bean which can withstand sufficiently cold temperature is .........

1) Dolichos bean 2) Cluster bean 3) Winged bean 4) Broad bean

11) AË §̀V MwZIS>r ẁº$ ‘mVrV, JiVr Pmboë`m dmbwH$m‘` ‘mVrV, MwZm¶wº$ Amåb ‘mVrV Am{U nwZ ©̂aU  Ho$boë`m
b°Q>[a{Q>H$ ‘mVrV  ......... Mr H$‘VaVm A{YH$ J§̂ ra ñdénmMr AgVo.
1) ‘±JZrO 2) ~moam°Z 3) Vm§~o 4) qPH$

11) ............ déficiency is more critical in highly calcareous soils, leached sandy soils, lime acid soils

and reclaimed lateritic soils.

1) Manganese 2) Boron 3) Copper 4) Zinc

12) ........... ‘¥XoÀ¶m, ‘mVr àmo’$mBb‘Ü ò H$moUË¶mhr àH$maMo {j{VOg‘m§Va doJbonZ AmTiV  Zmhr.
1) bmb 2) gwnrH$ 3) b°Q>amBQ> 4) H$mù¶m

12) In ........... soils, there is practically no horizon differentiation in the soil profile.

1) red 2) alluvial 3) laterite 4) black

13) O‘rZ j‘Vm dJuH$aUm‘Ü ò dJ©-II hm a§J åhUyZ Xe©{dbm Amho.........
1) ZH$mem§da {hadm 2) ZH$mem§da Vn{H$ar 3) ZH$mem§da {ndim 4) ZH$mem§da bmb

13) In land capability classification Class-II is shown as colour ..........

1) green on maps 2) brown on maps 3) yellow on maps 4) red on maps

14) ‘hmamï´>mÀ`m 2021-22 À`m Am{W©H$ gd}jUmZwgma, Joë`m ghm XeH$m§‘Ü ò H$moUË`m nrH$ joÌm‘Ü ò KQ> hmoV Amho?
1) H$S>YmÝ ò 2) V¥UYmÝ ò 3) Vob{~`m 4) H$mnyg
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14) As per the Economic Survey of Maharashtra 2021-22, which crop area has decreasing trends

over the last six decades ?

1) Pulses 2) Cereals 3} Oilseeds 4) Cotton

15) gd©gmYmaUnUo ............ OmñV Agë¶mg O‘rZ KÅ> AgVo, ‘mVrVrb H$U aMZm A¶mo½¶ AgVo, ‘mVrÀ¶m H$Um§Vrb
nmoH$ir H$‘r AgVo n¶m©¶mZo dZñnVrÀ¶m dmT>rda A{Zï> n[aUm‘ hmoVmo.
1) O{‘ZrMr ñWyb KZVm 2) O{‘ZrMr AmåbVm
3) I{ZOo 4) O{‘ZrMr {dåbVm (AëH$Vm)

15) In general, higher the         the more compact is the soil, the more poorly defined is the soil

structure and there are smaller amount of pore spaces that restrict the plant growth.

1)  bulk density of the soil 2)  soil acidity

3) minerals 4)  soil alkalinity

16) Imbr XmoZ {dYmZo {Xbr AmhoV Ë¶mn¡H$s (A) à{VnmXZ {dYmZ AgyZ (~) ho Ë¶mMo H$maU Amho.
A) ‘hmamï´>mV ŷJ ©̂ObmMm Cngm àM§S> à‘mUmV hmoV Agë¶mZo ŷObmMo gmR>o Zï> hmoV AmhoV.
~) ‘hmamï´>mV ŷObg§dY©Z H$aUo JaOoMo Amho.
n¶m©¶r CÎmao …
1) (A) Am{U (~) XmoÝhr ~amo~a AmhoV Am{U (~) ho (A) Iao ñnï>rH$aU Amho.
2) (A) Am{U (~) XmoÝhr ~amo~a AmhoV na§Vw (~) ho (A) Mo Iao ñnï>rH$aU Zmhr.
3) (A) ho ~amo~a Amho nU (~) ho MyH$ Amho.
4) (A) ho MyH$ Amho nU (~) ho ~amo~a Amho.

16) Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason

(B).

A) Groundwater resource has been depleted intensively in Maharashtra.

B) There is a need for groundwater conservation in Maharashtra.

Answer Options :

1) Both (A) and (B) are true and (B) is the correct explanation of (A)

2) Both (A) and (B) are true but (B) is not the correct explanation of (A)

3) (A) is true but (B) is false

4) (A) is false but (B) is true

17) npíM‘ {h‘mb¶rZ àXoemV ’$i~mJm {dH${gV Pmë¶m AmhoV H$maU ...........
1) npíM‘ {h‘mb¶mVrb ‘¥Xm ’$i~mJm§À¶m dmT>rgmR>r CÎm‘ AmhoV.
2) npíM‘ {h‘mb¶mV {hdmù¶mV nS>Umam nmD$g ’$i ~mJm§À¶m dmT>rgmR>r AZwHy$b AgVmo.
3) npíM‘ {h‘mb¶mV gd©gmYmaU nmdgmMo à‘mU H$‘r AgVo.
4) nd©Vr¶ hdm‘mZ ’$i~mJm§Zm CnH$maH$ AgVo.

17) In the Western Himalayas, fruit gardens are developed due to ......

1) Soil in the Western Himalayan region being good for the growth of fruit gardens.

2) the Western Himalayan region receiving rainfall in winter, which is favourable for the growth

of fruit gardens.

3) the amount of rainfall being generally low in the Western Himalayas

4) Mountain climate being favourable for the growth of fruit gardens.
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3) ‘hmamḯ>mVrb  I{ZOo Am{U D$Om© g§gmYZo

1) Imbrbn¡H$s ‘hmamï´>mVrb H$moUVo joÌ ‘±JZrO ImUr g§X^m©V ‘hÎdmMo Zmhr ?
1) {MH$bm 2) grVm gmAm|Jr 3) S>m|Jar ~wOyJ© 4) damoam-d¡VaUm

1) Which of the following is not important regarding manganese mining area in Maharashtra ?

1) Chikla 2) Sita Saongi 3) Dongri Buzurg 4) Warora-Vaitarna

2) ‘hmamï´>m‘Ü¶o bmohI{ZOm§Mo gmR>o Imbrbn¡H$s H$moUË¶m {OëømV AmhoV ?
1) dYm© 2) Zm{eH$ 3) ~wbT>mUm 4) qgYwXþJ©

2) Iron ore reserves  in Maharashtra are located in the district of ........

1) Wardha 2)  Nashik 3)  Buldhana 4)  Sindhudurg

3) ‘hmamï´>mVrb Imbrbn¡H$s H$moUË¶m {OëømV ~m°³gmB©Q>Mo CËnmXZ KoVbo OmVo ?
1) H$moëhmnya, gm§Jbr, qgYwXÿJ© 2) ZmJnya, §̂S>mam, ¶dV‘mi
3) Am¡a§Jm~mX, ~rS>, Cñ‘mZm~mX 4) Z§Xÿa~ma, Yyio, OiJmd

3) In which of the following districts of Maharashtra is bauxite produced ?

1) Kolhapur, Sangli, Sindhudurg 2) Nagpur, Bhandara, Yavatmal

3) Aurangabad, Beed, Osmanabad 4) Nandurbar, Dhule, Jalgaon

4) ...... Odi ~m°å~o hm¶ ho gmJar Vob joÌ Amho.
A) ‘§w~B© ~) dmer H$) R>mUo S>) A{b~mJ
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ H$ 3) ’$º$ ~ Am{U H$ 4) ’$º$ H$ Am{U S>

4) The marine oil field, Bombay High is near ......

a) Mumbai b) Vashi c) Thane d) Alibag

Answer options :

1) Only a 2) Only c 3) Only b and c 4) Only c and d

5) ‘hmamï´>mVrb ...... {OëømMm g‘yh ‘±JZrO d bmohI{ZOmZo g§nÞ Amho.
1) nmbKa, Zm{eH$, Ywio 2) R>mUo, nwUo, Ah‘XZJa 3) gmobmnya, bmVya, Zm§XoS> 4) qgYwXþJ©, ZmJnya, §̂S>mam

5) In Maharashtra, ...... group of districts are rich in manganese and iron-ore.

1) Palghar, Nashik, Dhule 2) Thane, Pune, Ahmednagar

3) Solapur, Latur, Nanded 4) Sindhudurg, Nagpur, Bhandara

6) ‘hmamï´>mV Imbrbn¡H$s H$moUË¶m {OëømV bmohI{ZOmMo gmR>o AgVo?
1) Ah‘XZJa, ~rS>, OmbZm d na^Ur 2) ZmJnya, ¶dV‘mi, H$moëhmnya d gmobmnya
3) M§Ðnya, JS>{Mamobr, §̂S>mam d qgYwXþJ© 4) gmVmam, gm§Jbr, Am¡a§Jm~mX d bmVya

6) Which of the following districts in Maharashtra have iron-ore deposits ?

1) Ahmednagar, Beed, Jalna and Parbhani

2) Nagpur, Yevatmal, Kolhapur and Solapur

3) Chandrapur, Gadchiroli, Bhandara and Sindhudurg

4) Satara, Sangli, Aurangabad and Latur
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7) ‘hmamï´>mV Imbrbn¡H$s H$moUVo {Oëho S>mocmo‘mB©Q> CËnmXZmV ‘hÎdmMo AmhoV ?
1) M§Ðnya, ZmJnya, A‘amdVr, qgYwXwJ© 2) H$moëhmnya, aËZm{Jar, am¶JS>, R>mUo
3) ZmJnya, M§Ðnya, gmVmam, gm§Jbr 4) ¶dV‘mi, aËZm{Jar, JS>{Mamobr, ZmJnya

7) Which of the following districts of Maharashtra are important in the production of Dolomite ?

1) Chandrapur, Nagpur, Amravati, Sindhudurg 2) Kolhapur, Ratnagiri, Raigad, Thane

3) Nagpur, Chandrapur, Satara, Sangli 4) Yavatmal, Ratnagiri, Gadchiroli, Nagpur

8) Imbrbn¡H$s H$moUVr {dYmZo ~amo~a ZmhrV ?
a) Vobdmgm hr ‘hmamï´>mVrb XJS>r H$moiemMr IU Zmhr.
b) M§Ðnya {OëømV MwZIS>rMo CËnmXZ hmoVo.
c) H«$mo‘mBQ>Mo CËnmXZ qgYwXwJ© {OëømV hmoVo.
n¶m©¶r CÎmao …
1) {dYmZ (a) 2) {dYmZ (c)

3) {dYmZ (a) Am{U (c) 4) {dYmZ (b) Am{U (c)

8) Which of the following statement/s is/are incorrect ?

a) Telvasa is not a coal mine in Maharashtra.

b) Limestone is produced in Chandrapur district.

c) Chromite is produced in Sindhudurg district.

Answer Options :

1) Statement (a) 2) Statement (c)

3) Statement (a) and (c) 4) Statement (b) and (c)

9) .......... hr D$Om© àXÿfU {dahrV Amho.
a) H$moigm b) noQ´>mob c) Ob{dÚwV d) AUw{dÚwV
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) (a) Am{U (b) 3) ’$º$ (d) 4) ’$º$ (c)

9) ............ is non-pollutant energy resource.

a) Coal b) Petrol c) Hydroelectricity d) Atomic energy

Answer Options :

1) Only (a) 2) (a) and (b) 3) Only (d) 4) Only (c)

10) ‘hmamï´> amÁ¶mVrb H$moUË¶m Vmbw³¶m ‘Ü¶o XJS>r H$moiemMo gmR>o AmT>iV ZmhrV ?
1) C‘aoS> 2) Am¡gm 3) ~ëcmanya 4) damoam

10) In which tahsil are coal reserves not found in Maharashtra State ?

1)  Umred 2)  Ausa 3)  Ballarpur               (4)  Warora

11) Imbrbn¡H$s H$moUVo ‘hmamï´>mVrb Am¡pîUH$ D$Om© H|$Ð Zmhr ?
1) nmag 2) M§Ðnya 3) ImnaIoS>m 4) H$mo¶Zm

11) Which is not a thermal power plant in Maharashtra ?

1)  Paras 2)  Chandrapur 3)  Khaperkheda 4)  Koyna
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12) ‘hmamï´>mV ‘±J{ZOMo à‘wI gmR>o .......... ¶m {OëømV AmhoV.
1) gm§Jbr d H$moëhmnya 2) Ywio d Zm{eH$
3) §̂S>mam d aËZm{Jar 4) AH$mobm d ¶dV‘mi

12) Major manganese deposits are found in .............. districts of Maharashtra.

1)  Sangli and Kolhapur 2)  Dhule and Nashik

3)  Bhandara and Ratnagiri 4)  Akola and Yavatmal

13) Imbrbn¡H$s H$moUË¶m {OëømV H«$mo‘mB©Q> {‘iVo ?
1) ¶dV‘mi, aËZm{Jar d am¶JS> 2) ZmJnya, §̂S>mam d qgYwXwJ©
3) Cñ‘mZm~mX, bmVya d ~rS> 4) AH$mobm, A‘amdVr d dm{e‘
n¶m©¶r CÎmao …
1) ’$º$ (a) 2) ’$º$ (b)

3) ’$º$ (a) Am{U (c) XmoÝhr 4) ’$º$  (b) Am{U (d) XmoÝhr
13) In which of the following districts is Chromite found ?

(a) Yavatmal, Ratnagiri and Raigad (b)  Nagpur, Bhandara and Sindhiidurg

(c)  Osmanabad, Latur and Beed (d) Akola, Amravati and Washim

Answer Options :

1)  Only (a) 2)  Only (b) 3)  Only (a) and (c) 4)  Only (b) and (d)

15) ‘hmamḯ> : CÚmoJ, dmhVyH$, n ©̀Q>Z, ehao, ì`mnma, I{ZOo Am{U D$Om© g§gmYZo
1) ‘hmamï´>mVrb  CÚmoJ, ehao, ì`mnma
2) ‘hmamï´>mVrb  dmhVyH$ Am{U n ©̀Q>Z

1)  ‘hmamḯ>mVrb  CÚmoJ, ehao, ì`mnma

1) ‘hmamï´>mVrb n{hbo Ob{dÚwV H|$Ð H$moUVo?
1) dra 2) amYmZJar 3) H$mo¶Zm 4) Imonmobr

1) Which is the first hydelpower station in Maharashtra ?

1)  Veer 2)  Radhanagari 3)  Koyna 4)  Khopoli

2) Am¡Úmo{JH$ {d^mJ Am{U Am¡Úmo{JH$ joÌ ¶m§À¶m OmoS>çm bmdm …
A) Zm{eH$ I) ~wQ>r~moar
~) H$moëhmnya II) e|Ðm
H$) ZmJnya III) qdMya
S>) Am¡a§Jm~mX IV) hþnar
n¶m©¶r CÎmao …

A ~ H$ S>
1) IV III II I

2) III I II IV

3) III I IV II

4) III IV I II
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2) Match the Industrial Regions and Industrial Areas :

a.  Nashik I.  Butibori

b. Kolhapur II.  Shendra

c.  Nagpur III. Vinchur

d.  Aurangabad IV. Hupari

Answer Options :

a b c d

1) IV III II I

2) III I II IV

3) III I IV II

4) III IV     I II

3) Imbrbn¡H$s H$moUVm CÚmoJ eoVr AdOmam§Mo CËnmXZ ‘moR>çm à‘mUmda H$aVmo ?
1) a°Z~°Šgr 2) nm¶mo{Z¶a 3) ~OmO 4) {H$bm}ñH$a

3) Which of the following industry produces agricultural tools on large scale ?

1) The Ranbaxy 2) The Pioneer 3) The Bajaj 4) The Kirloskar

4) Am¡a§Jm~mX Am¡Úmo{JH$ ehamMr R>iH$ d¡{eîQ>ço …
A) gw{Z¶mo{OV Am{U h[aVnÅ>o¶wº$ ñ‘mQ>© eha.
~) AURIC ho g§{já ê$n Amho.
H$) àH$ënmVrb EHy$U Jw§VdUyH$ 1,000 H$moQ>r én¶o.
S>) {X„r-‘§w~B© Am¡Úmo{JH$ nQ²>Q>çmMm (H$m°[aS>m°aMm) ^mJ Amho.
n¶m©¶r CÎmao …
1) ’$º$ A 2) ’$º$ A Am{U ~ 3) ’$º$ A, ~ Am{U H$ 4) ’$º$ A, ~ Am{U S>

4) The salient features of Aurangabad Industrial City :

a.  Well-planned and greenfield smart city.

b.  The abbreviation is AURIC.

c.  The total investment will be T 1,000 crs.

d.  It is a part of Delhi-Mumbai industrial corridor.

Choose the correct option :

Answer Options :

1) Only a 2) Only a and b 3)  Only a, b and c 4)  Only a, b and d

5) Imcrc {dYmZm§Mr gË¶Vm Vnmgm d ¶mo½¶ n¶m©¶ {ZdS>m.
{dYmZ A : Ah‘XZJa {OëømV 1920 gmcr n{hcm gmIa H$maImZm amhþar ¶oWo C^maÊ¶mV Amcm.
{dYmZ ~ : Ah‘XZJa {OëømV 1950 gmcr n{hcm ghH$mar H$maImZm cmoUr (àdamZJa) ¶oWo C^maÊ¶mV Amcm.
n¶m©¶r CÎmao :
1) {dYmZ A Am{U {dYmZ ~ XmoÝhr ~amo~a AmhoV.
2) {dYmZ A ~amo~a AgyZ Am{U {dYmZ ~ MyH$ Amho.
3) {dYmZ A MyH$ AgyZ Am{U {dYmZ ~ ~amo~a Amho
4) {dYmZ A Am{U {dYmZ ~ XmoÝhr MyH$ AmhoV
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5) Examine the following statements and choose the correct option.

Statement A : The First Sugar Factory was established at Rahuri in Ahmednagar district, in the

year 1920.

Statement B : The First Co-operative sugar factory was founded at Loni (Pravaranagar) in

Ahmednagar district in the year 1950.

Answer options :

1) Statement A and Statement B both are correct.

2)  Statement A  is correct and Statement B is wrong

3)  Statement A is wrong and Statement B is correct

4) Statement A and Statement B both are wrong

6) Vmamnya AUy D$Om© àH$ën nmcKa {OëømVrc ............ Vmcw³¶mV pñWV Amho.
1) Vŵ } 2) Vcmgar 3) dmS>m 4) nmcKa

6) Tarapur nuclear power station is located in ............ taluka of Palghar district

1) Turbhe 2)  Talasari 3) Wada 4) Palghar

7) "Am¶wH$m' hr V§ÌkmZ {ejUg§ñWm ............. ¶m ehamV {dH${gV Pmbr Amho.
1) nwUo 2) Zdr ‘w§~B© 3) R>mUo 4) ZmJnya

7) ‘IUCAA’ Technical Education Institute is developed in ............. city.

1)  Pune 2)  New Mumbai 3)  Thane 4)  Nagpur

2) ‘hmamḯ>mVrb dmhVyH$ Am{U n ©̀Q>Z

1) ^maVr¶ ‘yb ŷV añVo gm§p»¶H$s, 2017 Zwgma ^maVmVrb H$moUVo amÁ¶ amï´>r¶ ‘hm‘mJm©À¶m bm§~r‘Ü¶o Xþgè¶m H«$‘m§H$mMo
amÁ¶ Amho?
1) ‘hmamï´> 2) amOñWmZ 3) ‘Ü¶ nXoe 4) CÎma àXoe

1) Which State of India accounted for the Second rank in National Highway length as per report of

Basic Road Statistics of India, 2017 ?

1) Maharashtra 2) Rajsthan 3) Madhya Pradesh 4) Uttar Pradesh

2) ‘w§~B© - AmJ«m amï´>r¶ ‘hm‘mJ© ‘hmamï´>mVrb H$moUË¶m ehamVyZ OmV Zmhr ?
a) A§‘iZoa b) Xm¢S> c) Zm{eH$ d) Ywio
n¶m©¶r CÎmao :
1) a d b ’$º$ 2) b ’$º$ 3) b d d ’$º$ 4) d ’$º$

2) Which city/cities in Maharashtra Mumbai-Agra highway does not pass through ?

a) Amalner b) Daund c) Nashik d) Dhule

Answer Options :

1) (a) and (b) only 2) (b) only 3) (b) and (d) only 4) (d) only

3) ‘hmamï´>mVrb n{hbr {dOoda MmbUmar aoëdo ...........
1) ^m¶Iim Vo R>mUo 195 2) ‘w§~B© Vo Hw$bm© 1925
3) XmXa Vo ~m§Ðm 1918 4) XmXa Vo ~mo[adcr 1925
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3) The first railway to run on electricity in Maharashtra ......

1) Byculla to Thane 1925 2) Mumbai to Kurla 1925

3) Dadar to Bandra 1918 4) Dadar to Borivali 1925

4) H$moH$U aoëdo ‘mJm©da ‘hmamï´>mV gdm©V bm§~ ~moJXm H$moR>o Amho ?
1) H$a~wS>o 2) H$a§OmS>r 3) Hw$S>mi 4) ‘mUJmd

4) Where is the longest tunnel situated in Maharashtra on Konkan Railway ?

1)  Karbude 2)  Karanjadi 3)  Kudal 4)  Mangaon

5) H$moH$U aoëdo~m~V Imbrbn¡H$s H$moUVr {dYmZo gË¶ AmhoV ?
a) ‘hmamï´>mV H$moH$U aoëdoMr EHy$U bm§~r 382 {H$.‘r. Amho.
b) ‘hmamï´>mV H$moH$U aoëdo‘mJm©da 38 ñQ>oeZ AmhoV.
c) gdm©V bm§~ ~moJXm 6.45 {H$.‘r. bm§~rMm Amho.
d) gdm©V C§M nwb 65 ‘rQ>a C§MrMm Amho.
n¶m©¶r CÎmao …
1) ’$º$ (a), (b) Am{U (c) 2) ’$º$ (b), (c) Am{U (d)

3) ’$º$ (a), (c) Am{U (d) 4) (a), (b), (c) Am{U (d)

5) In relation to Konkan Railway which following statement are true ?

a) The length of konkan railway in Maharashtra is 382 kms.

b) In Maharashtra there are 38 stations on Konkan Railway.

c) The longest tunnel length is 6.45 kms.

d) The highest bridge heigh in 65 m.

Answer options :

1) Only (a), (b) amd (c) 2) only (b), (c) and (d)

3) Only (a), (c) and (d) 4) (a), (b), (c) and (d)'

6) Imbrb {dYmZm§da {dMma H$am …
a) qhXÿöX¶ g‘«mQ> ~mimgmho~ R>mH$ao ‘hmamï´> g‘¥Õr ‘hm‘mJ© hm ‘w§~B© d ZmJnya ¶m§Zm OmoS>Vmo.
b) hm ‘hm‘mJ© 701 {H$.‘r. bm§~ Amho.
c) ¶m àH$ënmMm EHy$U Ano{jV IM© é.55,335.32 H$moQ>r Amho.
darbn¡H$s H$moUVo {dYmZ ~amo~a Amho ?
1) ’$º$ (a) Am{U (c) 2) ’$º$ (b) Am{U (c)

3) ’$º$ (a) Am{U (b) 4) (a), (b) Am{U (c)

6) Consider the following statements :

(a) Hinduhruday  Samrat  Balasaheb  Thackeray  Maharashtra  Samruddhi Mahamarg will connect

Mumbai  and Nagpur.

(b) This highway covers 701 km of distance.

(e) Its estimated construction cost is T 55,335-32 crores.

Which of the statements given above are correct ?

1)  Only (a) and (c) 2) Only (b) and (c) 3) Only (a) and (b) 4) (a), (b) and (c)



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ̂ yJmob / 116

For Private Circulation Only

7) ‘hmamï´>mVrb W§S> hdoMr {R>H$mUo d Ë¶m§Mo {Oëho ¶m§À¶m ¶mo½¶ OmoS>çm bmdm.
A) nmMJUr i) qgYwXþJ©
~) ‘mWoamZ i) A‘amdVr
H$) Am§~mobr i) gmVmam
S>) {MIbXam i) am¶JS>
n¶m©¶r CÎmao …

A ~ H$ S>
1) (iii) (iv) (i) (ii)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (i) (iii)

4) (i) (ii) (iii) (iv)

7) Match the cold weather places of Maharashtra and their districts.

a) Pachgani i) Sindhudurg

b) Matheran ii) Amravati

C) Amboli iii) Satara

d) Chikhaldara iv) Raigad

Answer Options :

(a) (b) (c) (d)

1) (iii) (iv) (i) (ii)

2) (iv) (iii) (ii) (i)

3) (ii) (iv) (i) (iii)

4) (i) (ii) (iii) (iv)
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(1) gỳ ©‘mbm Am{U n¥Ïdr, Ajm§e- aoIm§e
- à‘mU Am{U ñWm{ZH$ doi

1) gỳ ©‘mbm Am{U n¥Ïdr

1-2 2-1 3-3 4-1 5-4 6-4

2) Ajm§e Am{U aoIm§e

1-3 2-1 3-4

3) à‘mU Am{U ñWm{ZH$ doi

1-1 2-3 3-2 4-2 5-2 6-3

2) ŷH§$n Am{U Ádmbm‘wIr, IS>H$,
OmJ{VH$ {d^mJ - nd©V, ZÚm Am{U àH$ën

1) ŷH§$n Am{U Ádmbm‘wIr, IS>H$

1-1 2-3 3-2 4-3 5-4 6-2

2) ŷéno

1-3 2-3 3-2 4-1 5-3 6-1
7-1

3) OmJ{VH$ {d^mJ, nd©V, nR>mao, ZÚm Am{U àH$ën

1-3 2-1 3-3 4-4 5-2 6-3

7-3

3) hdm‘mZ - dmVmdaU, dmao Am{U
‘hmgmJa àdmh

1) dmVmdaU

1-3 2-3 3-3 4-1 5-3 6-3

2) dmao Am{U ‘hmgmJa àdmh

1-2 2-1 3-3 4-4 5-3 6-2
7-2 8-4

3) ‘hmgmJa àdmh

1-4 2-4 3-4 4-1 5-3

3) hdm‘mZ

1-4 2-2 3-4

4) OmJ{VH$ bmoH$g§»`m, ̂ mfm, d§e, ̂ m¡Jmo{bH$
amOH$maU, OmJ{VH$ ñWmZo Am{U gr‘m

1) ‘mZdr ŷJmob, dñVr ŷJmob

1-3 2-3 3-2 4-3 5-1 6-1

2) OmJ{VH$ bmoH$g§»`m, ^mfm, d§e, g‘wXm¶

1-1 2-2 3-3 4-2 5-1 6-2
7-2 8-4 9-3 10-4

3) amOH$s¶ ŷJmob, OmJ{VH$ ñWmZo Am{U gr‘m

1-2 2-3 3-4

5) OmJ{VH$ I{ZOo Am{U D$Om© g§gmYZo,
CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z, n`m©daU, H¥$fr

1) Am{W©H$ ŷJmob

1-1 2-1

2) H¥$fr joÌ d n`m©daU

1-1 2-2 3-2 4-1 5-2 6-4

3) OmJ{VH$ I{ZOo Am{U D$Om© g§gmYZo

1-3 2-1

‘hmamîQ́> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h

(2) ‘hmamḯ>, ^maV Am{U OmJ{VH$ ŷJmob



‘hmamîQ´> bmoH$godm Am¶moJmÀ¶m narjogmR>r Cn¶wº$ àíZg§J«h … ̂ yJmob / 118

For Private Circulation Only

4) CÚmoJ, dmhVyH$ Am{U n ©̀Q>Z

1-2

6) ^maVr` CnI§S>mVrb ŷê$nemó,
hdm‘mZ d nO©Ý¶‘mZ, Z¡g{J©H$ g§nÎmr

1) ^maVr` CnI§S>mVrb ŷê$nemó

2) ^maVmMo hdm‘mZ

1-2 2-3 3-4

3) ^maVmMo nO©Ý¶‘mZ

1-3 2-3

4) ^maVmVrb Z¡g{J©H$ g§nÎmr

1-1 2-3 3-4

7) ^maVmVrb à‘wI ^m¡{VH$ àXoe -
{h‘mb`, nd©V, nR>ma, dmid§Q> joÌ, {H$Zmar

^mJ, ~oQ>o. ZÚm Am{U àH$ën

1) ^maVmVrb nd©Vam§Jm -{h‘mb`, gømÐr, nyd©KmQ>

1-1 2-2 3-2

2) ^maVmVrb ‘¡XmZr àXoe

1-3 2-3 3-3

3) ^maVmVrb  nR>mao, dmid§Q> joÌ

1-3

4) ^maVmVrb{H$Zmar ^mJ, ~oQ>o

1-2 2-1

5) ^maVmVrb ZÚm Am{U àH$ën

1-3 2-1 3-2 4-3 5-4 6-3
7-1 8-4 9-2 10-3 11-3 12-4
13-2 14-4

8) ̂ maVmVrb bmoH$g§»`m, ̂ mfm, O‘mVr, d§e,

ñWmZo Am{U gr‘m, ^m¡Jmo{bH$ amOH$maU

1) ^maVmVrb bmoH$g§»`m

1-3      2-4     3-4     4-1    5-4     6-3    7-4

2) bmoH$g§»`m ñWbm§Va

3) ^maVmVrb O‘mVr, d§e Am{U ^mfm

1-2 2-2 3-3

4) gm_m{OH$ ŷJmoc, dgmhVr

1-4 2-2 3-3 4-4 5-4

5) amOH$s` ̂ yJmob - àemgH$s` {d^mJ, ñWmZo Am{U gr‘m

1-1 2-1 3-4 4-2

9) ^maV : H¥$fr, dZñnVr, I{ZOo Am{U
D$Om© g§gmYZo

1) ^maVmVrb H¥$fr joÌ, nmUbmoQ> ì¶dñWmnZ

1-4 2-3 3-1 4-4 5-2 6-1
7-2 8-3 9-4 10-3 11-4

2) ^maVmVrb O{‘ZrMo àH$ma d à‘wI nrHo$

1-2 2-1 3-1 4-3 5-2 6-3
7-2 8-3 9-2 10-4

3) ^maVmVrb I{ZOo Am{U D$Om© g§gmYZo

1-1 2-3 3-3 4-4 5-3 6-1
7-1 8-2

10) ^maVmVrb CÚmoJ, dmhVyH$ Am{U
n ©̀Q>Z, ehao, ì`mnma

1) ^maVmVrb CÚmoJ, ehao, ì`mnma

1-3 2-4 3-3

2) dmhVyH$ Am{U n ©̀Q>Z

1-4 2-4 3-1 4-2 5-4 6-4
7-3 8-3 9-1 10-3

11) _hmamḯ>mMm àmH¥${VH$ ŷJmoc - IS>H$,
gømÐr, nR>ma, H$moH$U,  ‘hmamḯ>mVrb ZÚm

1) _hmamḯ>mMm àmH¥${VH$ ŷJmoc - IS>H$

1-2 2-3 3-4 4-3 5-4 6-2
7-4 8-4
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2) gømÐr nd©Vam§J, {eIao d Q>oH$S>çm, _hmamḯ> nR>ma

1-1 2-1 3-4 4-2 5-4 6-3
7-3 8-1 9-3 10-1 11-2 12-4
13-2 14-4 15-3 16-1 17-3 18-1
99-4

3) H$moH$U {H$ZmanÅ>r

1-1 2-2 3-2 4-4 5-1

4)  ‘hmamḯ>mVrb ZÚm

1-2 2-3 3-3 4-3 5-3 6-3
7-1 8-3 9-1 10-2 16-3 17-3
18-1 19-3 20-4 21-1

12) ‘hmamḯ>mVrb Z¡g{J©H$ g§nÎmr - dZo

Am{U dZñnVr, _hmamḯ>mMo hdm‘mZ d nO©Ý`‘mZ

1) _hmamḯ>mMo hdm‘mZ

1-4 2-3 3-4 4-2

2) _hmamḯ>mMo nO©Ý`‘mZ d H¥$frdm¶y hdm‘mZ {d^mJ

1-3 2-2 3-1 4-2 5-2 6-3
7-3 8-1 9-1 10-3 11-1

3) ‘hmamḯ>mVrb dZo-dZñnVr, amḯ>r¶ CÚmZo/A^¶maÊ¶

1-1 2-4 3-3 4-3 5-2 6-1
7-4 8-3 9-3 10-1 11-1 12-3
13-1 14-1

13) ‘hmamḯ>mVrb cmoH$g§»`m, ñWbm§Va,
dñË`m,àemgH$s` {d^mJ, ^mfm, gr‘m

1) ‘hmamḯ>mVrb bmoH$g§»`m , bmoH$g§»`m ñWbm§Va

1-3 2-3 3-1 4-2 5-3 6-1
7-1 8-2 9-4 10-4 11-1 12-2
13-4 14-1 15-4 16-2 17-3 18-1
19-4 20-2 21-2 22-2

2) ‘hmamḯ>mVrb O‘mVr, d§e Am{U ^mfm

1-1 2-2 3-2 4-1 5-1

3) ‘hmamḯ>mVrb dñË`m d Vm§S>o, PmonS>nQ²>Q>çm d Ë`m§Mo àíZ

1-3 2-2 3-2 4-2 5-4 6-1
7-1 8-2 9-4 10-1 11-4 12-1
13-2 14-1 15-4 16-2

4) amOH$s` ŷJmob - àemgH$s` {d^mJ, ñWmZo
Am{U gr‘m

1-3 2-1 3-2 4-1 5-1 6-1
7-4 8-1 9-2 10-2 11-3 12-4

14) ‘hmamḯ> : H¥$fr, dZñnVr, ‘hmamḯ>mVrb
O{‘ZrMo àH$ma d à‘wI nrHo$

1) ‘hmamḯ>mVrb H¥$fr joÌ

1-1 2-1 3-1 4-4 5-1 6-2
7-3

2) ‘hmamḯ>mVrb O{‘ZrMo àH$ma d à‘wI nrHo$

1-1 2-4 3-3 4-3 5-4 6-2
7-3 8-1 9-2 10-4 11-2 12-3
13-3 14-2 15-1 16-2 17-2

3) ‘hmamḯ>mVrb  I{ZOo Am{U D$Om© g§gmYZo

1-4 2-4 3-1 4-1 5-4 6-3
7-4 8-1 9-4 10-2 11-4 12-3
13-2

15) ‘hmamḯ> : CÚmoJ, dmhVyH$, n ©̀Q>Z,
ehao, ì`mnma, I{ZOo Am{U D$Om© g§gmYZo

1)  ‘hmamḯ>mVrb  CÚmoJ, ehao, ì`mnma

1-4 2-4 3-4 4-4 5-3 6-4
7-1

2) ‘hmamḯ>mVrb dmhVyH$ Am{U n ©̀Q>Z

1-4 2-1 3-2 4-1 5-4 6-4
7-1


